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oy £7%F o £ 37
Bordenave 2,700 [ A 1,600
CalebRogers 3,000 [ A= 2,000
DavidBillow 3, 600 A 1,500
iy PN 4, 400 iy N 300
iy N 6, 600 B IEA 3, 600
iy PN 2,400 iy A 4, 400
MyraWopereis 2,400 ook E 500
(Ll NS - 2,000 TR E 2,700
ThomaLaPiana 3,600 T RE 2,800
[CIF A 4, 500 (A 4, 800
- TRYEEFES 3, 600 A o 1,500
#y e T R 3, 000
ol SN 2 4, 800 [ A 12,000
ol SN 2 600 [ A 900
ol SN 2 12,000 [ A 3, 600
[l Ny 2 3, 600 LR 400
3l SN 3 900 (ol SN 2 3, 300
(Ll NS - 3, 600 [l A 2 500
(il A2 3,600 iy SN 4, 800
(i NS - 4, 800 [l NS 2 300
Y. 500 1B ERG 2,800
(=l SN 2 2,100 AR
[l SN 2 2,400 [ A 1,200
(N 1,800 PEEEF AT 9, 600
T 2,800 (I A - 4, 200
(CIF N 7,200 L PpeTp U 4, 800
(CIF N 4,000 (A 8, 800
(CIF N 5,400 (A 2, 800
TFa 11,000 Hr o 4,000
Ao 2,000 o 3, 600
Ao 500 Hr R 7,200
N 500 Hr R 1,200
TRA 8,400 (I A 400
#3 OB 400 ZAFHKRFTF T 3, 600
LR N 2,400 =




B A e Foik kg
113 & B 42 470

o - &4 s £3F
ZHFEHFEEF R 1,200 [l A 1, 800
ap W E 4,200
(3l SN 3 9,600 T RZ 3, 600
B 17,400 (il SN2 1, 200
ZEHERRFT R 3, 600 S RN I 12, 000
AN 7

Ay SN 3, 600 + Ry AP 4,000
Ay SN 7,200 + BRI H 4, 800
I TTYEE 3,000 Y 12, 000
= Al SN 2 3, 600
(2l SN 2L 600 Al SN 2 1,200
(2l SN 2L 5, 800 Al SN 2 1,000
rEAT AT 3,600 Al SN 2 3, 600
Ry 3, 600 IS 1,600
ik T A 1,200 o

ke g LA 1, 500 Y 3, 600
(3l AN 4,000 Al SN 2 4,800
AETREPN 12,000 LN 3, 600
/\),\'é‘z;?‘_%“}tl)v\’ﬁ i 5,000 Al SN 2 4, 800
AN PR A IS 4,800
(2l SN 2L 7,400 =

(3l AN 2L 7,200 * ﬂ‘x% EAS s 4, 800
ol SN 4, 800 [l A 4,000
B 3, 600 [l SN2 1,000
PN 500 SARBR ARG T 4,800
(3l SN 2 300 AR

ol SN 2 500 L3R 3, 600
T BE 4,800 S FREg R 12,000
e 4, 800 7

= FTiE 3, 000 i A2 0,400
BA R 3, 300 [l A2 400
DN 500 RS R T O 2,400
wA o 7,200 S

R 2,700 [y ad 4,800
Y 7,200 R 3, 600
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i &4 kia £
Y 3, 600 e S 4,800
LAREIRA S 6, 000 w3 1, 600
w4 an s IR 1, 200
DN 4, 800 DN 300
YT ES 1, 600 I 2,000
Fra P (P 4,000
Y. 4, 400 DN 3,600
G A # T 3,600 WA 2,700
N IO 4,000
A W 1, 200 (i A= 500
JOFRREE S A 4, 800 ol A2 1, 600
= B R 4, 800
BA N 4,800 ol W] 4, 800
BA N 4,800 ol W] 500
[ SN 4,800 [l SN2 7,200
(il WA= 3, 200 (i A= 9,000
UL ) %ﬁgib&”ﬁ 4, 800 AT e 12,000
NS ABEES AP 12,000
A RIFTRE G R 4, 800 O R A 4, 800
o5 Ry 11, 000
(PN 500 Y 1, 000
Z - R | 3,600 ARIFF AP 3, 200
P EF AT NP 12, 000 Ry 2, 000
[ A 600 T HEIRFETF 4,600
(i NS 2 2,700 a8
B O 2,700 S RIS ISP 800
L S - L AL 4,200 a
i SN 1, 200 (i A= 2,700
Y f LA 1,200 [z emsmagpn 4 2 800
L SN 3,600 o
el SNy 2 600 [l Ny 22 4,000
> T 7,000 N 2, 400
(i NS - 3, 600 =l NS 22 4, 800
P 10, 800 R 7, 200
Rl SN - 500 2l N 2 4,000
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- R EX1] - A £
Ry 12, 000 CRIP:: 4,800
CAEFES AP 3,000 IR 3, 600
PRy 4, 800 [l SN 4, 800
3R 2,000 [ 3, 200
R 6, 800 A 9, 200
. 500 iy A 10, 800
. 9, 600 iy A 3, 600
R 4,800  |@ a@ 3, 600
27 AR 500 IR 200
£ 3 E 17,000 DN 2,100
Ay Y 22 3,900 (Ll A 2 3,600
Y 500 (LN 4,800
R 3, 600 i A 4,000
Y 7, 200 A 900
Ry 2,100 w7 2R 500
L . 2,600 (L N 3,600
% Frik 3,200 iRz 4, 800
73 o 500 Y 3, 600
73 o 500 Y 4, 000
R 500 [l N1 300
Y 800 (Ll I 3,900
Y 3, 600 = 44 3, 600
TR 3,600 WO 1,200
LI 1,800 RPN 4,800
x4 2,400 S F b 5, 000
% I5 4o 600 [l NS 21 2,400
Y 4, 800 IR 2, 200
R 2,000 [l SN 2 4,000
Y 5, 700 w3 B 500
= Eihe 1,200 > ik B 10, 000
PRy 4, 800 [l SN 2 14, 400
AR FT AR 4, 800 =N 3, 600
1N A HA R 2,400
sk EF AP 3, 600 HA N 3, 200
PR 4, 800 = iEiF 2,400
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R EX1] s £%F

(LA A 3,600 (I 1, 800
[l N 12,000 PicgdrAad 600
EERY 2,400 [#3 2@ 3, 000
Y 500 e N U 4,800
IOy 3, 600 $asf

= 4% & 2,100 [ A2 7, 800
Y 2,000 P+ 02207 6, 000
Y. 500 |#A AR 1, 500
PRy 3,300 wr OB 12,000
B 3 4, 800 Ao 4,800
Ry 500 EEPY: 500
SRR 7 5,500 P 3,600
i N 9, 600 [Er N 2,700
P 500 £ AR 3, 600
BN 4, 800 (Ll N 21 500
I 3,600 (L 7,200
R 500 RPN 3, 600
(i - 5,000 e 3, 600
Y 1, 200 RPN 3, 200
(AP 3,600 £ g i 3,600
- A 3, 600 #Fr oW 7,200
PRy 3, 600 LU AN 9,000
= 4234 3, 000 @3 NP 1,200
Y 4, 400 33 E R 19, 200
Y 600 4 pr g 4,800
(il PN 1,000 (N 2,400
(il PN 2,400 (N 2,400
PRy 300 (i A 2 3,000
>R 3, 600 I-3= 4,800
ok Ed 3,600 ERRAEC 3,600
> A& 6, 000 #raH 4, 800
BN 500 w2 F 300
2o 1,800 3+ 3 3, 600
iy A 500 (Cl A2 1,000
ol A2 5, 200 Ll AN 3, 600




PR A Edo~ ik & g
HSﬁ&ﬁ;ﬁm¢
R £3F oy £ 37
FA R 2,700 EEA 2,000
ol SN 500 IR 1,500
[ A 2 3,600 AN 2. 4, 400
Al A 6, 000 B3 B 4,800
3l A 500 B3 B 300
3l A 12,000 B3 B 500
Al A 1,600 B3 B 8,400
B 3, 600 [l A 3, 600
ERLAN 2,100 35 2,200
[ A2 4,500 (2l A 12,000
H2 B 2,400 H2 B 4,000
(2l SN 2 3,000 A AN 3, 600
Y 3, 300 30z 13, 200
(2l SN 2 500 E NI 4, 800
(2l SN 2 900 E L 3, 600
FA R 4, 800 [l A2 4,000
[l A2 2,700 (2l A 2,000
(2l SN 2L 4,800 ERS 3, 600
FA R 500 (12 AN 22 500
N 3, 200 TR 500
N 4,000 TR 500
I ¥ 4,600 TR 9,000
(3l SN 2 3, 600 LA 500
[CA A 4,800 (CA A 500
[CA A 900 (CA A 4, 800
ERRAEY 2,400 (L A2 4,000
[l A 2 600 EREN: 3 4,000
(3l SN 2 400 A 2,300
N . 500 EREN 5 4, 800
[ A 2 800 A 2,000
30K 7,000 A 10, 000
37 R 4,000 HAr R 500
[l SN 2 500 [ AN 2 4,800
B :{ 1, 800 HAr R 10, 000
[l SN2 2,000 3k 3, 600
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2 £%F L £4F

B 3,900 ENT 8 4, 800
1 -5 4,800 [ A 500
Iz 3, 300 [ A 2,000
HA O 1,600 A 4, 800
HA O 4,000 A 3, 000
HA O 3,000 A 2,000
HA O 4, 800 A 500
AR 4, 800 1 % a7 14, 000
3 @ik 6, 200 [ A 500
EAN 1,600 (=l A 2,400
3 e 4,800 (=l A2 800
iy SN 4, 800 I AEF 3, 600
iy SN 3, 600 I AEF 500
iy SN 4, 800 Ly R 2 2,400
135 3, 600 Ly R 2 4, 800
IPR 4, 800 Ay A 1,600
AR 2,475 Ay A 7,200
AR 500 Ay A 3, 600
AR 4, 800 Ay A 500
RS 12,000 Ly S 2 1,600
1 RE 3, 600 (L A 4,700
[l SN 400 Ly S 2 3, 600
(il SN2 3, 600 Ly S 2 3, 600
(=l AN 3, 600 Ay A 11, 200
(=l AN 500 Ay A 500
(=l AN 6, 500 Ay A 500
AR 4, 800 Ay R 2 3, 600
3 2 4,000 Ly S 2 500
(il SN2 2,000 Ly S 2 2,000
B 10, 000 Ry AN 4, 800
AR 8,100 Ry AN 600
[l A 2,000 EANL 1, 200
ER¥ 900 Ay R 2 8, 400
(3l AN 500 A A 2] 6, 000
(=l A 500 Al AN 900
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oy £7%F o £ 37
[ SN 500 A 1,600
(R A 4,600 3R 1, 200
(A 3,600 AR 3,000
i SNy 1,200 iy A 3,600
i SNy 3,000 EAPRE 2,700
i SNy 2,000 iy A 12,000
i SNy 500 ERES 3, 600
ERnR 4, 400 [CI N 500
(A 500 3R 1, 500
(A 1,200 (N 4,000
A e 800 (L N 4, 800
EN RN 1,600 EAE N 3,600
(i NS - 3,600 e 800
B 3,000 Hr o 4, 800
B 3, 600 Hr o 500
3R 500 (N 3,600
3R 4,000 (N 3,600
ERRE .} 4, 800 B2 o8 3,600
3R 500 (N 500
(L A 5,000 (R A= 3,600
(i SN - 6, 000 (R A= 500
(i NS - 9,000 (R A= 500
N 3, 600 (R A= 1, 800
3R 4, 800 Ll A 2 500
3R 6, 000 Ll A 2 500
3R 12,000 (N 300
H2 B 800 (R A 2 3, 600
(i NS - 1,500 [ N 2,400
B 1,200 AR 4, 800
(il SN 3,600 1 Ba 300
(il SN 3,000 124 7,200
(i NS - 600 (Ll A 3,600
(i NS - 500 EREE 4, 800
N 4, 800 ERNEE N 900
L SN 1,600 ERN 3, 600
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LA 447 LA &7
17 3,3000 |@aom 5, 000
By 3,600 [w7 o 4,800
Y 2,700 [@7 om 300
Al A 10, 000 BN 3, 600
3l A 9,600 L A2 3, 600
3l A 3, 300 L A2 4,800
Al A 1,000 L A2 4,000
(L A 500 LA A 3, 600
(L A 2,400 LA 3, 600
ERY 5000 [w am 500
3 i 1,5000 [@7 o 1,500
R 5000 [@ am 1,800
R 1,400 [ 5% 4,000
RNy 4,400 [@aom 4,000
ERY 2,400 |@7om 500
ERY 2,000 [zpe 4,800
P ERY N CEEY 600
FERY. 2,000 |#3am 1,500
FERY. 3,600 [z 4, 800
P ERY 3,600 |®aom 7,200
1%4 1,200 [@72am 2,000
R 5000 [@ am 2,000
ERY. 600 [@72om 4, 800
[ A 600 [l A2 3, 300
ERY 4,800 @7 om 4, 800
[ A 4, 800 [l A2 4, 800
I 1,800 [w3 o 500
[l A= 4,800 TR 500
ERY 4,800 [@aom 4,000
iIpE 3,600 |@7om 500
i3e 800 [zzm 3,600
[l A2 2,000 (L AN 2 4,000
[ A2 1,900 [l A2 500
ERISE 4,800 [l A2 300
[l SN2 2,000 B 16, 800




SRS T ACEE S N

113 4 B 4 4788 i 9
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AN 2 500 ERE 3§ 12,000
(i SNy 500 134 500
AN 2 500 134 3,000
Al SN ] 500 [ S 8,000
Al SN ] 500 [ S 500
Al SN ] 500 ERE S 4, 800
Al SN ] 4,800 ERE = 4,800
(i A 4,800 (LN 500
HA SR 3,200 EREN: 4 3,600
Al W] 7,200 B2 2R 500
il A 500 134 3,200
i SN2 33,000 (i N 21 12,000
A Y o 500 [Er N 3,600
14w 900 I EX 3,600
i SN2 500 [Er N 500
I ER 11,000 B2 2R 3,600
77 OB 500 3 FIR 4, 800
ERE S 4, 800 (L N 4, 800
ERE S 1, 800 (Ll N 2,800
ERE S 300 [Er N 3,600
A Ny o 500 [Er N 800
ol SN2 1,200 (LI 500
A Ny o 1,200 (LI 4, 800
Al W] 500 B2 2R 800
72 2R 1,200 B2 2R 2,700
#2 2F 500 B2 2R 500
Al W] 3,600 ER L= 3,600
Al Y o 4,800 3 AR 500
I EF 5,000 3 AR 1, 200
@72 2B 5, 500 (LN 1, 800
@72 2B 1,000 (LN 500
Al WY 2 500 ER 1 1, 800
L SN 13, 600 B2 2R 600
134 3, 600 (Ll A= 500
ERE 3\ 500 (L A 500
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L &3 LA &9F
Y 5000 |2 A 300
Y 14,0000 |@% op 10, 800
Y 500 |z 12, 000
Y 4,000 |1wE 3, 600
Y 900 |@rom 3, 600
Y 9,400, |@w7 o 1, 200
Y 2,400 [z 3, 600
1ER 3,600 |wrom 900
Y 5000 |3 mI 3,200
Y 2,700] |wr o 2,000
155 4,800 |@7om 3,000
Y 5000 |wa o 3,600
1 g 6,000 |3 4de 3,900
Y 500 |2 44e 400
Y 14,2000 @A o 4, 800
Y 1,800 |#72m 5,000
1 3 54 12,0000 @3 o 500
1 5 34 2,700] |w7 o 500
Y 5000 |@7 o 2,000
142 3,6000 [w7 o 12, 000
Y 12,0000 [w2 > 500
Y 9,000 |2om 4, 800
Y 3,600 |ziag 12, 000
Y 1,600 [|w#om 1, 000
Y 5000 |@7 o 500
Y 5000 |@7 o 2, 400
Y 4,800 @3 o 2,000
Y 4,400 |@7 om 6, 000
Y 5000 |7 am 3,200
Y 2,000 |wr o 4, 000
Y 4,400 @7 op 500
Y 4,800 @3 o 500
Y 7,0000 [@7om 500
Y 5000 |@7 2w 500
Y 5000 |@7 2w 500
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ol SN - 4, 400 e 3,600
722 3,600 [l NS 21 500
2 2R 500 (LN 3,600
i N 2 500 [ S 4, 800
A N 2 500 [ S 3,600
i N = 3,000 [ S 6, 000
A N 2 1,200 [ S 500
722 3,600 [l NS 21 2,000
722 2,800 [l NS 21 3,600
ol SN - 9,000 EWEE 4, 800
B2 2R 500 [l NS 21 9,600
i SN2 500 3 44 4, 800
i SN2 2,000 [Er N 3,600
i SN2 4,800 (i N 21 500
i SN2 500 (i N 21 500
3 2,400 (LU A 2 4, 200
3 3,600 (LU A 2 500
IkB 500 [l NS 21 4, 400
IkB 7,200 [l NS 21 1, 200
IRA 900 [Er N 500
IR B 3,000 [l NS 21 2,000
ol SN2 2,100 LU AN 2,400
ol SN2 500 [Er N 3,600
72 2R 500 (L N 2,800
SN 3,600 15 1,200
ol SN - 2,000 15 3,600
72 2R 500 (L N 7,200
ol SN2 500 [l N 21 500
IRE 1,200 3 ¥4z 2, 400
722 500 (LN 7,200
722 500 I8 3,600
L SN 3,600 (il NS 21 4,000
L SN 500 (il NS 21 4,800
L SN 500 B2 2R 500
L SN 500 B2 2R 500
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- A EX1] - A £ 3
[EIEA- 500 [EI A 2,000
[EI A 500 [CI A 500
2 2R 500 ERCAY 4,800
(LA A 3,300 BN 3,600
(LA A 2,000 A 2R 2,400
1 8% 3, 600 [CI A 1,500
- 4, 800 R AP 1,500
(il - 900 "o 500
ER S il 7,200 1F 3,600
[EI A 4,800 (N 1,200
ER: Y 12,000 e A3 3,600
H2 2R 2,400 [Er N 1,200
3 A7 2,800 R AP 500
(LU N 2 4,800 ER o 2,000
[ e 4,800 ER o 500
[l A 21 4,800 ER o 3,600
[EI A 3,300 (N 9, 600
[l A 21 2,400 3 B 3,000
[EI A 4,000 (N 3,600
X ab 900 (R A= 800
[l N 21 3,600 [Er N 2,000
[l N 21 900 [Er N 2,400
IGnE 3, 800 3 ek 3,600
[l A 21 500 1 Bd 2,700
%= 900 EX B 3,600
(EI A 500 #r R 500
(EI A 3,000 (A 500
ER-53 4,800 EXN ] 800
B 3,600 I e 2,000
#3aR 500 (LN 500
(Ll AN 21 500 3 & 6, 600
FAr N 7,000 ERERE i 1,600
2 adp 4, 800 ER-R IS 5,400
TE 7,200 (LI A 4, 800
FAr O 36, 600 #r B 4, 800
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LA 447 LA £3F

3 gy 3,600 |@7om 2,000
(L A 2,000 LA A 4, 400
imE 14,4000 |#7 om 3, 600
IgE 3,600 L A2 3,000
IE 7,200 EAN Y- 600
3l A 3,600 3w 4,000
Al A 3,600 LA 12,000
IRy 14,8000 [rmu 3, 600
T 1,500 [|@7om 2,000
53 o 2,000 |#7om 900
Ry 72000 |@7 om 1, 800
P ERY 72000 [#7 om 500
BT 3,6000 [#7 om 500
1FE 80000 |#7 @ 3, 600
T ERY 1000 [#7 om 5,200
53 om 1,600 [@7om 4, 800
53 o 4,800 |®7om 500
53 o 36000 |®7om 1, 800
53 o 5000 [z A 1, 800
3 600 |®7om 3, 600
Y 6,600 |#7 @ 5, 800
Y 3,600 [#7om 900
Y 1,800 [#7om 500
3 o 3.6000 |zz 4,000
[ A 3,000 [l A2 4,500
53 om 5000 |@ om 3, 600
53 om 1,500 [@71om 2,000
P ERY 5000  [@ am 4, 800
ERY 1,500 [®7om 3, 600
T ERY 1,000 [®7om 500
RN 5000 |@ om 800
[l A2 1,600 (L AN 2 4,400
ER o 4,400 I hE 300
[l A2 3,600 [ AN 2 500
[l SN2 12,000 (L AN 2 3, 600
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2l A 4,800 [ A 3, 600
I SN 500 [ 500
ol S 3, 600 EREISES| 15,000
2l N 2 600 L A2 4,800
Ay SN 3,600 [l A 2,100
RIS 500 R IPY- 600
Al SN 2 500 L A2 3, 600
2l SN2 500 [l A 7,200
T EE 3, 600 o 3, 600
3 OE e - il N2 4, 800
Ry 3, 600 I = 4,000
[l SN 2 500 I R 4,000
IO 900 e 3,600
IO 4, 800 ER 1,800
[ SN 3,300 A 1, 200
Ry 3, 600 I = 2,000
E: 3 12,000 EAP; &2 7,200
HE OB 16, 000 1R 3, 600
HE OB 500 133 4, 800
I SN 1,200 133 4,800
B O 2,000 Fr B 500
I SN 1,000 (LI 500
ERE-2. 1,500 B 9,100
Ry 13, 700 i I = 500
[l SN - 1,600 [l S 2 4, 400
Ry 1,000 i I = 500
ol W 400 =iy A 2,000
I SN 4, 800 (LI 500
I SN 3,600 (LI 500
iy SN - 500 [l A - 2,000
=l N1 500 [l A 4,500
el SNy 2 300 (il N 2 3, 600
il A= 4, 800 (il N 2 2,000
i I 2. 2,100 ER L 3,000
(SN = 3,000 EN ik 400
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LA £3F LA &3

EERY 500 [#3 2@ 2,000
IR’ 1,200 [ A 2,000
IR 7,200 (N 2 500
ER AP 500 3 B e 3, 200
RPN 4, 800 RPN 7, 200
Ry 3,600 ER 2, 400
e A 1,800 RPN 500
R 7,2000 [#3 2@ 3, 600
EERY 2,400 [#3 2@ 3, 000
LR A 3, 200 Ikt 1,800
ER &3 3,000 (=l A2 500
iy SN 3, 600 1473 1,800
A A 2 500 R AR 3, 600
A A 2 4, 800 R AR 8, 400
iy SN 500 R AR 500
AR 500 (=l A 3, 600
I RE 3,600 RPN 500
L2 SN2 500 (=l A 6, 400
i A 500 Ay A 5, 100
A AN 2 1,500 Ly S 2 7,200
A AN 2 3, 300 Ly S 2 3, 600
[l SN 3, 600 Ly S 2 400
[l SN 500 4 3% 1,800
IFE 2,000 Ay A 2,000
i AP 6, 000 AP 4, 800
L A2 3,600 Ay R 2 2,100
L A2 1,600 Ay R 2 1,200
R A2 2,000 Ly S 2 500
[l SN 4, 800 Ly S 2 5, 000
3 #az 4, 800 AL AT A PO 2,000
3 g 600 Fraap

2 A2 9,600 (LI 200
ol P2 3, 200 L AN 3, 600
P 2,000 FEALIE G D 3, 600
(i - 3, 600 7
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247

L

(S
Y
=

Ry 3,300, |@7am 3, 600
R R 3,600, |®7om 4, 800
a EEEY: 500
- F = 4, 800 Ay SN2 6, 000
EERY:. 3,600 L E R 2, 400
<= i 4,800 [3rae

Y 500 @2 o 3, 600
ey 2,100 [®3 2R 200
Ry 900|  [W o 100
EERY: 500 R T 4, 800
TRy 500 9 e At Y 5T

EEEY:. 500 LE LR 4, 800
Y 6, 000 a9

Y. 1, 200 IR 14,000
Y. 5000 WA AR 2, 400
Ry T 800
Y 500 @ B 3,000
=k 2 1,500 0 WA 4, 400
Y 500 Ry 3, 000
Y 500 L TR 4, 800
PN 1, 200 e 7

Y 3, 600 Y. 4, 800
Y 500 |F7 AR 2, 400
Y 6,800, |72 4, 800
Y 3, 600 e AELRGG R 1,200
Ry 7,000 G

CERY 2,800 [FAAW 7, 200
CERY 500 [MA AR 1,500
¢ 7 2,400 A3 aR 2, 000
Y 900 oA D 2, 000
Ay SN 2 500 3

PRy 92,000 (L A2 3,200
Y 1,500 |F* =R 9, 800
EEPY: 3, 600 Sl B 3, 600
TR 6,800] |22 6, 000
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LA £3F i £%
Ry 1,000 (e 800
2 ang 1,600 [l SN 2,400
Ry 4, 800 (e 3, 600
Ry 4, 200 (R 1,200
w3 o 10, 000 ERNIPRNT S 5 $13 3,600
Gl I = 1,000 PRy

T 6, 000 w3 R 800
Y. 900 |#A 2R 3, 000
T2 o 4, 800 Ry 4, 800
TR A 2, 800 R 500
N A HFA R 300
IS 1,200 DY 4, 800
PN 3, 600 + a4 1, 200
A EHTE LD 3, 600 4 R 4, 800
TR I 4, 800 ERES 5 - RIS A 4, 800
BN 3,900 o

Y TR R 3, 200 *os T A 9, 600
N Ry 300
B3R 6, 000 i P = 500
hE RN ISP I 2,400 PN 4, 800
N Hr DR 4, 800
A WO 7,200 A N1 500
ol W 2 1,500 [ PN 2,900
a o 4, 800 A N1 1,000
A4 B 3, 600 DN 500
RPN 4, 300 WD 3, 000
AE L TG L 12, 000 HA O 600
o8 (i ] 3,600
AR R TF 2,100 P 200
3 0 kT 900
RPN 3,200 EEPY" 12, 000
K EfHEF AP 2,100 EEPY" 16, 800
RPN 400 o 3% 3, 600
2l WA 2L 4, 800 ol WAV 500
Y 12,000 R IPN-" 3, 600
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- H EX1] Xis £ %
B R 300 "o 500
PR 3, 600 [l SN 2 1,800
PR 4, 400 [l SN 2 2,400
(L WA 500 ER: GEE 4, 800
o 3,000 R 3,600
e 12,400 Cl 2,700
e 3,600 B3R 2,400
o 19, 200 o 3,000
o 500 o 4, 800
o 1,600 A 2,100
3,600 (A 500
o B 4,800 (LI 4, 800
ol 400 (LI 12,000
600 (LA 3,600
ol 500 (LI 2,000
o 3,600 w2 o 3, 600
o 1,200 w2 o 3,000
o 500 w2 o 2,400
400 R 7,800
SR 4, 800 (LI 400
e 7,200 £ pr-t 4,100
SR 3,600 (LI 900
SR 6,000 (LI 1,000
e 500 w3 B 500
12,000 w3 B 3,600
e 4, 800 w3 B 500
e 1,000 w3 B 3,600
SR 3,000 (LI 500
e 3,600 AR TRS 3,200
o 6,000 (LI 3,600
o R 3,600 T 800
o 4,000 w3 o B 3,600
3,600 w3 o 4, 800
7,200 w3 o 900
o 4,000 w3 o8 500
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s £%F ia £

@ o m 6, 000 RPN 15, 000
A WO 4,000 AN 4, 800
@@ 4, 800 T 1,200
RPN 500 WD 6, 600
8 2 3,600 A 1,200
Y. 7,200 %R 1,000
Ry 7,200 = 74 3, 600
=l WAL 12,000 FI% % 12,000
RPN 900 ey 3, 000
Y. 3, 600 Ry 8, 000
Ry 4, 800 C I 500
@ 3, 600 Ry 3, 600
R 4, 800 RPN 700
"7 o 3,200 R IP: 3, 600
Y. 3, 600 Ry 2, 000
Ry 3,000 ESRSECE: BEY T 7,200
RPN 4,800 P AZEEF A 3,600
HHZE%ET AL 3, 600 7

2 > HUR] B E L 3, 600
Ry 1,000 P

s 2,400 rPHEREEF D 600
EREF AP 3,600 e

Y 7,200 2RELERG R 5,600
Y 4, 800 =

Ry 3,000 DREFHLTF 4,800
Ry 500 7

fLBLfIé?] 400 ol A 2,400
P 1,500 PPN 4, 800
Ry 800 AP R F T 3,600
et 4,800 i

s 1,800 @ 2, 700
PP RPN 1,800 @ 1,500
CERY 1,200 P2 AE 4,490
O 2,000 [ A 12,000
Y 2,000, [F*=F 1,200
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B A e Foik kg
113 & B 42 470

&% o &
500 [ A 2,400
2,700 [ A 4, 800
500 [ A 3, 300
1,400 LA 300
RIS 4,200 LA 6, 000
3, 600 = TE 3 7,200
12,000 LA 3, 900
3, 600 [ A 6, 400
7,200 (LA 4, 800
9,600 (A A 3, 600
4,200 BEF BRI EF R 3, 600
400 A
2,400 [ A 1, 200
4, 800 [ A 10, 000
9, 400 (I 500
7,200 (I 500
3, 600 L e 2,400
6, 000 (o AN 2. 3, 600
(2l A 2 3, 600
12,000 I 4, 200
4, 800 LA 400
7,200 w2 p 3, 600
4, 800 LA 500
AN 2,700 F S 900
600 (R A 2 500
9, 400 (R A 2 500
4, 800 (R A 2 4, 800
2,400 i 4, 800
3, 600 [ A 3, 600
4, 800 LA 2,400
2,100 A 2,400
*ET 3, 600
4, 800 (2l A 4, 800
4,000 (il AN 6, 000
9, 400 (il AN 500

-21-




SRS T ACEE S N

113 4 B 4 4788 i 9

- £ 37 - H £%F
A3k 4,200 "3 aR 400
(il - 1,500 W om 500
(L 4,800 #r oM 500
e F 400 (L 4,000
Al A2 500 FARTE 3,000
Al A2 7,200 2o 500
. 4, 800 iy A 4, 800
Ll S 500 e 3,300
FAR & 3,600 [E 500
A 500 w2 oM 3,600
Qo 4,800 * RH 11, 200
(Ll N 500 i 3,600
Al A2 500 #r oM 2,400
Al A2 500 (LI 1,000
(Ll N2 500 K 4,800
572 R 4,000 BB 4,400
572 R 7,200 A 500
572 R 7,200 A 500
o 2,100 A NS 2 2,400
Al A2 7,200 #r oM 500
(i W 500 R 9,600
TR 4,800 (LI 4,800
Al A2 7,200 iy A 2,000
Al AN 2 1,600 #Fr o 500
i A 3,600 E S 2R 3,600
AN 3, 600 #Fr o 3,600
AN 3,600 Ly A 1,000
Al A2 1,600 RN 2,400
2 F 1, 600 PN 14, 400
Al A2 4, 800 foE 2,700
22 5,400 A 500
*F R 4,800 (LA 4,500
Ll A 500 G 4R 1, 600
iy N 500 hoit B 800
(Ll N 12,000 U NS 2 12,000
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B A e Foik kg
113 & B 42 470

i &% aia £

EEPY: 500 @3 @ 500
(il - 500 W om 500
Ry 500 RPN 4,800
BN 800 (e 3, 300
SRR 3,600 R 1, 400
PN 2,700 o 2, 800
Ay SN 3,600 [l A2 500
4 H 2 5, 200 [ SN 4, 800
il SN2 500 [ SN 4, 800
DN 500 PRI 2,000
PN 500 w2 o B 500
I SO 500 (LI 4,800
I SN 3,000 (LI 6, 000
PN 3,800 w2 R 500
PR 3, 200 [l Ny 2 3, 600
PN 500 w2 o 4,200
DN 500 (P 900
DN 2,700 BB 500
ST ES 900 (L A2 1,500
B O 500 Fr B 5,000
B O 8, 200 Fr B 500
RPN 1,500 L 4, 800
i N 500 LI e 2,400
ol W 500 =iy A 3, 600
2l A 11,000 L iE A 1,800
PN 500 paaE 350 3, 600
I 800 T 11, 800
I SN 3,600 (LI 3,600
W 4, 800 T 3, 600
PR 7,200 TiEE 3,600
AR 500 PRIRE 1,200
il A= 1,200 (il N 2 800
(2l SN 21 9,000 [l A2 12,000
il A= 3,600 (il N 2 3,800
WA 9,600 2l SN 2 2,000
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- R EX1] - A £
PR 1 300 ey -4 4,100
PRy 9,600 [l SN 2 1,200
PRy 4, 800 [l SN 4, 800
RN 4, 400 1E L 2,700
. 4,200 iy A 2,700
. 8,000 [ N 500
. 4,000 iy A 2,000
R 6,000 [#3 2@ 3, 600
PRy 8, 200 [l SN - 6, 000
a1 o 400 Ry 3, 600
Ay Y 22 3,600 (Ll A 2 3,800
Y 7,700 (LN 4,800
R 2,800 [l NS 2 500
Ry 500 TR i 2,400
PR 2,000 w2 ol 7, 200
L . 4,800 (L N 4,800
73 O 3, 600 LR & 4,800
LA T 12,000 Rl o =3 3,000
L . 1, 200 (L N 4,800
LA 4, 800 [l SN 6, 600
LF 2,100 Lk 5 3,600
RPN 500 (P 200
Y 4, 400 [l SN 500
Y. 4, 800 Tk 7,400
1 ik 2,100 PN 3,600
#3 B 1, 500 ik 600
RPN 7,200 RPN 3,300
R 500 [l N1 500
Y 5, 600 [l SN 2 6, 600
Ry 2,200 (e 600
TR 500 WA NP 7,200
B O 500 I IPN = 4,800
1% T 4, 800 PN 500
IS 3,000 Gl WP 2,400
TR 3, 600 A ES 1,800
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P BE A

oo~ WA E €

H3ﬁ&ﬁiﬁm¢

A £7%F o £7%F

LEE 300 A" 4, 800
(A 4, 800 [l N 1 1,000
#ArH 900 7% B 4, 800
B3 B 4,800 B2 o 500
PN 2,000 [l N 2,400
A 4,800 B2 o 3, 600
A 1, 800 B2 o 500
1 E 3,600 [l SN 1 2,400
(R A 4,800 LA 5, 600
N 2,400 i SN2 900
PN 1,500 (i SN2 3,600
Al N2 6, 600 (Ll SN 5,000
3O 500 iy A 4,000
A S 1,500 @2 R 3,600
LR 1,800 i 4, 800
N 500 i SN2 2,000
- 3,200 Hr DR 500
N 6, 000 wr O 500
7 O 500 Hr DR 4, 800
pi%F’“’i" S 600 Ao 3,700
7 I SO 500
Ly N 2 3,000 i 4, 800
Ly N 2 600 [l A 4, 800
B2 B 2,400 =iy A 500
LN 6, 400 (ol 800
I%g¥EFAa? 4, 800 (ol 500
B 400 Hr N 6, 500
R L I 4, 800 [l N1 500
7 [l N1 500
77 0 4, 800 A PN 500
LRGP 12,000 oy 2,100
3 B 4,000 (2l A ' 2,000
e S B e | 4,000 (il AN 4, 800
ZIRANE- 3,000 [ AN 2 12,000

T EEAE 2,000 GRES3 5, 400
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B A e Foik kg
113 & B 42 470

£ L £

500 [ A= 1,000

6, 000 [ A= 3,600
3,600 [ A= 500
3, 600 2 S 2 1, 800
1,500 G2 3 3, 600
5, 600 45 3% 4, 800
3,000 G 1, 600
500 [ A= 1, 800

1, 200 [ A= 7,200
19, 000 [CIr A= 1, 800
500 (L A 500

3, 600 AR 500
4, 800 [GEESZ 5, 000
6, 000 AR 7,200
1, 200 [l A2 500
2,400 [CIr A= 4,100
500 [ A 500

1, 200 w gk 600
3,600 [CIr A= 15, 600
500 [ A2 11, 000
4, 800 [l 4, 800
4, 800 [l A2 500
4, 800 [l A2 3, 200
6, 000 = ’5"\14.’] 3,600
3,300 [l A2 4,000
5, 200 [GREA 4, 800
3,600 [l A2 500
3, 600 [ A2 4, 800
2,400 [l A2 2,000
3,600 (LA 500
3,600 (LA 800
500 [GR3:9 1,000
500 L AN 12,000

1, 000 L AN 500
2,800 Ll AN 3, 600
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A &% o &

@3 o 10, 000 w3 8, 000
PRy 7,200 R 500
Y 2, 400 i 34t 600
Y. 3,600 S 1,800
Ty 5,200, |#7 2 300
g 2 7,200 A 1,600
Ty 12,000  [i#2 2@ 1, 100
Ry 3, 600 i R 0 4,800
@ o m 3,600 (e 200
RPN 3, 600 IR 500
Y 4, 800 IR 500
Y. 3, 600 (LN 1,600
Ry 500 (I 2,100
Y 3,800 i 8 3 2, 400
Y. 500 v B 1R 2,000
LR IPN- 3,000 I 2, 400
ERY: 2,400 e 12, 000
RPN 3,600 C I 1, 200
R 500 w2 o 12,000
a7 @ 4, 800 B 9, 000
"B m 400 HA D 500
Y 4, 800 IR 500
R 6, 000 R R 7,200
Y 4, 800 IR 4, 800
e 3 34 2,800 |#7 2@ 500
Y 4, 800 IR 500
Y 6, 000 R 600
GRS 2,400 =R 4, 800
(- 500 RUREER T A 1, 200
P 11,000 PN -
9 o 3,600 w3 om 11, 400
EEE 4, 800 w7 @ 200
HA o 500 Gl WP 2,000
e 1,200 £ 4,800
TRy 500  |@ 2@ 200

-27-
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EX1]

L

B
=y

|

I

(A2 SN 1

500

Y

2,000

(A AN 1

2,000

£% 3

4,800

(i - 6, 000 " om 500
L g 3,300 R 2, 000
PRy 12,000 [#7 2@ 3, 400
R 2,800 |[®32m 200
R 2,4000 |®3 2p 4, 800
R 3,900 [®3 2@ 7, 000

& AL 3, 600 (A 3,300
(LN 500 (LN 3,000
(LN 3,600 (R 2,000
B 4,000 w2 R 2,000
B 500 SRR 3, 600
B 3,600 [ 2,000
B 4,800 [ 500
(LN 1,000 (N 500
# TR % 600 (I 500
(LN 10, 000 (N 3,000
AE> 4, 800 @3 o 500
ARiE 11, 000 CEIPS:. 2, 400
£R 4,800 @3 @ 4, 800
#Ar D 900 RN 8,000
#Ar D 4,800 RN 1,800
#r2R 500 @2 R 2,400
#r2R 1,000 @2 R 3,300
#r2R 3,600 @2 R 4, 800
(LN 3,600 £ 2 £ 7,200
#Ar D 4,800 RN 500
(LN 2,000 RN 500
w2 500 RN 500
LN 4, 800 RN 4, 800
B 4, 800 @2 R 4,600
Br o 500 A 2,000
Br o 3, 600 A 500
&=F 1,200 @2 R 7,000
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- A EX1] - A £ 3
[EIEA- 500 AR 7,200
[l AN 21 2,000 S 900
Ry 6,000 5% 6, 000
iz 500 WA 2,000
@2 @ 500 R 100
RPN 2, 700 BN 12, 000
R 4,800 R 400
(il - 1,200 "o 500
[l AN 21 2,000 I 3,600
#3oR 4,800 T A 15,400
[EI A 500 #r B 800
(Ll N 21 3,900 [Er N 500
(Ll N 21 2,000 [Er N 3,600
(Ll N 21 1,500 [Er N 1,800
(Ll N 21 4,000 [Er N 2,800
#3oR 1,000 B2 2R 11,000
[EI A 2,000 (N 500
[EI A 500 (N 500
[EI A 4,800 L N 500
[l N 21 500 "3 OB 500
S 3,200 AN 1,800
T izZ 1,200 73 R 2,000
[l N 21 3,600 "3 OB 500
3 o 10, 800 EaEN. = 3,300
(A 500 73 B 3,600
(EI A 1, 800 L A 2 4,800
RS S 7,500 73 B 1,200
[l N 21 8,400 g kz 2,800
[l N 21 1,000 I 3,000
#3aR 400 A 3, 300
L= 9,000 T ¥4 3,600
FAr N 3, 600 AN 500
FAr N 500 T F g 6, 800
FAr N 500 A H 12,000
FAr O 4,800 A 4, 800
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L &3 o &4F
7 g 900 |5 % ¢ 2, 400
2 g E R EER 3 3,600
%140 3,500 [% £ F 3,300
TEY 2,000 |% 4% 6, 600
TEY 3,700, |5%# 4, 800
TRy 3,600, |#7am 500
s 3,600, |#7am 500
Ry 1,2000 |@72m 4,800
%23 3,600, |@aom 4,800
54 3,600 |% T 16, 800
ERY. 3,200 |#7am 6, 000
Ry 3,600 [w o 3,300
EE 2,000 |#7 o 500
EE 2,400 |@72 o 6, 000
Y. 4,000 |27 2,700
5 AR 1,5000 |#7 2w 500
EEY. 4,000 |% e 3, 600
Y 4,800 @3 o 7,200
FEs 3,000 [w o 12, 000
Ry 5000 |@aom 600
ERTE 3,600 [% 4,800
Y. 1,800  [% g 3,300
Y. 3,600 |w2om 4,800
Y. 5000 |7 am 3, 600
Y 5000 |@7 o 1, 800
Y 3,600 |w2om 4,800
2 it g7 4,800 @3 o 500
TR 1,2000 |#7am 3, 600
ERrgs: 6,400 [w7 o 4,800
Ry 5000 |® em 9, 600
Y. 5000 |® em 1,200
Y 16,800  [® 2 o 2,000
5 % % 5000 |g @z 2,100
5 % % 5000 |7 am 2,000
5 % % 600 |#7om 300
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A £% s £%F
(R N 2 400 LN 5,000
iR 1, 200 S E7 4, 800
(R N 2 3,600 LN 3,600
(L N 2 1,000 (I I 12,000
5 i 3,600 [N 3,600
T G 3,600 (I I 3,600
[ N - 300 [N 3,600
[l NS 21 3,600 L 4, 800
[l NS 21 4,000 I F ¥ 2,000
TR 3,300 R 3,600
TR 2,400 3w 2,000
[l A 4, 800 #r R 500
R A 2,100 e % 2,400
[l A 4,800 S 3,600
[l A 4, 800 #r R 3,000
(L N 2 3,600 w22 10, 000
(L N 2 4,800 w22 3,600
(L N 2 1,500 w22 2,800
(L N 2 3,600 ¥ 1k 4, 800
[l A 500 I 3,000
TR 4,000 i 5,000
£ R T 1, 800 2w R 3,600
Y 500 [l NS 2 9,400
(L N 2 3,600 (L A2 4,000
(L N 2 4,400 5% 1, 800
% @k 6. 000 EY: 3,000
(L N 2 4,800 w2 R 3,600
R 3 7,500 Hr R 4,800
[l A 500 Hr R 2,400
H2 R 4,800 Hr R 3,400
e 4,800 [ A 2,400
[l A2 2,700 (Ll N 1, 200
[l A 500 S 4, 800
[l A 500 (Ll N 600
(Ll A 2,000 #r 2R 3,900
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- A X1 i £ 3
Tl 3,600 [E 6, 600
[EI A 1, 500 3R 4,600
(i - 500 " om 500
RSN = 3,600 [CI A 4, 800
(LA A 4,800 A 2R 400
(LA A 300 [CI A 2,400
(LA A 900 A 2R 2,000
[EI A 4,000 AR 2,700
[l AN 21 4,800 S RE 4,800
[l A 21 500 T RE 3,600
T 600 B2 2R 500
B 2 2,000 [Er N 3,200
[ e 2,800 [Er N 2,800
[ e 500 [Er N 7,200
[ e 500 SR 4, 400
[ e 500 S 3,600
LA 4,600 (A 3,600
TG 4,800 (A 600
[EI A 3,000 (I 500
Y 1,000 5 EF 15, 000
[l N 21 8,000 [Er N 7,200
[l N 21 3,600 [Er N 500
[l N 21 3,600 & fe 4,000
(A 500 (N 4,800
[l A 21 4,800 S 1,200
(EI A 100 (A 4,000
(EI A 2,000 (A 500
Y 4,000 B 500
[l N 21 3,600 T BE 3,000
#3aR 3,600 (LN 3,600
#3aR 500 (LN 1,500
3 3T % 9, 200 (N 500
FAr N 4, 800 (N 500
T4F 3, 600 T %R 7,200
FAr O 300 SR N 600
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oy £3F - £ 37
[CIF N 5,000 (i A 3, 600
Ao 600 [y A 4, 800
(Ll N - 4, 800 Lghadity 900
L 2,800 [ A 2,000
iy N 4, 800 [ A 2,400
Lt 3, 600 [ A 4, 400
T E 3, 600 [ A 3, 600
[CIF N 1,200 AN 1,200
L e 5,400 [y A 4, 800
[CIF A 2,800 AR 1,500
[l A2 4, 800 I &R 3, 600
5 Zix 5, 600 T &% 3, 600
ol SN 2 500 [ A 500
ol SN 2 3, 600 [ A 500
Ll 4, 800 [ A 500
2o 3,600 (LU A 2 4, 800
2o 4, 800 TR 3, 600
R guye 400 (A 4,000
2o 600 (A 500
[l SN 1, 200 A 600
(=l SN 2 3,000 AN 4, 800
Y3 3, 600 HE R 7,200
(=l SN 2 500 AN 3, 600
(CIF N 3,600 (i ] 4, 800
(CIF N 500 (i ] 500
(i NS - 500 R F 3, 600
L 7,200 (i ] 1,000
(=l SN 2 7,200 [ A 500
L@ e 5 1,600 AN 4,400
=l SN2 500 T 5 7,200
=l SN2 4, 800 5 ferk 3, 600
(il AN 2 2,800 (i A 2 500
TNE 3,000 [y N2 500
(il AN 2 4, 800 (i A 2 2,400
(il N 2 800 i A 2 500
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e £ 2 5 £

' EEY: 1,400 [w7om 1, 000
RN 2,000 [%ag 3, 600
' EEY: 3,600 [@3 @ 2, 300
EEE 5000 |@ o 5, 200
2 53 2,000 [% 42 3,000
EEE 1,500 [®3 2@ 3, 600
Y 5000 (@3 2@ 4, 800
255 3,1000 [®3 am 4, 800
EFyT 4,800 [#3 2m 500
EEY: 5000 |@ am 16, 000
EEY: 4,800 [®3 2m 3, 600
RN 4,800 [®3 am 500
I 5000 @ o 500
I 7,200 |@2 am 3, 600
R 5000 @3 o 400
Ry 500 [% p= 4, 800
EEY: 3,600 [@3 om 1, 800
EEY: 5000 @ o 3, 300
EEY: 5000 @ o 1, 200
Y 500 [% 3ax 1,500
Y 500 |@3 o 1, 000
EEy 3,600 |@ram 500
2 5% 1,400 |w7 2 500
ey 2,400, [@3 2@ 5, 000
EEY: 5000 |@3 o 600
I 3000 |@am 2,000
EEY: 3,3000 |®3om 4, 800
R 5000 |@ o 3,000
R 3,200 |@ @ 500
24 900 |@ o 500
EEY: 600 |@r @ 7,200
ERY 12,000 [@7 o 500
ERY 2,000 [@3 2@ 500
1 5 5,400 |@73 o 500
Ry 1,800 [@7 am 3, 300
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R £7%F - £3F
2l A 4,000 [ A 3,600
X 1k 4,400 [l A 400
X 1k A 7,000 3 fr® 3, 600
AN 2,000 T 5 500
AN 6, 000 3 5 600
£ 4% 2,100 [l PN - 12,000
PN 500 T B 4, 800
[ SN 4, 200 (LN 7,200
PN 3,000 L4 4,800
I DN 500 BB 500
L I 500 (LA N 500
A W 7,600 A B 4,000
T3 8 10, 000 TR 500
A W 3, 600 A B 1,000
ol SN . 800 A 3, 900
HE OB 500 (2l A 2 2,800
B 3, 600 DN 4, 800
L 2,700 (2l A 4, 400
5 FF 4, 800 5 B 4, 800
X 34 2,000 Tk B 4,000
B O 3, 600 Fr B 2,000
I SN 1,600 (LI 500
iy SN 2 5,500 L 4,700
RPN 3, 600 AP 3,300
R AN 3, 600 AP 500
£ g4 3, 600 =iy A 500
£ g4 12,000 =iy A 4,000
Ry 500 5 E 1,200
Y. 3,600 g & 3,000
(3l SN 2 2,100 T R E 9,200
[l AN 2L 9,000 A 3, 300
AN 4, 800 (ol N 4,000
AN 2,100 (ol N 7,000
=l W 3,600 2l SN 500
I 4, 800 (ol N 300
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- £ R £7%
PN 500 DN 500
7y 14, 400 DN 500
DN 4, 800 (N 500
. 3, 600 iy A 2,000
5 5 700 o 200
AN 3, 264 E QLS 3, 600
£ 2o 1,200 (C R 7,200
Ry 4,000 % 7 3 3, 600
PN 1,500 DN 3, 600
T 2,400 [l A 2 500
— 5000  [@ o 1,300
R 500 [l Ny 2 16, 800
WO 2,000 [ AN 2 500
WO 6, 000 [ AN 2 4, 800
PR 800 [l Ny 2 3, 600
T 4, 800 Ry 3, 600
F— 500 PR 1,800
77 o 4, 800 (P 500
F— 500 PR 9,000
RN 14, 400 Tyl 4,200
g o 3, 600 X R 3, 600
2 B 1, 800 [l NS 2 3, 600
TR I 500 5 i 5, 000
7 &4 5,400 PN 2,800
5 R 3, 600 PN 9, 600
RPN 4,800 RPN 3,600
TRy 500 5 1, 200
WO 3,300 LA AN 2 4, 800
g 2,000 3 B 7,200
2T 1,600 (=l Ny 22 500
TR I 7,000 #rNE 3,600
PN 3, 600 i e 500
23 AP 3, 600 Bk 1,800
AN 3,900 PN 4, 800
QS 3,300 PN 2,700
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- H £ R &%
PN 5, 600 DN 4,800
ik 3, 600 DN 3, 200
PN 500 DN 4,000
WP 3, 600 (e 7,000
5 48 4,800 LA 4,000
AN 500 (PN 500
L o 3,600 o 3, 600
WD 3, 300 wA o 500
L 1,600 DN 1, 800
231 2,000 [@7 @ 3, 600
B 1,500 HA o 6,000
R 500 [l Ny 2 2,400
PR 900 [l Ny 2 3, 200
PR 500 [ A= 500
PR 4, 800 [l Ny 2 4,200
RPN 3, 600 X 4R E 10, 800
o 3, 000 Y 2,000
LIPS 1, 800 (P 500
P 500 w3 op 2, 800
R 500 [l NS 2 7,000
Y 4, 400 [l NS 2 4,200
Y 500 [ A= 500
Y 500 [l NS 2 1, 200
PN 9,000 PN 3, 000
E o 3,600 i W 2,000
R 4, 800 PN 3, 300
P 500 Y 6, 000
R 4, 800 [l Ny 2 3, 600
Y 2,400 [l Ny 2 1, 800
R 500 (=l Ny 22 9, 000
Ry 3,600 Eg - I™ 7, 200
WA 500 L -3 3,000
i nF 6, 600 B DB 5,000
AN 3,600 PN 300
I 8, 400 PN 4,800

-37-




SRS T ACEE S N

113 4 B 4 4788 i 9

- R EX1] - A £
Y 3,600 IR 3, 600
R 500 [l SN 2,100
Y 3,600 IR 3, 600
TR IPN" 300 HA O 500
Y 7,200 |#3 2R 500
Y 2,000 w7 oB 1, 600
% 7,200 WD 1,800
ER 4, 800 HAOE 500
PRy 4, 800 R 500
TN 500 X 40 3, 600
RPN 12, 000 C I 2, 000
PRy 12, 000 R 1, 800
5 3 % 1,000 g 9,600
S 2,400 B 2, 200
PRy 500 (LN 4,800
F— 500 PRy 4, 800
77 O 7,200 (Ll A 2 6,000
F— 500 PR 1,000
7% N 600 i A2 2,000
Y 500 B 4, 800
Y 2,000 [l SN 2 1,000
PRy 500 (LN 1,000
T 3, 600 HA D 4,000
5 B4R 500 E& 3,000
P 500 RPN 2,700
R 3, 600 RPN 3,600
g3 O 500 Ep R 3, 600
2R E 4, 800 WO 500
s 2,400 RIS 500
T 900 (LU AN 2 2,000
Y. 4,800 |[#7am@ 4,800
RIS 3, 600 E %zt 3, 000
RN 500 i WP 500
Y 500 R 500
RIS 500 I = 2,000
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R £7%F A £ 37
FA R 3,200 [ A 500
0 PR 3 4, 800 [l A 600
FA R 500 AR 8, 800
CEIN:" 1, 200 ERE 800
EER 3,600 By 1,600
EigR 1,500 (WP 2,000
il Pz 7,200 g S 3,600
[ 2,400 E - 2,400
H2 o 4,800 EReE 4, 800
B R A 3, 600 HA B 1,500
ol W 3,700 AR 4, 800
E R 3, 200 TR 4, 800
B 9, 200 TR 3, 600
[l SN 1,000 [ A 500
[l SN 400 A A 4 500
[l A2 2,700 A S 2 12,000
FA R 3,600 A A 4, 400
FA R 500 FAr R 500
Ry 1, 800 i P 3, 600
E G 4,000 g 3§ 600
(3l SN 2 3, 600 TR 500
[l SN2 1,200 [ A 4, 800
(3l SN 2 1,500 A 2,400
EP % 4, 800 P 500
Epr A 1,800 A S 2 4, 800
[l A2 500 A S 2 3, 800
[l A 2 500 L s 4, 800
[l SN2 2,800 A A 4 500
(3l SN 2 800 B R 600
[ A 2 9,200 TR 7,200
[ A 2 4, 800 [ A2 2,100
RPN 500 5B 2,400
[l A2 3,600 [ AN 2 500
[l A2 3,600 B 2,100
[l SN2 3,600 [ AN 2 500
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£4F Xia £ 57

[ A 7,000 B ar 3, 600
BT 3, 600 [ A 500
Bk 2,600 [ A 2,400
Al PN 3, 600 E 12,000
Ry SN 500 LA 1, 200
LR A 4,000 B 2,400
Ay A 500 Fr R 500
R 500 (@3 2@ 4,800
- W1 500 [l A - 500
A 2,400 [ A2 500
ERE 4, 800 (LA N 3,600
L 2,000 [ A 300
@ h 3,600 A& EAR 4,600
E FEAT 1,600 [ A 4,800
(87 2 3, 600 [ 9, 600
g7 2 500 Y 4,000
A 500 AR 4, 800
Azl SN 2,000 [l A 2 400
E R 4,800 |[EEEEFLP 300
Y 5000 @ o 1, 600
Y 3, 600 Ry 3, 600
B e 12,000 A 9, 600
DN 500 *FF 5,400
(il A2 1,800 (i ] 12,000
PN 1,500 (i 3, 600
PN 500 (i 3, 600
PN 500 (i 1, 200
Eadr 8,000 [ A 4,000
Y 3, 600 [l Ny 2 3, 600
Ry 7,200 N 4 4, 800
w0 3,600 |W7 o 500
il PN 2,000 L 3 4,000
[l A 400 [ AN 2 9, 200
L SN 2,400 A oB 500
B 2,100 PN 5,000
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&3 i £
3,600 [ A= 500
4, 800 KR £ 3,600
4, 800 [ A= 300

12,000 2 S 2 500
3, 600 HA OB 1, 200
4, 800 2 S 2 4,000
2,700 HA OB 500

500 [ A= 4,200
500 [ A= 12, 000
4, 400 [CIr A= 4,400
2,400 TR H 7 2,000

11, 000 [l A2 3, 600
3, 600 AR 300
2,400 AR 3, 200
3, 600 RINES 2 900

500 L AN 2 3,600
2,000 [l A2 500
7,200 [l A2 500
4, 800 [l A2 300

500 [ A2 2,400
4,000 Jefh 3 2,100
3, 600 [ A2 4, 800

500 [ A2 500
7,200 B 2,400
8,400 [l A2 500
3,600 [l A2 2,400
2,700 [l A2 4, 800
2,400 L A2 900
7,000 R 30 300
4, 400 [l A2 4, 800

500 (LA 3,600
1, 800 L AN 3, 600
4, 800 T s, 3, 000

500 *FERERAE 4, 800
3,600 FEAHELT R 8, 400

-41 -




SRS T ACEE S N

113 4 B 4 4788 i 9

LA £ 37 Gkia £

N A N 21 16, 800
ARFMF AP 3, 600 DN 2,800
YGRS PRI 4, 800 NN 4,800
N DN 4,800
B4EF AP 12,000 (Ll N 21 7,200
PN 6, 600 R 4 8,000
SRR S 2,800 (il SN2 3, 200
o F B 500
O 1, 200 [ PN 500
B 2,200 ol WA= 500
i SN - 4,000 A o 1,000
[ SN 10, 600 ERR 500
[ SN 7,200 ERR 4,000
24 % 4,800 [l SN - 3,600
(0 NS - 2,000 (i N 21 2,000
Y 500 (G WP 4,400
(0 NS - 1, 600 (i A= 1,000
N 600 (i A= 4, 800
%] 48 4,000 et 2 10, 200
25 1,000 24 R 3,600
EA - 3,200 i SN 4, 800
i NS - 2,000 [l NS 21 500
i NS - 19, 000 [ SN - 2,000
i NS - 3,600 (il SN 4,400
N . 4,200 24 4,800
2l SN 3,000 il N 1,500
el SN - 9,400 (i A= 2,000
RS 14, 300 [l SN 2 3,600
Ay Ny 2 1,200 [ SN - 3,600
3R 5,800 A 3,600
iy SN - 1, 600 [l SN - 3,000
=l SN2 300 il N 500
iy SN2 3,600 il N 500
(il N 2 3,600 (=l N 2,000
B R 3,600 PN 500
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- £7%F - £
21 E 500 Ry 500
3233 2,100 [ A 3, 600
(2l AN 2L 500 [l A 600
Py 900 Y 500
[l A 6, 000 e 4,800
CEPY: 500 Y 500
RPN 3, 900 Y 500
Z AT 4,800 [l A 500
2l A 2,800 [l A 500
ol W 500 (2l A 2,000
PN 3, 600 e 2,000
233 2,400 ;A% 400
WP 3,000 %% 2,000
PNz 2,000 e 2 500
WD 4, 800 3% 500
DN 500 33 900
[l N 4,800 (A 2,000
[l N 2,400 (A 500
. 12,000 (N 3,000
[l SN2 2,700 TR 500
Ak 2,400 [ A 2,100
(3l AN 7,600 A 3, 600
(3l SN 2 3,600 TR 500
Z 3,900 RPN 500
ol W 12,000 (il AN 500
RPN 3, 400 34 & 500
ol W 2,700 3% & 500
TWE 2,000 Al AN 500
T RE 4,800 L A= 500
(il SN 2 1,200 Ay S 2 500
RPN 4, 800 Al SN 1,100
PRt 3, 000 A A 2 500
ol W 500 Al W] 500
R 400 A 3, 600
Ry 3, 600 25 e 1,200
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e £ 2 5 £

EEPY 500 EEPY: 2, 400
EEPY 13, 600 EEPY: 4, 400
EEPY 3, 600 EEPY: 500
Ry 650 3 W 4, 000
Y 5, 700 3 200
Ry 500 3 3, 200
T ¥ 3, 600 %M 400
EERY: 3, 600 Py 300
Y 500 ERY: 2, 400
Y 2, 800 % m 4, 800
Y 4, 800 % m 4, 800
Ry 5, 200 TPy 500
Ry 900 EEPY 500
Ry 500 1M 4, 800
Ry 1,600 B 3, 600
Y 3, 600 32mE 7, 200
Y. 12, 000 PRy 300
Y 3, 300 Ry 4, 000
2% 800 Ry 1,800
2% 4, 800 TRy 4, 800
BT 4, 800 TPy 500
Ry 9, 000 e 8, 600
ey 8, 600 TPy 3, 300
Y 3, 600 % 1 o) 4, 800
Y 500 Y 500
PRy 4,000 Ry 2, 400
Y 3, 600 Y 3, 600
Y 3, 200 Y 500
Ry 4,000 TPy 500
3 2, 400 TRy 500
i E 6, 600 Ry 500
3 3, 600 PRy 4, 800
EgTe 7, 200 Y 3, 600
347 4, 800 Y 1,200
3 iagm 400 Y 900
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- £7%F - £
T F5 3,200 % itk 900
23 5,000 PN 600
(ol SN 3 500 LA 3, 600
Ay SN 2,000 [l A2 3, 600
2R A 3, 300 L A2 7, 200
Ay SN 4, 800 [l A2 500
Ay SN 11, 000 AR 3, 300
E g 3, 600 e 800
e 73 3,600 [ A 300
e 7 11, 200 (o AN 2. 2,400
L PN 3,600 BB 4,800
RS ﬁ 3, 200 [ A 4,800
HA O 8, 800 FEk 4, 800
2y 4, 800 AN 3, 600
i N 600 (LI 4,000
3 E I 900 (2l A 2,000
I 4, 800 Fhed 3,600
I 12,000 e 600
I 800 e 1,000
W 500 Fie® 3, 600
B O 500 Fr B 500
B O 2,100 Fr B 500
N . 4, 800 [ A 3,600
Ry 4,800 P 4,200
WO 500 72 o 500
WP 7,200 e 300
E 3, 600 P 1,800
2 EPF 2,100 [l A 1, 800
Al WO 2 4,400 [ N 2,400
(3l SN 2 1,600 [ A 2,700
(3l SN 2 4, 800 END A ] 4, 800
W 500 34 % 2,400
RPN 3, 600 i 400
HA 4,000 (i A 2 12,000
3 il 3, 600 P4 12,000
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R £3F oy £ 37
P 7,200 LIPS 900
N 3,600 [l A 9,000
FA R 11, 200 [ A2 3, 600
3 g 7,200 L A2 3, 600
R 2,800 R 6, 000
3l A 3,600 R 2,700
Al A 1,200 L A2 3,000
ol SN 2,000 LA 500
e 3, 600 Z 38k 500
ol SN - 4,000 3 ¥ % 4, 800
2P E 5, 600 [l A2 500
(2l SN 2 4, 800 A 2,400
(2l SN 2 2,000 A 4, 800
Fpy 1,500 A 3, 600
(2l SN 2 1, 800 Z R 3, 600
FA R 3,600 (12 AN 22 500
HE OB 7,200 Ry 4, 800
FA R 4,400 (12 AN 22 500
HE OB 7,000 (R A 2 3, 300
(3l SN 2 500 LA 3, 600
(3l SN 2 1,200 LA 3, 600
(3l SN 2 4,000 A 1, 800
(3l SN 2 4,000 A 7,200
% %05 4, 800 AP 500
FA R 14, 000 [l A2 500
FA R 900 [l A2 4, 800
FA R 3,600 [l A2 500
3z i 4, 800 T &® 2,400
[l A= 2,200 [ A 600
% AR 4, 800 LIPS 300
[l A= 100 [ A 4, 800
[l A2 500 [ AN 2 3, 600
[l SN 2 4,500 &% 4,400
% % 2,400 [l A2 500
Zzea 12, 000 e, 9, 000
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- £% R £%F
Y 1, 200 IR 6, 000
Y 2,000 IR 4, 800
R 500 [l SN 4, 800
Ay A 500 B R 500
iy SN 2 2,400 [y NS - 3,300
iy W 2 7,800 [y NS - 600
Al N 4, 800 B 4, 800
il SN 4, 800 3P4 1,200
R 4,200 [l SN 12, 000
TRy 8, 800 Y 500
RPN 6, 800 C I 2, 000
A2l SN 1,800 [l SN2 2,000
22 % 2, 400 ERR N 3, 600
Al N2 4, 800 (I 9,000
PN 500 w2 R 300
R 4, 800 Z 4P 4, 800
PRy 2, 400 PR 3, 600
Ay AL 1,500 (EI A 4,800
Y 4,800 Ry 500
3 HER 3, 600 [ 500
R 2,000 EERY:. 500
EES 4, 800 [l NS 21 3,600
ERE 3, 600 3 Pt 7,200
AR 2,700 2l SN 500
3 T4 3, 600 (I A 13,200
-4 4, 800 (i A 6, 600
EA 4 7,000 (Cl A2 2,000
AR 6, 000 e 2,300
B O 500 (I A 4, 800
% 2de 4, 400 3 E 4, 800
N 3,000 PR 4,000
RS2 7,600 (R A 2,000
LIPS 2,000 3 A% 4,000
(i - 3, 600 L 3, 600
=l WY - 3,000 i SNy 2 1, 200

-47 -




B A e Foik kg
113 & B 42 470

o £ oy 8 £3F
(i - 500 " om 500
(il - 10, 000 W om 500
(i - 12, 000 " om 900
T 8 3, 600 [ N 2,000
SRR 1,500 Ry 500
LTy 3, 600 (I I 800
I 4,800 EEIRY: 2, 000
(il - 4, 800 "o 500
EERY 500 [#3 2@ 3, 600
Ry 2,000 L 3, 600
PN 500 w2 o B 500
I SO 1, 200 B R 500
I SN 3,300 B R 500
PN 3, 600 w2 R 500
PN 3, 600 3 R4 300
Ry 2,500 RPN 7,200
3k 12, 000 G IR 3,200
W 5, 600 (L 3,900
PN 500 w2 o 9, 600
I SN 2,400 B2 oR 4, 400
B O 500 Fr B 4, 800
TIPS 4, 400 3 R4 12, 000
i N 3,600 B2 oR 4, 400
DN 500 e S 4,000
Ry 2,000 Ry 6, 000
WO 2,700 #r 5,200
Y 4,700 Gl P 6, 000
B O 300 (I A 3,200
Ry 500 @3 B 900
RPN 7,000 #ANE 3,300
R 2,800 #rNE 3,600
ERES7S 3, 600 RS 3, 300
R 3% 1,200 [l A2 3, 600
=l W 2,000 2l SN 1, 600
=l W2 2,000 2l SN 500
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&3 i £

500 EEA 2,000
1, 800 [ A= 500
500 B3 B 4, 800
2,000 B3 o 6, 000
1, 200 B o 3, 200
1, 800 B3 o 2,700
8, 583 B3 R 100
6, 900 ey A 1, 800
2,400 [ A= 2,100
3,600 [l A2 4, 800
2,800 [l A2 4,500
500 AR 4, 800
500 2 RAa 6, 000
6, 000 e 3, 600
400 [l A2 6, 000
500 N 3,600
2,000 [CIr A= 2,400
2,100 [l A2 900
3,900 32 2,100
14, 300 3 —“f 3, 600
2,400 2 e 4, 800
500 [ A2 4, 800
400 A A2 500
500 [l A2 2,400
3,600 [l A2 2,800
600 [l A2 4,600
3,600 [l A2 4, 800
500 [ A2 3,400

4, 800 L A2 500
1, 600 (LA 200
500 (LA 500
500 (L A 12,000
500 (LA 3, 000
500 (LA 4,600

3, 600 Fr R 6, 200
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- £7%F - £3F
[ A 2 500 TR 4, 400
[ A 2. 4,200 TR 6, 600
(ol SN 3 9, 600 Z2 % 2,000
Al A 500 L A2 500
3l A 2,000 L A2 4, 800
3l A 500 L A2 3,900
Al A 500 L A2 2,000
FA R 2,000 [ A2 4, 800
(3l SN 3 2,100 3232 4, 800
[ A2 2,700 (2l A 3, 600
(Ul A 2 3,600 H2 B 2,800
(2l SN 2 3,000 [ A 4,000
3 R 500 [ A 1,000
3 R 3,600 [ A 500
(2l SN 2 500 34 7, 200
[l A2 2,400 HA o® 11, 400
[l A2 2,000 2R 4, 800
[l A2 500 Z2Eg 4, 800
FA R 500 [l A2 500
ZiR A 500 TR 2,700
ZiR A 500 TR 3, 600
ZiR A 3, 600 TR 4, 800
ZkRA 2,000 [l N1 3,200
ZRA 4,800 (L A2 4, 800
FA R 3,600 [l A2 500
%iirbn% 2,000 AR 3, 600
% e 4,800 =iy A 3,000
[l SN2 4,800 [ A 2,000
[l SN2 14, 300 [ A 2,700
[ A 2 500 FE 600
[ A 2 500 TR 600
ZHE 3, 600 [l A2 300
[l A2 7,000 HAr R 500
[l A2 3, 000 HAr R 3, 600
[l SN2 500 (L A 2,700
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LAk &% LA £
TRz 4, 800 [ A 8,000
(i N 500 wA o 7, 200
A ;é?l 1,500 [l A 200
HA NP 900 HA o 100
% &pk 4, 800 #A o 2, 400
HA NP 500 HA o 4, 800
HA NP 2, 800 #A o 3, 600
(i N 2,400 wA o 3, 600
[ A 2 500 [l A 12,000
31 # 3, 600 HA N 500
ol W 2,000 R 23 4,000
e 2,400 [ A 3, 600
(2l SN 2 500 TR 500
WO 3,600 NN 9,600
B 900 A 2,100
Z R 600 (2l A 2,800
(i 1,000 HA N 500
FE 3, 600 (2l A 500
25T 9,600 (2l A 500
3 % 7,000 3 IhE 3,000
(3l SN 2 4, 800 [l A 12,000
[l ANz 6, 000 [l A 600
[l N 2 3, 600 = 4,400
BB 4,000 HA O 4, 400
2% A 12,000 =iy A 500
2% A 2,000 =iy A 500
% ek 1,800 =iy A 3, 900
% iE 12, 000 BA o 4, 800
3 7 3,600 A 500
3 R 3, 900 % iFm 7,200
(3l SN 2 1, 400 [l A 3, 600
DN 600 @A 2, 800
DN 4, 800 HA N 800
DN 1,600 HA N 5,000
AN 300 e S0 3, 000

-51-




SRS T ACEE S N

113 4 B 4 4788 i 9

oy 8 £ oy 8 &%
3 1% 3, 600 LA 500
[N 3, 600 LA 2,000
[l A2 500 [ A 4, 800
3 i 3, 600 R AP 600
F ik 1, 800 e 4, 400
Ry 3, 300 R IPY: 7,200
EX T 4, 800 WO 2, 400
(il - 6, 600 "o 400
(i - 500 " om 500
ZE» 4, 800 N 4,000
(LA 500 (R A 1,495
(il SN2 2,100 R AR 500
(=l SN2 3, 600 R AR 2,400
(=l SN2 500 R AR 3, 600
(=l SN2 3, 600 R AR 500
PN 3, 600 2 B% 2, 400
s s 4, 800 (=l A 2,000
Ry 6, 000 RPN 3, 300
(LA 13, 200 (R A 2 500
AR 3,000 [ A 500
[l SN 2,000 A 12, 200
AR 800 [ A 500
z¥3 1,200 [ A 1,800
PN 500 (L P 3, 600
3 ¥ 2, 000 Ry 3, 600
EAR LY 500 (N2 3, 600
238 600 [l S 2 400
AR 3, 800 R A 1,200
AR 4, 800 [ A 500
(ol A2 500 [ A 4, 800
(ol A2 7,200 [ A 7,200
[l A 2,000 (R A 1, 200
Al A 3, 600 (R A 500
T 8F 3, 600 Z Ex 3, 300
AR PN 16, 800 FEE 3, 200
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H3ﬁ&ﬁiﬁm¢

A &% R &%
AR 3, 600 RN 4, 400
FRES 2,000 [ A 3, 800
AR 500 B2 o R 3, 600
(R A 500 B2 o 1,500
I I 3, 600 FH#IT 4, 800
A=l AN 500 LA 2,800
A=l AN 500 B2 o 6, 000
(L A 900 B A 2] 2,700
(ol A2 7,200 ZET 3, 600
AR 2,000 [ A2 3, 600
e 1,200 e 4, 800
iy SN 500 % BIR 3, 600
iy SN 3, 300 R AR 3, 600
(3l AN 2,000 TR 4, 800
F okb 3,000 s S 4, 800
[ A 500 (A 500
AR 4, 800 AR 4,000
AR 1,500 (=l A 2,000
WD 3, 600 e 4 1,800
[l SN 500 FH 3, 600
EEEY e 2, 400
Y. 4, 800 R AP 500
2 900 % #a 2, 800
3 E% 500 (R A 2 2,400
3 E% 3, 600 (Cl A2 4,000
[ A 4, 400 ZR% 2,200
[ A2 4,800 (L2 AN 2. 2,000
ol SN 500 [ A 3, 600
[l SN 500 AR 2,000
AR 500 [ A 7,200
AR 500 [ A 500
F 4B 4,800 HA o 4, 800
(3l AN 500 (L A2 4, 800
(3l AN 1,200 L A= 4, 800
1 4, 400 R 3, 600
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LA &7 - &3
HA R 500 [l A 400
(i IO 10, 400 DN 3, 600
(i IO 3, 600 IO 200
WP 4,000 DN 2,700
RPN 500 LRI 4, 800
AN 3, 600 LRI 11, 200
Y 500 BT 3,000
(i IO 2,000 = 1,500
e 4, 800 DN 1, 600
(A AP 400 RPN 500
(A IO 500 LI 500
Ry 500 B 4, 800
TRy 3,000 (WO 4, 800
TRy 10, 000 (WO 3, 600
Ry 7,200 HiE % 3,000
(IO 4, 800 LI 500
Ry 3, 300 LI 1,000
Ry 1,000 LI 4,000
Y 12, 000 - 4,800
LRI 500 WO 2,400
Y 1, 600 WO 500
Y 500 WO 500
Y 3, 200 WO 12, 000
Ry 600 BEFEA 3, 000
TIPS 3, 600 A7 7,200
Ry 2,400 B R 3, 600
H 3 jfadk 4, 800 B 3, 600
o 1,200 WO 3, 600
1B 4, 800 WO 7,200
R 3, 600 I 4, 800
Y 500 kT 4, 800
Ry 3, 600 AP 400
Ry 500 RPN 2,000
# iF s 3,600 [l A2 500
Ry 2,000 RPN 3, 600
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PR A Edo~ ik & g
H3ﬁ&ﬁiﬁm¢

LA £ i &%
HHEE 2, 800 EEIPN-" 4, 800
P 3, 600 EEIPN-" 500
P 2, 400 (PN 3, 600
Y 12, 000 w3 R 4, 800
By 4, 400 YRS 4, 800
T 4, 800 PP e 1,600
1138 47 4, 800 RPN 3, 600
Ry 1,200 PP AT 4,000
P 2, 400 EEIPN-" 2, 400
P 1,800 Ry 3, 600
P 4, 800 Ry 2,000
Ry 2,000 RPN 500
Y 4, 800 RPN 500
Y 4,200 RPN 500
RPN 3,000 b 1,800
Ry 3, 600 hoE 4,000
R 3, 600 Ry 500
PN 4,000 iz 4,800
Ry 1,200 it 3, 600
Ry 6, 000 RPN 3, 600
Ry 500 EEAPN-" 4, 800
Ry 4, 800 EEAPN-" 1,200
Ry 2,000 ke T 4, 800
Ry 4, 800 RPN 500
AT 1,200 RPN 300
AT 300 R 4, 800
[l SN - 7,200 [l S 2 4,000
Ry 7, 200 RPN 500
Ry 3, 600 R AP 2,000
P 4, 800 I IPN- 4, 800
P 500 IO 1,800
Ry 4,000 RPN 600
Ry 1,500 EEPY- 2, 800
Ry 4, 800 EEPY- 500
Ry 2,000 o 5 2,000
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R £ A £

(I 300 A 300
B 3, 600 P A 4,000
ik 4, 800 B 500
VS -2 4, 800 RN 900
(i W2 2,400 (i W22 3, 600
(i W2 6, 600 (i W22 4, 800
P 500 i 2, 400
HA O 5,000 [ 4, 800
HA O 500 [ 500
AR A Y 6, 000 (I A 500
A WO 4, 800 wr O 500
R 500 |1 o 500
I 400 (e 4, 400
P 12,000 i E 3, 600
Y 3, 300 Ry 3, 600
(i WP = 4, 800 Ao 2,400
(N 3, 600 I Y 4, 800
HA O 4,000 @A 2,100
(i WP = 3,600 Ao 500
(- 2,000 (L 1,600
SN 4,000 (LI 3,600
[ S 12, 000 AT BRER R 3, 600
(- 2,000 o7

Ry 13, 600 RPN 2,700
A 2,400 |[AEF A 3, 900
EEPY: 4,000 A g EA 3, 600
(il PN 2,000 (N 4,800
R 14, 400 IR 3,600
PRy 3, 200 LU N 1 8,000
HA O 8, 400 [ 1,600
Y 5, 300 IR 7,400
WO 500 w2 F 3, 600
% PR 1,200 (A 2,000
EERY: 10, 500 w2 op 500
2 o 3,600 |72 3, 600
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oy £7%F o £ 37
(=l A 4, 800 [ A 500
(il A 4, 800 [ A 2,000
(=l A 10, 800 [ A 2,000
(L A 6, 000 [ A 500
Uk B IRT 4, 800 A 500
LEEEF AP 5,000 B R 2,000
[l N 4, 400 [ A 500
(il A 3, 600 [ A 3, 600
(=l A 500 [ A 3,000
BERR%ET AP 2,700 (LI 3, 800
(il A2 4, 800 (=l N 3, 200
ol SN 2 3, 600 [ A 500
AL E N gt 9,600 BB 600
USP AN [ A 500
(il SN2 500 B DR 900
ol SN 2 2,000 il N2 500
(=l N2 4, 800 il N2 3, 300
(il A2 2,400 il N2 500
F < 4 3,600 (2l A 2 4, 800
[y A2 3, 600 ol A 2 3, 600
=33 1,200 ~R 3,000
[l A 500 Ly S 2 4,500
F oIk 4, 800 Ly S 2 300
(=l SN 2 500 (2l A 2 3,000
* ¥R & 3, 600 FEIANF 6, 000
(il A2 4, 800 (2l A 2 4, 800
AR 10, 000 (2l A 2 2,000
(il A2 4, 800 Ly S 2 2,100
AR 500 Ly S 2 1,500
[l A 2,000 Ay S 2 2,000
R F 4, 800 Al SN 4,200
iy A 2,400 2l A 2 4, 800
[l A 500 Al A 900
[l A 500 A A 2] 1,600
(il N 2 4,900 Al AN 5, 400
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i &4 kia £

R - 6, 600 5 RE 3, 600
~ P (Ll S 2,000
ERF AT LR 4, 800 WD 2,000
DN 3,600 DN 400
PPN 8,300 AN 3, 600
EREHIAET 1,000 DN 4, 800
N [l PN - 2,400
-l SN 8, 600 [l A - 400
A N 2 500 [ SN 2,000
kEF AL 12,000 RPN 7,200
3P ol SN 4, 800
gy L 4,000 (LN 7,200
2 F [l SN -1 3, 600
BAe > § D 7 7,000 [ A 3, 600
BA N 4,400 ol W] 500
(il WA= 2,400 (i A= 400
N . 500 B 5 p 3,000
(il WA= 500 (i A= 1, 200
i SN 500 (ol N 10, 000
¥ R4 3,000 [l W2 500
2l WL 3,000 WA 800
SN 7,200 [l SN2 500
ol WA o) 500 ol A 500
(i NS - 500 (2l N 2 4, 800
(i NS - 4, 800 (2l N 2 2,000
(i NS - 7,200 (2l N 2 3, 600
ol SN2 3,600 i SN 500
[l A 1, 800 B 3 12,000
I 2,100 WA 4, 400
L SN 4, 800 B I 4, 800
il A= 2,000 [l SN 3,600
i SN 500 w2 OB 1, 200
Iy 2,700 w13 3, 600
(il SN 1, 800 A oB 3,000
i SN2 13, 600 By E 1, 500
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i &% aia £

LR 2,000 [ A 7,000
B R 3, 600 L 2,800
EERY 500 [#3 2@ 1, 600
B I3 4, 800 [l A2 3, 600
P 4,800 Y 600
B 3, 600 B R 42 5, 800
PN 2,000 (il SN 1,600
' EEY:. 3,000 |[#7 2@ 3, 600
R 3,000 LA 1,800
PN 500 w2 o 500
DN 1, 600 Ao 4,800
i it 300 A 7,200
i N 500 [ 7,200
i N 500 [ 3,600
[ A2 4,800 TR 500
LAY 600 (o AN 2. 3, 600
Ry 4,000 B D 10, 000
A SN 1, 800 BB 1,200
3l SN 3 4,800 (R A 2 3, 600
[ A2 4,000 TR 4, 800
B O 4,000 Fr B 10, 000
A WO 500 L= 4,400
e 2, 400 HA D 12, 000
I 500 72 o 4, 400
R 3, 600 (L2 AN 2. 5,000
P 6, 000 #Fr o 800
oA 12,000 (L2 AN 2. 2,700
B gk 5, 800 [ PN 4, 800
Y 6, 000 (L I 3, 600
(3l SN 2 3, 600 TR 500
W 500 (i A 3,600
I SN 2,000 LS 1,600
I 3, 600 PN 3, 600
(i NS - 3,600 (il N 2 500
[l SN2 2,000 [l A2 500
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i £ i £ 57
(L 2,400 ¥ R 4,800
(A 2,000 "o 500
[ 3, 600 w2 1,200
LS 12,000 ¥ R 400
@ o 7,200 ¥ AR 4,800
(R A 3,600 2o 12,600
@2 @ 3, 600 R IPY- 3, 600
¥EF 3, 600 ¥ 3 3, 600
(L 3, 600 SRR 6, 000
w3 o m 500 ¥ &4 3, 000
CI < 2, 400 R I 900
(N 4,000 (LA 3, 600
(N 000 (LA 3, 000
P A 4,800 wr o 3, 600
w3 R 12,000 wr o 3,200
Ry 400 B d 1,200
WD 500 LR~ 1,700
(L 400 (A 500
AR 4,800 L 12,000
(L 3,600 ¥ AR 4, 800
(L 4,800 i 1, 800
(L 000 wr o 500
¥ 3R 1,200 [ 500
(P 500 ¥R 4,800
R 500 (A 2,000
A 4,800 (A 500
(P 3,700 (A 4,800
(L 3,600 wr o 3,200
(L 1,000 wr o 500
¥ A Ak 4,800 [ 500
(L 11, 600 wr o 400
LG 4,800 ¥ A 7,200
¥4 4,000 I 3, 600
¥ R 2,400 H2r oM 4, 400
@2 o 3,400 (SN 500
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R £7%F A £ 37
EEEY. 6,400 @3 2@ 1,500
#73 2@ 5000 @7 o 500
EERY 500 [#3 2@ 3, 600
LRIy 6, 000 Ry 500
LIPS 6, 000 Ry 500
P 6, 000 SN 7,100
G WP = 1, 800 R = 4, 800
R 4,800  |@ a@ 1, 000
(i - 4, 800 " om 500
C I 500 (= 3,600
¥ 4,800  [%3pi 5, 600
EERY:. 4,800 |#7 2@ 4, 800
¥ iE 3, 800 wA 900
PRy 600 Y 900
N 9,200 B R 1,500
HA OB 2,400 (A 2,400
I 7,200 72 o 12,000
Ry 4, 400 Ry 1,200
HA OB 3,000 (A 500
[l N 2 1, 600 LR RN 800
PRy 800 Ry 500
w43k AR T 3,900 R 11, 000
a Y 3,600
ol SN 2,000 (2l SN 3,000
ol W 1,600 TPY 3, 600
WO 500 R SN2 500
¥R 4, 800 Al WO 4, 800
ol W 3,000 A SN 2 1,000
F2 NP 1, 800 Al AN 3, 600
A DN 1,800 i W2 13, 200
Al A 500 Al SN 3, 600
2l A 2 600 A A 2 2,800
B 3,600 A A 500
i TE 3,600 TR IPN 3, 600
=l SN2 4, 400 A3l N 2. 500
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o £ oy 8 &%
H2 O 4, 800 fe i £ F AL 5, 600
H2 o 2,400 L AN 7,200
H2 o 4,800 @2 A% 8,000
5T & 3,600 3
Al N2 3,600 fe Bl s L@ 400
Al S 500 LA 4,800
Al S 500 [ A 3, 600
7 A% 1,200 LA 3,000
H2 R 500 (LA 4, 800
RV 2,000 (R A 4, 800
Y 900 KALF LG 2 4,500
HE O 500 =¥
[ A 500 B R 900
I 4, 800 Fr o 2,000
I 500 PG 3,600
R N 3,000 A 300
TREEF AP 4, 800 AR REEET 4, 800
g QLR R 4 2,800 e
i WP 4,800
RN 6,000 |[#7 2@ 2, 000
W OE et 3,100 (2l SN 3, 600
Y 4, 800 P 3,900
PRy 2,000 i AP 500
B3 4, 800 AR 12,000
Ry 3, 600 [ A2 4, 800
R N 1,200 (I 3, 600
R N 2,800 (A 500
FaAnA B fEA 4, 800 (LA N 3,600
Y 3,000 P 500
R R R I 7,200 Ao 500
AR P 1ART 300
F i 400 L 9, 600
Al FF 1P 3, 600 LT £ FFF 2,000
I D 5,400 =
PRy 10, 800 bR TR R 4,800

-62-




SRS T ACEE S N

113 4 B 4 4788 i 9

oy i E £% oy £%F
BNES (LN 4, 800
Y 5, 400 R B 4,800
EERY 500 [#3 2@ 3, 400
Y 4, 400 GEIR: 500
PRy 1,800 [+ & 6, 600
Y 3, 600 IR 3, 600
Y 4,700 IR 2, 800
Bow fF AR L 900 i 3, 600
4 (LI N2 2,000
4T & 1,200 [Hk* 4 3, 600
(=l S 2 1,600 il N2 500
WD 3, 200 WP 800
PRy 4, 800 HF 2 12, 000
R 5,000 R AP 7,200
(=l SN2 1,800 S 600
Ry 900 Ha % 3, 600
e MEdL£s 6, 000 D2 4,800
a R 6, 400
I S P 6, 600 Ha A 1,200
LEBRFERT T 7,200 R EPN- 2,200
NS [y A 2 4, 800
LER 2T £ 4, 800 [l NS 2 3, 600
a9 LI 14, 400
ol SN2 3,600 i SN 500
-k 4,800 w3 B 500
(i SN - 600 (2l N 2 2,000
ol SN2 3,600 i SN 500
g 4,200 Hol & 1,800
Al WS 1,600 Pl W] 3,600
3 4, 800 [l A 500
(i PN 4, 800 ez w 3, 300
i SN 400 w2 OB 3,600
(il SN 500 @ 7,000
(il SN 4, 800 A oB 2,000
T 4 4, 800 L N2 3, 600
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- £%F A £%F
>z 3,600 (i N 2 3, 600
(il A2 500 oo 4, 800
[l A2 500 [ A 3, 600
e v 4, 800 (A 1, 800
(R A 3, 600 [ A 3,600
< G 6, 000 HRITE 3, 600
[y A 2,400 FRITHF 4, 800
(ol A2 3,000 [ A 2,000
(=l A 4,000 HRITHk 3, 600
Al A 1,200 (=l A 500
Al A 4, 800 (=l A2 4,000
(il SN2 4, 800 R AR 400
(il SN2 4, 800 R AR 2,400
R E 2,900 R AR 4, 800
I E 3, 600 [ A 2,100
P E 3,600 (=l A 800
Ry 4, 800 RPN 2, 700
DN 500 (P 1,600
i 3, 600 (=l A 4, 800
K 1,200 RPN 4, 800
O 1,200 AR 4,000
(il SN2 500 [ A 6, 600
(il SN2 500 [ A 1,200
(il A2 500 (i ] 500
(il A2 500 (i ] 1,800
(il A2 500 (i ] 2,400
ok 2,700 RPN 500
B R 600 R A 4, 800
et A AT ik 2,400 e 2,100
7 [l A 1,800
(ol A2 3, 600 R 3 4 4, 800
R 6, 600 N 1, 800
R 300 (il AN 2,000
% 300 Hi = 4, 800
IR 12,000 Hi = 3, 600
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2 £%F L £4F

I 500 HAOE 4,000
EERY 3,600 [#32m 3, 600
Ry 500 o 2 4,800
PN 4,000 o 4, 800
i WP 2,000 HA R 3,600
PN 3,200 o 3, 600
PN 4, 800 o 3, 600
R 900 [#3 2R 1, 200
EERY 2,000 [#3 2@ 3, 600
HA o 500 (i PN 3,600
B 300 HA o 500
i 3, 600 (L 500
O 900 [l Ny 2 1, 200
o 3, 600 [l Ny 2 2,400
PR 7,200 [l Ny 2 7,200
RPN 3, 600 HEE 3, 600
Y 500 ke 4,800
HA o 4, 800 (i PN 1,600
WP 3,600 (I 400
% 1,200 AR 500
R I 4, 800 #r o 500
R I 7,200 #r o 4, 800
HE R 4, 800 (e 500
HF i 16, 800 (R A 2 4, 800
PN 5, 200 PN 4,800
PN 500 (L P 3, 600
PN 1,600 PN 500
o= AT 3,000 [ A 2,000
R I 7,200 #r o 4, 800
ol SN 2 500 [l A 800
H4td 3, 600 (=l Ny 22 1,000
T3 o 500 Y. 2,100
DN 7, 200 (2l SN 21 12,000
AN 1,200 2 300
Hp % 3,600 (L AN 2 300
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LR &3 A &3
(i IO 1, 600 HA O 3, 200
(i IO 3,600 HAOE 2,000
(i IO 2,400 e 4, 800
Hei 6, 400 e 2,100
RN 2,000 S 3,600
A 3,000 HA O 2,400
RN 1, 800 HA OB 3,600
(i IO 4, 400 HAOE 600
(i IO 500 (N 2 300
(A AP 400 WP 1,000
RN 4, 800 WP 500
RN 4, 800 (WO 500
R 3,600 (WO 500
R 3,600 (WO 3,600
Hoio & 3, 600 I 2,400
RPN 500 WP 500
(IO 3, 200 WP 4, 400
(IO 4, 400 WP 4, 800
(IO 600 WP 13, 200
RN 2,000 WO 500
R 500 (AN 2 500
i 300 WO 3,600
i 3 3,600 (AN 2 500
Hip % 4, 800 WP 500
(IO 500 WP 500
(IO 500 WP 1,000
(A IO 4, 800 WP 500
RN 300 A T 3,600
R 500 WO 11, 000
S 500 WO 3,600
S 2,000 I 2,400
A 2 4, 800 I 500
RN 500 IO 2,100
RN 500 IO 500
A E 1,500 (ol N 7,200
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- £ - H £3F
FA R 3,600 [ A2 4, 800
HE# 600 [l A =2 2,000
(ol SN 3 500 ik T 2,800
Al SN 500 L A2 3, 600
3l A 3, 600 L A2 500
EE 4,100 ik 3 6,400
Al A 6, 000 HikF 3, 600
I 3, 600 [l A 500
T 4 500 [l A 2,400
T 4 1,200 (2l A 4,800
FA R 300 [ A2 4, 800
(2l SN 2 4,800 [ A 3, 600
Ry % 3, 600 R 4, 800
Ry N 2 2,000 [ A 3,000
(2l SN 2 2,100 ) 4,800
ik 3, 600 HiE e 4, 800
A2l SN ) 4,800 izl 4,000
[l A2 1,200 izl 1,200
T 3,600 (2l A 1,800
L A 500 [l A 600
Al N 2 9,000 [l A 2,000
Al N 2 3,600 A SN 2 3, 600
o 4, 800 i 4,000
B3 O 6, 600 iz R 3, 600
B3 O 7,200 iz R 4, 800
B3 O 3, 600 iz R 2,600
B3 O 100 SERES 500
(3l SN 2 500 R R 300
by 4, 800 SRS 300
A o 11,000 A2 SN 2 2,000
L A 900 REF 3, 600
A S 2/ 500 A A 3, 300
A S 2/ 5, 200 A A 500
Ay SN 1,200 A A 500
A S 2 3, 600 A2 AN 2,800
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LA &£3F LA &3
N 3, 600 (i PN 4, 800
N 7,000 (i P 2,000
Y 4,000 AP 4 1,200
A 2, 400 +hF 3, 600
i PN 500 LRI 500
i 3, 600 HTE 3, 600
HhiE 4 4, 800 LRI 11, 200
Y 9,000 HEE 12, 800
Y 500 hFE % 500
Y 7,200 % 3,900
TIPS 2, 800 HEE 900
R 5 3, 600 HEF 4, 800
Ry 2,700 (AP 3, 600
Ry 4, 800 (AP 3, 600
Ry 500 R AP 6, 000
(N 500 PN 1,600
R R 500 I = 4, 800
R R 4,000 I = 600
R R 3, 600 CEIPN-" 4,000
i PN 7,200 I = 600
Ry 4, 800 HF % 3, 600
Ry 500 = 3, 600
Ry 12, 000 Ry E 1,500
He R PF 7,200 HE R 500
TIPS 2,000 HE R 4, 200
TIPS 500 HE R 4,000
(i PN 6, 000 P 2,400
Y 5,000 thE % 500
A i 3, 600 thE % 2,000
L 3 4, 800 ¥ 3, 600
Y 3, 600 g 600
Ry 1, 800 R AP 3, 600
Ry 8,000 ey # 500
Ry 1,800 oy # 1, 800
Ry 3,000 ey # 3, 600

-68 -




B A e Foik kg
113 & B 42 470

L3 £ L £

SR 5, 600 eI 2,400
R 3,600  [thirE 500
B 500 e & 2,800
Al SN 21 400 2 S 2 3, 600
Al AN 21 3, 600 HA OB 3, 600
Al SN 21 7,200 HE % 3, 600
Al AN 2 4, 800 HA OB 3, 600
B 2,000 P ¢ 2,800
[ A 3,000 L A 7,200
[ A2 2,000 P F 1, 500
(LA 2,400 (L A 500
(ol SN2 7,200 AR 500
(ol SN2 4, 800 AR 3, 600
iy SN2 1, 200 AR 4, 800
HE 4, 800 P 45 2,400
[ A2 10, 600 [CIr A= 3,600
[ A 500 [ A 2,100
B 4,000 Hp 4, 800
i3 3,600 HP & 4, 800
B 3, 600 [l A2 4, 800
B 2,000 HRpTE 4, 800
(ol SN 4, 800 [ A2 2,000
et 27,400 [l A2 2,400
e 1, 600 L AN 2 4, 800
e 12,000 i 4 900
e 3,000 L AN 2 3,600
e 4,800 [tkscts 1,800
e 1,000 [t 4, 600
et 7,200 [l A2 3, 600
Hile% 1,200 (LA 3,600
B 3,000 % & 2,400
2 SN 3, 600 H %R 8,000
il SN 1, 000 H % iR 3, 600
2 SN 1, 200 L AN 4, 800
FA 3, 600 Az 2,400
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i &% aia £

DN 3, 600 I 3, 600
EEPN 3,000 AP 500
EERY 500 [#3 2@ 2, 800
Ry 2,000 RPN 4,100
A=l AN 500 LA 4,400
HRIciE 1,600 LA 500
(il A2 4, 800 [l S 1, 800
R 500 (@3 2@ 3, 900
itz 1, 200 i IPN- 500
Y. 500 SR 500
PN 500 w2 o B 3,600
SRR 5, 600 @3 OB 2, 400
Ry 3,600 RPN 2, 400
Ry 500 RPN 500
ths s 4,800  [HrEx 2,400
PN 600 w2 o 4,800
(N 600 FRE A 3, 600
Rz 2,400 A 4,200
HF e 3, 600 (2l A 4, 800
o 4o 700 (L 3, 000
A e 4, 800 w2 oR 500
N 1,500 o4 3,900
I SN 500 @2 R 1,200
DN 600 Al N 2L 11, 600
DN 1,500 @72 R 500
ol SN - 3,600 Al SN 500
A W2 4, 800 Al SN o 500
I SN 2, 800 @2 R 500
Ry 4,800 kR 500
w3 o 600 @3 500
H> A 3,000 (L A 3, 600
CRIR 500 RIS 500
ﬁz%”;éfl 500 A A 214 4,800
s 4,000 2l A 2 3, 900
Azl L 500 Al W 3/ 4,000
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i &% aia £

EERY 800 [#®32m 3, 000
Al WA 500 [ SN 16, 800
[l N 1,000 [l 4,400
i P 300 [ 8, 000
5 1, 200 [ 9, 600
Ry 1, 600 (P 500
Y 2,400 EERY: 8,000
(il - 4, 800 "o 400
(i - 500 " om 900
PN 100 w2 o 4,400
R 9, 800 R 4,800
i I 2 6, 200 e 800
iz 2 3,600 R 2,400
R 3,300 EE 3,200
R 4,800 |#7 o 500
EEPY: 4,800 RPN 3, 600
(P 2,700 3o 4, 400
(L PN 12,000 A 500
(i S 2 4, 800 (A 500
SRR 500 |1 o 500
SR 500 |19 o 4,000
[l A 4,800 iz 2 3, 600
SR 600 |17 @ 2, 000
PN 4, 800 i TE 1,200
R 2,300 Y 4, 800
@A 500 P #® 2,000
s 600 Hp® 4,800
(= 3,600 (A 3,600
PR 2,000 LR 3, 600
[l N 6, 000 (I 500
s 4,800 |#7 o 3, 600
PN 500 (2 4,800
iy A 800 (I A - 9, 600
Al W 500 iy W 3, 600
R # 4,800 L2 800
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- H £ R &%
Y 500 it 7,200
EERY 4,800  |@ 2@ 4,400
EEY: 500 e v 4, 800
i WP 500 HA O 500
i WP 2,000 HA R 2,000
e E 2,400 o 4, 800
i WP 4,000 HA R 600
DN 4, 800 DN 11, 600
EERY 5,600 @3 2@ 4,800
PN 4, 400 (L N 500
Ry 4,000 s 3, 600
AN 500 HEE 4,500
R WP 500 #r o 500
O 4, 800 B 12,000
Ry 500 it % 2,400
I 500 (A 500
HA o 3,600 (i PN 4, 800
WD 500 (L 1,000
WA N 900 il SN 500
WP 3,600 @2 o 500
Hhph 7 2,400 ol N 2] 3, 600
RIS 3,000 (PN 1,200
Heps % 300 A g 500
Ry 3, 600 A G 3, 600
s 400 PN 500
PN 4, 800 @ 4,800
I 500 A AP 500
R 500 i SN 500
3 & 4, 800 @73 R 500
R 500 2l A 500
3 B 11,000 il A 2L 1, 600
L WPy 11, 000 i SN 500
WA 2,500 i % 5, 400
I 2,700 PN 3, 600
Ry 3,000 Ry 5, 200
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- A X1 i £ %
R 8,800 [tz 500
(i = 500 W om 500
(i = 6, 000 " om 800
(LA A 2,100 HER 1,500
i 3, 600 A 2R 500
HE L 1,000 [CI A 500
(LA A 800 A 2R 500
[l AN 21 500 R E % 2,800
[CIIA 500 3R 1,800
[CIIA 3,200 (N 3,600
#2oR 500 B2 2R 3,300
[l A 500 [Er N 500
[l A 3,400 [Er N 2,100
[l A 3,600 [Er N 11,000
[l A 800 [Er N 6, 600
i % 500 it = 4, 400
k¥ 2,000 IR 3,600
i % 4,800 B2 2R 4,800
i % 1,000 B2 2R 4,500
[l N 600 [Er N 3,600
[l N 3,600 [Er N 4, 800
e 5000 [tkER 1,000
HZE 3,600 [Er N 500
[CIEIA 500 (A 500
[CIEIA 500 (A 900
R E 4 7,200 (A 500
(A 500 (N 2,000
[l N 7,200 [Er N 4,000
P 500 i3S 4,000
#3aR 500 [E 500
#3aR 2,100 [E 400
FAr N 500 (N 500
(LU A 500 ARG 800
FAr N 400 (N 4,000
FAr O 500 (N 3,600
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2 £%F e &9

(i - 600 " om 300
N 5,400 NN 3, 600
(i - 4,200 " om 900
HE R 4, 800 (I I 500
Hi = 4, 400 2o 500
Y. 6, 000 [l A 500
Y. 600 [l A 500
(3l SN 3 500 R 4, 800
PN 6, 000 DN 1,000
HF & 2,000 e 4,800
HE % 4,800 (12l AN 21 7,200
A b 900 [ S 2 500
RPN 4, 500 [ 500
R 500 H R 3, 600
Ry 7,600 R 900
PR 4, 800 Hops 500
PN 500 (L Ny 500
HA o 3,600 (i PN 6,500
Y 12, 000 R 2, 000
RN 500 HA NP 400
RN 4, 800 HA OB 400
R 600 HA NP 3, 600
RPN 3, 600 [ 1,200
Y 500 RS 3,600
| 3, 600 RS 4, 800
AN 9,600 Ry SN 2,000
PN 4, 800 PN 12,000
R 4, 800 #AoE 500
Y 500 [l Ny 2 2,000
Y. 2,000 #ANE 2,400
TIPS 3,300 #rNE 3,600
PN 2,700 N 3,600
O 12,000 A WA 3] 2,100
|3 o 6, 800 FREF & 1,200
RN 3, 600 A WA 3] 500
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&3 LA &9F
2,400 HE 4, 800
2,400 [@7 2m 500
3,000  [Hkiek 3,600
3,0000 |#7om 900
4,800 [@7 om 1, 200
3,800 [#7om 3,600
72000 @2 o 500
3,600 [waam 2,700

20,400 [@3 2@ 7,000
14,0000 [@3 2@ 7,000
14,8000 [w 2@ 3,600
2,700] |#7 om 500

600 |®a o 500
3,800  |[Hk# 4, 800
500  [HhE 500
4,800  [H% # 6, 200
1,200 [tRE e 3,600
3,600 [waom 500
3,600 [waom 2,000
1,200 [tk 3,600
800|  [HE 500
4,800  [thE 600
500 |@a o 6, 600
5000 [@a o 500
5000 [@a o 500
4,0000 [@7 ap 3,200
5000 [@a o 9,000
1,600 [@7 o 1, 800
2,4000 |#7 om 800
12,0000 [w2 2@ 5, 400
500 [tk 1, 800
3,3000 |#7om 6, 300
5000 [@a o 1, 800
4000 |@aom 500
3,600 |#7 o 6, 000
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- H £ - H £ %
[l A2 500 [ A 3, 600
[l A 3, 600 thi < 7,000
HE 8, 400 " om 500
(il AN 9,600 Fr R 1,000
A=l AN 1,500 ok 3 500
HiEE 9,200 ik > 10, 000
(il AN 2 1,200 ik = 500
KA F 4,800 ik 5% 3, 600
ol S 3, 600 Rk %o 3, 600
(il A2 4, 800 ok %~ 3, 600
(il A2 300 ok %~ 4, 800
(- 500 Heik % 3,600
iy SN 3,000 A 3, 600
(il SN2 500 A 3, 600
iy SN 3, 600 A 500
HA o 2,000 Heik % 1,200
HA o 3,600 Heik % 1,500
DN 400 (P 2, 400
[ A 500 (12 AN 22 500
(il SN2 600 A 4,000
(il SN2 4,000 A 200
[l SN 2,000 i 48 500
[l SN 2,400 i 48 7,200
g 800 ik 47 4, 000
(il A2 12,000 R 4R 500
e 3,300 Hhkoat 500
(il A2 7,200 ik 5T 2,400
B R 2,400 A 1,600
RATIR 3,600 A 500
(2l SN 6, 000 ok & 500
i SN2 4, 800 Rk B 800
i+ 3,000 ok & 500
[l A 4,400 ok & 500
[l A 1,600 ok & 3, 300
[l A 4,800 (R A 500
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oy £3F o £ 37
(L A 500 [ A 500
(L A 500 LA A 4,000
(L A 500 [ A 1,200
A=l AN 2,800 L A2 3, 600
A=l AN 2,400 L A2 6, 600
ERIPN: 3,600 RPN 4,400
RPN 3,600 CEIPY- 500
(il - 3,000 "o 500
ik & 7,200 IO 500
R & 4,800 B2 2R 9,600
[ A 1,800 (12 AN 22 2,800
I SO 2,400 i A 3,200
I SN 3,600 i A 500
I SN 500 [Er N 500
I SN 4,800 i A 500
[ A 4,200 (12 AN 22 4, 800
ol SN - 4, 800 HF e 2,000
[ A 400 (12 AN 22 5,100
[ 500 [l NS 21 4,200
I SN 500 [l A 4, 800
I SN 4,800 [l A 3,600
I SN 500 [Er N 2,000
HE 4, 800 RS 7,200
[ A 1,800 [l A2 3,000
[ A 3, 600 [l A2 2,000
[ A 900 [l A2 2,000
[ A2 2,000 [l A2 7,200
g 4,900 [Er N 9,000
I SN 600 i A 3,600
[ 500 (LN 300
SO 2,100 thEE 2,700
[l A2 4,800 ek 300
[l A2 3,600 PRF 2,800
&% 400 [ AN 2 3, 600
[l SN2 500 [ AN 2 500
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o &4 LA &4F
PRy 500 [Hkeesm 4, 800
Y 2,000 |@7 o 12, 000
EEEY: 4,000 |w7 o 500
Y. 3,600 |@3om 3, 600
ik 4 7,000 |wA o 2,000
thik 4 3,600, |#7 o 500
ik 4 5000 [w o 2, 400
Y 3,200 |w2om 500
ey 2,700 |#7 o 4, 800
Y 4, 800 Y. 4,000
Y 4, 800 Y 4, 800
PRy 1,000 [@%2m 4, 800
PRy 500 [Hrmse 2,200
PRy 3,600, |#7 o 500
PRy 2,000 |#7 o 500
e 2,000 Y. 500
e 500 Y. 3,600
e 1,800 Y. 900
e 3, 600 Y. 3,200
PRy 2,400 |@7 o 3, 600
Ry 6,0000 |#7 2 2,800
Ry 3,600, |#7 o 3,200
Ry 4,400 [traris 3,300
et 4,200 |tk 3,000
Hhoe g 4,000 Y 600
Hhoe g 3,600 Y 500
Hhoe g 11, 400 Y 500
Hhoe & 2,000, |@aaom 4, 000
Ry 3,600, |#7 o 3,600
thoe sk 4,800 |w7 o 900
AN 4, 800 HiE # 2, 400
PRy 3,600 Y 2,000
oo 6,000  |[thmp 2,700
oo 7,200 Y 6, 000
Ry 2,400 Y 300

-78-




SRS T ACEE S N

113 4 B 4 4788 i 9

s £%F ia £

2l A 3, 600 [ A 3,000
ol SN 500 [ SN 3, 300
4 500 R 3, 600
a4 5,000 HExE 6, 100
ezl R 1,500 B R 8,000
SR 500 Ry 4,800
SRR 500 Ry 2,000
R 500 (@3 2@ 2,100
= 2,000 i 4,800
Ry 12, 000 i I 4, 800
Ry 2, 400 I 4, 800
R 2,000 [l Ny 2 9, 900
o e 3, 600 B R 2,400
I SN 3,600 (LI 3,300
3 o B 7,200 @3 OB 500
BN 2,400 Hopr % 1,500
Ll SO 4, 800 BB 3,300
HE OB 500 (2l A 3, 600
Ry 1,200 P 3, 600
e 6, 000 =iy A 1, 200
B O 2,400 Fr B 2,400
I SN 12,000 (LI 3,300
B O 3,000 Fr B 1, 800
Ry 2,000 HEF 3, 600
2l A 12,000 (2l AN 21 300
RAB B 2,100 [ AN 22 2,000
BN 12,000 iz i 1,500
3 o B 500 @3 OB 4, 800
RIS 2,000 Hh4s F 2,100
HhiFd 900 [l W= 3,000
[l AN 2L 12,000 [ A 500
WD 3, 600 i 3, 600
HiF L 9,600 A oB 3,600
HA 300 (i A 2 12,000
ey SNy 2 500 2l SN 2 500
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3 &% g £ 4F
EERY 4,800  |@ 2R 2,100
EERY 500 [#3 2@ 2, 800
HEL 3, 600 I WP 3, 600
HH 3, 600 ik 600
ol W= 4, 800 L A2 3, 600
R A 4,800 A 48 3, 600
ol W= 500 L A2 7, 200
(3l SN 3 2,700 [l A 3, 600
HwEP 3, 600 HEZ 1,000
Ry 1,100 C I 3,600
(2l SN 2L 1,200 (A 3,400
[l SN 1, 800 [ A 2,700
R 1,200 Ry 500
[l SN 2,000 [ A 1,000
= 600 EERY 600
(2l SN 2L 1,800 (A 8,400
ol SN - 3,700 R E 4 2,400
PN 5,000 e E4F 2,100
4 4, 800 HER 2,700
[l SN2 2,000 [ A 500
H 12,000 wE & 6, 000
(3l AN 3, 600 [l A 500
Y 1,200 HEH 4,000
RPN 4,000 HEE 4, 800
HA¥ {'7?- 4,800 [ AN 22 3, 600
ol W 500 (R A 2 3, 600
ol W 500 (R A 2 3, 300
ol SN2 3,600 (LI 3,600
i*h = 3, 600 PN 500
(3l SN 2 600 HE A 2,000
Hh 4 12,000 TR 1,600
B D 500 Y 2,400
BN 500 R 4 4,800
ol W 500 iy SN 3,000
& 1, 800 % 2,000
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B A e Foik kg
113 & B 42 470

A &% R £ %
(WP 3,600 (i PN 2,100
EERY 4,800  |@ 2@ 3, 600
Ry 14, 300 T 4,800
Tt 3, 600 WO 500
Y 3,600 ok == 7,200
i WP 1,200 HA O 500
PN 3,600 o 4,400
R 4,000 |@3 AR 3, 600
(WP 1,000 (i PN 1,800
L 3,000 A 4 4, 400
Y, 4, 800 A e 300
R 7,000 [l Ny 2 3, 600
& 4R 1, 200 #AoE 2,000
WO 3,600 (PN 500
O 1,200 B R 1,500
I 500 w3 2 500
rake 2,100 (=l A 2,400
I 500 (A 500
PN 12,000 (L Ny 3, 600
Btk 600 [ A 500
O 4, 400 [ PN 3, 600
R I 4, 800 #r o 500
LRI 3,000 (LN 4, 800
LRI 11, 000 4 8, 400
WO 400 W 600
WO 500 W 500
P 500 k42 4, 800
g & 4, 800 HE2 2,700
O 2,400 (LA N 21 2,000
RPN 5,000 el 3,600
Y 1, 200 HA O 2,400
I DN 5,000 I SN 3, 600
HE 2,000 A OB 500
D 3, 600 SN 500
HREE 3,600 S EEY 600
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B A e Foik kg
113 & B 42 470

- £7%F - £3F
(LI 500 I WP 2,000
(LI 2,000 I WP 500
e 3, 200 [l A =2 600
AN 2,000 (il SN 500
AN 500 (il SN 6,000
e 8,400 (il SN 3, 600
AN 4, 800 (il SN 2,100
2l SN2 4,000 R F 500
(3l SN 3 6, 000 R F 4, 800
#r R 4, 800 IO 500
(LI 2,000 IO 1, 800
HR 12,000 (Ll N 21 2,400
A 1, 800 [ A 500
w3 500 #r R 500
ol SN . 500 w2 2,400
(2l SN 2L 500 HEZ 4, 800
(Gl I 800 HR R 400
(LI 500 (A 600
HRE 500 i P 2,000
R E 3, 600 (I 3, 600
R E 500 (I 500
[ A 500 TR 500
[ A2 2,000 TR 500
(IO 500 HF R 3, 300
AP 500 TR 5, 400
4B 500 HF R 2,400
4R 3, 600 =iy A 300
R4 4, 800 TR 500
3 R 2,100 3 1, 800
i R 4,400 FRHE =R 1,200
[ A 2 500 [ A 4,400
SN 3, 600 PN 5, 600
I 500 &L 4, 800
I 3, 600 PN 6, 200
HR 3,000 (ol N 3, 600
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B A e Foik kg
113 & B 42 470

A &% o &
R 600 SR KA G 8, 400
EEPY: 3, 600 S

Y 4, 800 AL T RAH 3, 600
@ 3, 600 Bipg e d

RPN 500 IR 3, 600
EEIP" 4, 800 ABE A LR 9, 600
FApRTLE Y ¥ 12, 000 FiEE g

it ALBEA BT & 4, 800
Ry 2,100 Hi s 18 1 §

RE T L AP 4, 800 AP S 3, 600
Y 800 FET G

Y 3,600 |72~ 2, 400
Y 3,600 [FA o 3, 600
TEY 18,000  |f=¥# 1,600
P 200 Y 3, 600
Ry 4,000 Py 2, 800
FREE LG T T 2, 700 AR 2,700
aa EEPY: 4, 500
Y 4, 800 Y 3,600
Y 500 CRIBS: 2,000
iy SN 500 BB 500
A 5 3,200 HFA oF 12, 000
Y 4,800 w3 o 500
PR 1, 800 Ll A 2 2,700
AL 3,600 wr R 2,000
Ry 3, 600 2R ik i 7, 200
PRy 4, 800 HA K 3, 600
PRy 4,000 HA K 3, 600
TR 4,800 |3 AR 3, 600
DN 3, 600 B2 2R 5,000
T E R RAR L (F 4,000 F3ap 200
% (=l N 500
Y 1,000 R 3, 600
EEEY 3, 600 #3 oH 1,200
Y. 12, 000 w3 aR 5, 000
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- £% R £7%
R 600 [l SN 5,000
Y 500 BRp 400
R 3, 600 (LI N2 1,600
R 4, 800 [l N 300
Ay A 12,000 it 4, 800
Ay A 12,000 LU 2 3, 600
RIS 1,000 B R 12,000
@ o 4, 800 (e 200
BR 2 pn 4, 800 (IR 500
DN 3, 600 (i W 1, 800
B B 6, 000 RN 500
RIS 2,000 (P 4, 800
Ry 7,200 I 3,600
Ry 500 RPN 600
PR 3, 600 [l Ny 2 3, 600
Ry 500 ER i 3 5,100
EEY 600 il N2 3, 600
DN 4, 800 (i W 400
Y 4, 800 R I 2,100
HA O 500 [ 600
RIS 3, 600 (PN 4,300
Ry 500 RPN 1, 800
TIPS 10, 000 #AoE 500
Y 1,000 B F ¥ 3, 600
g 8,400 A ao® 500
PN 3,600 PN 3,600
RPN 3, 600 i 4 1,200
R 3, 600 [l SN 2 500
Y 3, 600 IR 500
LRI 500 ES 600
G WO 500 [ AN 2 4,000
AN 500 PN 3, 300
TRy 500 CEIey 500
TR IPN:" 500 WE R 500
HA o 1, 600 WE R 3,200
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i &% aia £

ol S 500 [l A 4, 800
ol SN 2,000 [ 2,000
PN 3, 600 AT 3, 600
I 2,100 (il SN2 3, 600
LA 3, 300 LA 500
DNy 500 o 7,200
PRI H 12,000 L A2 500
Ry 4,200 Bk & 3,000
Y 2,000 R 800
Ry 3,600 R 4R 4,000
2l A 500 (A 500
[l A2 3,000 TR 2,400
BRAR 12,000 PN - 6, 000
Y 1, 800 R iy 3, 600
I SN 4, 400 72 B 2,400
BRE A 4, 800 R 299 1 1,800
I DN 900 BB 3,600
W 5, 600 (L 12,000
YR R 3, 600 E R 3, 600
R 4,600 R 4 2,400
B O 3, 600 Fr B 6, 000
(WP = 3,600 R ja 5F 4, 800
Y. 3,600 5 a4 1,200
DN 7,600 @72 R 3, 600
ol W 500 73 S 3, 600
AN 1,000 AN 3, 600
PN 500 Bk 5% 4,800
I SN 3,300 @2 R 3,200
3 B 3, 600 @3 B 500
Ry 3,200 B 5 2, 200
PRy 500 iy N - 3, 600
Y 6,500 [#7 2R 200
AT 1 4,800 A A 500
Al W 600 Al W] 9, 600
8- 3, 600 AN 500
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B A e Foik kg
113 & B 42 470

o £ - £3F
BT T 3,600 RET 4, 800
ol SN 12,000 [ 4,700
BA O 500 [ PN 2,000
A WO 3,600 iy 3, 800
i N o 3, 600 [y NS - 4, 800
Mg 4,800 R g% 9,600
i SNy 500 [y NS - 2,400
Y 6, 600 Ry 3, 000
SO 3,600 [ 500
R @ 900 ol WA= 6, 600
ol SN 2 4,800 iy A 4,000
I SO 500 B R 3, 600
PN 12,000 RE 3, 600
[l A2 1,000 TR 3,200
Ry 3,600 ERigrd 9, 600
I 7,200 72 o 900
Y 6, 600 RPN 500
3l SN 3 6,000 (2l A 2,700
PN 300 w2 o 500
I SN 2,400 (LI 500
3 B 500 @3 NP 500
B O 2,000 Fr B 500
ol SN 500 A 4, 800
Ry 16, 800 @D 4, 800
R 245 3,700 L e 3,000
2l A 3, 600 =iy A 900
2l A 1,000 =iy A 2,400
L WP 3,600 SRAEE 2,000
R 2 4,400 (R 3, 600
R 500 (=l Ny 22 3, 600
TIPS 4, 500 #rNE 8, 400
HA O 500 WA 3,000
[l A2 4,400 LR 12,000
R v 400 [ AN 2 3, 600
A 500 & A B F AL 1,200
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B A e Foik kg
113 & B 42 470

i 47 ks £

»F P £

EEY:. 2,000 |#3 2@ 9, 600
4% 4 3, 600 PRS2 P 7 8,400
i N 2 500 [N 3,600
Ay SN 2,400 [ A 3, 600
i N = 800 [N 500
4 it 72 3, 600 (Ll N 21 3, 600
ol SN 2,400 LRSS 4, 800
I 3,600 Y R 4,800
DN 4, 400 BB 500
EANTES 1,000 (L A2 4,700
i SN2 10, 600 [EE S A i A 9, 600
I SN 3,600 (LI 6, 000
[ SN 500 A 12,000
£i39%1 4, 200 EHT T R 4,800
2 o

DN 4, 800 BB 3,600
£¥7T 1, 800 DN 2, 800
£ % 3, 600 (2l A 4, 400
PN 1,500 F3x 4,000
I SN 1,000 (LI 800
[l A= 2,700 TR 3,600
Ry 800 RPN 500
(- 4, 800 (L 500
& @5 4, 800 I 3, 100
2l A 2,800 =iy A 4, 800
Ry 3, 600 @D 1,200
SN 2,000 i SN 4,800
£k g T 3,600 S 3, 600
% e LRI 7,200
(3l SN 2 11, 600 [ A 3, 600
i SN2 2,000 (i A 500
PN 33, 600 PN 6, 000
EPEERF LA 1, 800 3 & 3, 200
P ARE RE R 1 1T 2, 800 A 1, 500
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B A e Foik kg
113 & B 42 470

LA &4F LA £4F

I I 2,400 wr o 3, 900
CEN” 1,800 Ry 2, 000
Y 3, 600 Ry 12, 000
TRy 4, 800 s 2,100
2l W 2 2,700 TR E R R 2,400
Y 500 o

H 3 2,700 iy N 4,400
RPN 500 FAEEF LT 3,200
(Gl I 400 ki

Y 500 TRAEEEG R 5, 100
Y 16, 800 a7

F 1, 800 %‘*Bﬁ‘?‘ WA Y rT 3,600
R 500 (L N 800
Y. 500 TREER 7, 200
Y 4,800 w2 o 1, 200
77 R 2,000 [ PN 4,000
73 B 3, 600 R3 o 500
At 4, 600 0 WA 1, 200
%% 1,200 [®&fEF 2P 300
FHEE 5,500 #r 3,000
7 s 7,200  |BAEEAIRG L2 3,600
Ry 500 "

TR 2, 400 B2 o 500
TRy 3,200 |7 AP 200
Y 7,200 |F7 AR 3, 600
YT 4. 800 WO 2,100
Y 8, 000 SRS RN 3, 600
TRy 500 ahd

- =00 PRy 10, 800
a— sool [t s 9, 600
— 2400 PRy 7, 200
P s00l [EAREmmeg 6, 000
@ 2B 600 a7

Py 5. 400 Y 800
FEPY 4,800 [FAAR 3, 600
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B A e Foik kg
113 & B 42 470

s £%F ia £

EERY 3,600 [#32m 3, 600
EERY 4,800  |@ 2@ 7, 200
PN 3, 600 e 4,800
2l N 2 4,800 L A2 4,800
DNy 500 o 3, 600
Ay SN 3,600 ¥ % 4 600
Ay SN 500 e T 3, 600
E S 3, 600 ¥EE 8,400
B 500 [l SN2 500
BN 500 (L 500
E QL] 12,000 iy A 12,000
LRIR 500 @3 OB 4, 800
LRIR 4, 800 @3 OB 4, 400
R 500 R 500
R 12, 000 #AoE 3,600
Ll SO 500 BB 500
Ll SO 4, 800 BB 1,000
Ry 3,000 P 4, 800
I 1, 600 FARE X 3,600
ol SN 4,000 A 3, 600
I 800 ¥ AR 4, 800
I SN 1, 800 (LI 2,400
(3l SN 2 3, 600 b P 3,000
i1 E 1,200 =iy A 4, 800
Ry 500 Ry 4, 800
ol W 800 =iy A 1, 800
¥y 600 Feli & 3, 300
Eg 50 4, 800 B DR 2,000
I SN 3,300 (LI 500
=l N1 500 [l A 500
(3l SN 2 3, 600 TR 4, 800
Al W 3, 600 iy W 500
ER 12,000 ¥ E 3, 900
il A= 11,000 (il N 2 1, 200
R D 500 REREF LD 10, 000
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247

L

£ 3

3,000

XG> K

1,200

[ AN

3,600

@R N 4, 800 LIPS 3,600
FEY gt 6, 200 IR = 800
A5 EERY: 1, 600
Y. 3, 600 AN 1, 800
BAEF 8 5,200 I 2, 400
LE B RAEY o PN 4,000
FHBRES LD 6,000 RPN 100, 000
& il N2 4,000
FEA SRR 1,800 Ry 2,900
TR AP 300 B DR 4, 800
[l A 600 [l SN 3,600
E4 E 14T 4,800 [l SN - 7,200
A RIS 2,000
iE A A AR XK 600 (ol N 3,000
$ g w3 om 500
PRy 2,100 R 7,200
B D 3, 600 Ry 500
T £ FF R 5,000 R 4,000
R ¥ ik R 2,800
B 2,000 L 13,000
B 4, 800 I SO 3,600
(i - 4, 800 HA O 18, 200
B H4E 3, 600 Y 7,000
EERCE-EL HE AN 4,800 Y 4,800
RPN o o 500
KGR S SN 7,200 % g, 3, 600
w3 3, 600 Y 600
(Ll A 9,600 PRy 500
ERgEsIae 9, 600 SN 3,600
Eal v 3, 600 Y 500
Y 500 Py 3, 600
I 1,200 53 o 1, 200
RPN 3,300 T o 500

-90-




B A e Foik kg
113 & B 42 470

A &% R &%
Y 4, 800 ¥ g 5 4,800
EERY 3,600 [#32m 2, 400
#72 2,400 DN 900
@3 o 3,600 o 3, 600
RPN 500 WD 6,000
e 5,000 I 3, 600
A D 3,600 HA R 300
RIS 7,000 Ry 2,100
R 400 Wi 8 3,000
R EDS 3,000 (i PN 500
B 500 HA o 500
DS 500 (P 2,400
5 F4 4R 1,600 W E4 3,600
DN 500 (PN 500
TIPS 2,800 #AoE 3,600
IS 3, 600 [ 1,600
3 3,600 IR 4,300
HA o 8,100 (i PN 500
DN 2,100 @ B 12,000
5% b 7,200 il A1 4,000
o 7,200 Al N2 500
Y 1, 800 i SN 4, 800
Y 7,200 [l NS 2 3, 600
R 500 Thb g Ia? 2, 800
PN 300 PN 4,800
A SN 2 500 [l S 2 3, 600
% i 9 3, 600 ERONGE- R -E:V Y 1,600
5 i3 & 4, 800 e
PR 600 BB 3, 600
PR 4,000 (R 300
HA O 4, 800 [ 1,500
Ry 500 EmARET R 3, 600
I 4,000 e
Y 1,800 | # BRI 4,100
EEPY: 500 v
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A £% s £%F
3o 4, 800 TR 1,200
Efxg Ay 3,600 w2 F 3, 300
(2l AN 2L 900 [l A 500
EpgEs s 4, 800 AN 2 5, 600
PR S P 5, 600 ¥ Fo 5,000
(ol W2 4,800 (LI 2,000
(il SN 22 1, 600 wEH 3,000
LR S LR PN 900 ¥z 8, 400
LHMFEG AT 500 L A 1,200
(ol N 7,200 ¥ 7 4, 800
ERREEERR 11, 600 (i 4, 400
4 Y. 4,400
F AR I P 3,600 (LI 3,600
AF3AP 5, 000 Ll AN 500
7+ T 8,000 Ll AN 500
iy SN 3,600 Al A 21 500
[l SN - 500 (2l A 2 600
(A 3,000 i A 2,000
(i SN2 500 SRERT 4, 400
¥ 3. 4% 3,600 il N 3, 600
Al SN 500 i 12,000
¥k 600 il N 500
[l A 500 il N 500
(il SN 500 Al A 21 2,400
(il SN 4,800 Al A 21 500
(ol SN 500 Bl AN 2 4, 800
2 800 ¥ B 4E 4, 800
o ip 42 4,500 ¥FETF 2,400
[l A 4,800 il N 4, 800
SO 500 ¥ 45 % 4, 400
¥ iE 2 1,500 il N 3,600
(il SN2 7,000 g 7,200
il S 9,000 (i SN2 1,900
(i N 4,200 (i SN2 3, 600
BA OB 12,000 #r O 500
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P BE A

e h < ?IEL\?g

H3ﬁ&ﬁiﬁm¢

&3 i £
8,400 EEA 500
3, 200 [ SO 3,600

500 B3 B 3,600

3, 600 B3 R 500
3,000 4 1, 200
800 P 2,400
4, 800 B o 2,400
500 L A 5, 200

4, 800 [ A= 500
1,500 [CIr A= 500
2,400 ) s 3,600
B ATE S (74T 2, 400 A 3, 600
A ovpd 900

3, 600 [l A2 3,000
600 AR 4, 800

3, 600 [ A2 3,800
1, 200 [ A2 4,000
[l A2 4, 800

7,200 ol WA= 500
4, 800 A2 WA e 500
4, 800 A2 WA e 500
3, 600 Al SN 1, 800
7,200 pE L 2 900
1, 200 ol SN2 500
500 R 4, 800
3,600 Al SN 21 2,400
1, 200 Al SN 21 2,400
900 Al WA 2,000
21,000 A2l WA 2,000
4, 800 Al SN 4, 800
3,600 Al SN 500
2,400 Ay A 500
3,600 A2l QAN 31 500
4, 800 Ay A 500
1,200 e 11, 200
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B A e Foik kg
113 & B 42 470

s £%F ia £

EEIPY 3, 600 IR 12,000
EEIPY 4,000 IR 2,100
Ry 3,300 % 5,200
RIS 300 RPN 2,100
RPN 2,000 e 4,700
RIS 1, 800 RPN 500
(L N 2 2,800 A 2R 500
[l AN 21 4,800 = % 9,000
Y 500 i % 500
#3oR 500 HE s 4,800
T 1,200 wEH 2,000
(Ll N 21 500 R 3,600
e e 7,000 [Er N 900
w3 1,600 #r R 1, 200
Y 2,400 (WO 1, 700
[ e 1,200 B2 2R 4, 400
RN 500 (i 500
[ e 4,800 B2 2R 2,800
RPN 3,000 i I 2,000
(e 4,800 S 6, 000

Y 6,800 [ R 900

RPN 4, 800 (PN 500
oy 4, 800 [l NS 2 4,000
PN 500 PN 1, 200
PN 3, 600 PN 7,200
PN 500 PN 500
PN 4, 800 PN 500
RIS 2,000 (PN 4,000
R 2,000 #AoE 2,200
WD 500 (PN 1,200
RIS 3, 600 (P 6, 000
I 4,000 PN 4, 800
AN 500 PN 6, 000
Y 500 ¥ FE 12,000
Ry 3, 200 i i 5,000
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R £7%F A £ 37
Py 2 3, 600 I SN -1 9,000
ol SN 6, 000 [l A 500
ERE 3, 600 [ A 500
R 400 ERA 3, 600
ol Wz 2,000 B IR 1, 800
Ay SN 4,800 [l A2 500
il W 500 ISP - 900
ol SN - 600 [ 3,600
ol SN - 2,400 [ 2,000
P S 3, 600 (L A2 500
Ry 4, 800 I = 500
A W 3, 600 A B 3,600
i 2 500 [l A2 12,100
IR 3,000 wr R 500
B2 O 500 ik 3,600
P ) 4,800 HA o® 400
HE OB 3, 300 Al SN 2 500
HE OB 3, 600 A S 2 4, 400
O 4,000 #3 B 3,600
N . 2,000 "3 OB 2,400
N . 500 @72 B 3,000
SN 3,600 PRt 800
B O 500 Fr B 2,000
i B 1, 600 A 3,600
PN 500 (L P 2,000
S =4 3,600 Ay A 500
ol SN 500 e 4, 800
N . 6, 200 "3 OB 3,600
N . 3,300 772 B 1,200
BA O 500 Al SN 600
i SN2 1,800 i A 2 400
Al W 3, 600 Al W] 10, 000
BA R 3, 200 Al AN 21 4,800
(i NS - 6, 000 (il N 2 3, 600
Y. 6, 000 £ 38 300
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B A e Foik kg
113 & B 42 470

oy £3F o £ 37

e 800 LA 3, 600
(L A 9,000 LA A 1,800
(L A 5,000 LA 500
(A A 4,800 LA 3, 600
A=l AN 1, 800 LA 16, 000
A=l AN 4,200 LA 2,700
A=l AN 4,800 LA 4,800
(L A 3, 600 LA A 500
(L A 4,800 LA 500
[ A 600 [ AN 22 500
w R 3,600 B2 2R 11, 000
(0 NS - 12,000 (i N 21 1,500
AR S 2,700 (i N 21 500
(0 NS - 400 (i N 21 500
Pl 2,100 (i N 21 500
Ry 300 SR 6, 000
[l A 500 el 2,100
ol SN - 500 kP R IRE 12,000
A 4,000 AATEH AR ET T 6, 200
# B IR 2,400 o

Al A 500 Ry A2 3, 600
I SN 4,200 YERL AR 1, 200
LR IPN= 4,000 TR IPN 2, 400
g R 900 BFEEEF AP 2,100
ol SN - 500 A 1,400
R 1,500 Al N 2L 900
EEZ 1,200 BREF PR 4, 800
AN 3,600 FRaF

R 2,200 BFTH 3, 600
B3 500 (LN 5, 400
H IR 2,000 (R 400
Ry 600 #3 oH 12, 000
R 4, 800 [l W= 3,000
A A 2 12,000 Ao 300
ol W 3, 300 (R A 4, 800
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B A e Foik kg
113 & B 42 470

oy £3F - £ 37
AR 2,000 [ A 600
AR 7,200 FEAET P 3, 600
AR 3, 600 [ A 1,600
HA O 3, 600 A 1,600
HA O 6, 000 A 600
HA O 4,100 A 800
e 4 3, 600 A 4, 800
AR 1,500 [ A 4, 800
AR 3, 600 [ A 3, 600
L A2 1,000 (=l A 3, 600
AR Ty 4,000 FTRME 3, 600
iy SN 3,000 R AR 500
iy SN 10, 000 R AR 7,600
Ao 4, 800 R AR 500
iy SN 4, 800 R AR 7,200
B3 4,800 (=l A 3, 600
AR 3, 600 (=l A 500
AR 10, 000 (=l A 500
AR 7,200 Ay A 2,000
[l SN 10, 000 Ly S 2 1,800
wm 2,700 Ly S 2 500
[l SN 2,700 Ly S 2 500
2ZA 4, 800 Ry A2 4,000
AR 2,800 Ay R 2 500
T B4 2,800 7 I 3, 600

¢ A 2,400 Ay A 3, 600
¢ R e 3, 600 Ay A 2,000
e F 1,500 Ly S 2 500
A AN 2 500 Ly S 2 8, 400
L A2 10, 800 Ry AN 4,000
L A2 3, 600 Ry AN 500
[l A2 4,800 A A 500
(B o B 3, 300 I ik 4, 800
iR 3, 600 Al A 12,000
(3l AN 500 R S 2] 500
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113 & & 45 47 0¥ 9

- R EX1] A £
I 500 HAOE 4,200
EERY 1,000 [#3 2@ 7, 200
EERY 3,600 [#32m 4,800
@A DR 10, 000 ¥ 12,000
. 3, 200 # &4 1,200
g2 o 6,600  |#it b 2, 400
PN 2,000 o 3,000
R 4, 800 (i PN 3, 600
(i - 500 " om 500
i 5, 200 A 3, 600
EE P 4, 800 [ 3, 600
3 o B 2,000 |#3 2R 2, 000
PR 500 i A 1,000
AN 3,000 i X 3,300
8 8 5 6,000 Al N2 500
R 2,400 A N 2 1, 600
DN 3,300 @ B 1, 200
Ry 4, 800 B 3, 600
WP 1,200 (I 600
EEPY:. 500 |1 o 2,700
RPN 4, 800 (PN 4, 800
3 B 5000 (@7 o 500
@A 2,000 4 1, 800

HA R

400

im

N
ol

2,400

(3l AN 2L

4,800

im

N
ol

900

it

s

s
ol SN 2 12,000 (L A2 500
28 55 e 3, 600 (L N2 500
PN 600 (LN 4,000
oY 1,000 e 3,600
ol SN 2 500 [l A 500
LRI 3, 600 T A%k 3, 600
I DN 3, 600 I SN 500
RPN 3, 600 L Y 2,000
D 4, 800 SN 12,000
RPN 2,000 L N2 3, 000
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3 E R EXINE ’Fi;

o :
[ SN £
| X
WP = 500 Ry £%
Fé % 1 500 /TE" F F*'Fa 5’ 200
8 N 2’ 0 oy
73R 0 [FikREf e 6, 000
% e 12, 000 EEEY — 1,009
F%iﬁé 49 000 /fg * ,4} F}é 57 600
(L A2 3, 600 [l SN 2 2, 000
[ N 12, 000 [ S 3, 000
(il W 500 Bzt o 4,000
R 500 @@ 2,000
(I 500 (i SN2 4,800
Ay AL 500 -'E?é‘é.*ﬁ g 2 9, 000
12y A 2. 3, 600 FRAREL T 4,800
Y. 4,400 ?%33@:,,\; . 6,000
12y A 2. 3,600 R AN
Y, 500 Y
Y 500 ShE i 3,000
BA N 1,600 ] 600
A W 500 BA R 1, 500
R 3,600 PRy 9, 600
PR 600 PR 2, 400
;";3‘;53 3’ 600 %5' 3 4\ F:'f 37 200
BN 4, 800 W G 500
Ry 4,800 | o 1,500
EEIPN: 3, 600 Y 3, 600
Ly Ny - 3,600 [y NS - 600
. 2,100 758‘%%%? T 2,000
g 5000 |@ o - 2,200
PR 3, 600 Y. 1, 500
R 1,200 I SON 1,200
Ry 4,800 " 500
F%;ﬁ 27 400 ’15' 3 N EE 39 600
(A A 3, 600 EE f,lj'ﬁ g N 3 500
2,000 = b 7,6
2y S 2 , 600
1,200
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Podoe i &€

H3ﬁ&ﬁiﬁm¢

s £3F i £

(i Ny - 4,400 FYEiE ﬂﬁiz}“r 800
ol SN 2,000 LA 500
(il N 2,000 B3R 3, 300
(L N 2 4,800 [l S 2,000
[ N 2 3,600 [l S 1,200
HA N 6, 300 REFEEPNEDR 8,800
AAEEEL>T L 4,800 wraAey e

o HA R 500
R 1,600 |3 2@ 5, 200
Ry 4,000 RPN 7,200
Ry 3, 600 G IR 500
I 1,500 72 o 3,600
iy SN 5,000 [ A 11,000
TR WP 4, 800 (L 500
Ry 3,200 RPN 3, 600
PRy 500 BB 400
LR A 1,800 B % 3,000
RPN 2,100 PN 1,800
Ry 1,200 B D 7,200
MR 3,600 (i PN 12, 000
DN 1,500 #AoE 500
i I 4,000 B 2 7T 2,400
Al PN 4, 400 w2 oR 500
AN 600 #AoE 1, 800
2 1k 3, 600 (i 4, 800
TR AP 4,200 i P = 7,200
Al A 800 (i A 4, 500
Al A 3, 600 AR 500
LI PN 500 w2 R 3, 600
Al A 9,000 [ A 1,200
PN 2,000 (N 3, 600
Al S 1,200 (- 500
N 4, 800 Bk 1, 800
AN 4, 800 Gl WP 500
IO 4, 800 (i PN 900
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L £3F “H £
Y 500 CRIP:: 300
EERY: 500 w3 2F 5, 400
EERY: 500 w3 2F 4, 800
P 500 (WP 1,600
Y 3, 600 IR 500
Y 3, 600 w3 oR 500
Ry 500 AP 4,400
Ry 4, 600 w3 2F 4, 800
Ry 4, 800 w3 2F 4, 800
Ry 500 RPN 500
Y. 5,600, |#7 @ 500
Y. 3,200 |#7 2@ 500
BagEmipg 2,000 [ 500
o T Th 3, 600
P 500 RPN 6, 400
[ SN 4, 800 il N2 4,800
Ry 500 (i@ 2@ 500
Ry 3,600 |@a am 500
(=l N2 1,500 il N2 800
ol A2 500 [l SN2 3, 600
RN 500 LRI 3, 600
Y 3,000 SE SIS 2,100
N Y 4, 800 GRS 2,000
FART Ll PN 500
BN 9, 600 WD 500
(i NS 2 3,000 [l NS 21 2,800
3 AT 4, 800 TR R 3, 000
Al SN 2 300 B DR 3, 600
Ry 3, 600 PRy 900
DN 4, 800 DN 500
PRy 3, 600 % B 4, 800
2l WAL 2,600 (3l SN 3, 600
EEPY: 3, 600 Tty 3, 600
RIS 5, 400 EXE/% 2,400
RN 2,700 IO 500
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R £7%F A £ 37

[ A 4,000 A 2,000
FA R 500 AR 1,200
[ A 2,000 A 2,700
(L A2 4, 400 B3 B 4,800
3l A 3,600 B3 B 4,800
Tk 4, 800 2 NS 2 1,000
Al A 4,800 B3 B 4,000
FA R 500 AR 2,000
FA R 500 [ A2 2,100
FA R 2,000 [ AN 22 3, 600
(Ul A 2 4,600 2 5,000
(2l SN 2 3,100 mr = 6, 000
[l SN 4,100 A AN 2 2,400
(A 500 (G 500
PIE Y 1,200 A 4,200
H2 B 800 HA o® 300
it 900 LI 3, 600
i E 4,800 =+ o 1,800
ik 4,800 (L A2 600
(3l SN 2 1,500 A 1, 600
TR R 1, 800 iz 4L 3,000
nars 2,000 A 4, 800
ikl A 600 R AP 500
FA R 7,200 [l A2 4, 800
FA R 2,400 [l A2 500
HA O 900 =iy A 2,400
tRY 3, 600 e = 2,000
L A 500 TR 3, 600
SEECE 3, 600 TR 1, 800
IEH A 4, 800 TR 6, 600

3 B 2,400 [ A 6, 000
A2l SN 6, 000 HAr R 600
[l A2 900 HAr R 4,000
FITHF (7 7,000 (L A2 500
[l SN2 4, 800 (L A 500
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R £7%F A £ 37
3o 875 R 4,500
hikx 10, 000 i %’Iﬁ] 3, 600
(T 1,800 LA 500
SRR 4,800 RN 4,800
SRR 1, 200 Ry 4,800
P20 o 9, 200 LA 3, 600
ol N 4,800 L A2 4,800
I SN 4,800 e R 3,600
il SN 2 600 [ PN 6, 000
ol W 4, 800 R Ao 1,500
ol W 500 h A 7,200
ol SN . 600 A 500
ol SN . 800 [ PN 300
#% B 9,000 3z Z 500
(2l SN 2 4,000 3z Z 3,000
[ A 3, 600 (A 4, 800
BN 2,000 th AR o 12,000
HE OB 500 (2l A 3, 600
RPN 4, 800 RPN 500
ol SN 500 LA 500
I SN 500 B2 oR 500
%A 500 (LI 500
ol SN 500 A 4, 800
Ry 3,600 @D 4,000
ol W 3,200 =iy A 4, 800
ol W 3, 600 [ AN 22 2,000
Ry 3, 600 Gl P 500
B O 3, 600 (I A 2,000
[l SN2 1,200 TR 2,000
=l N1 4, 800 [l A 3, 600
iy A 3, 600 A 3, 600
(2l SN 21 4,800 [ AN 2 4,800
(3l AN 500 (L AN 2 3, 600
hprE 6, 000 4 7 3, 600
WA 500 2l SN 2 300
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s £3F i £

L SO 4, 800 @3B 4,800
B 500 filly SN2 500
w710 4,800 [#H & 900
HA N 500 hE A 1,800
i SNy 500 [l S 500
(il SN2 3,300 [l S 4, 800
PN 1, 400 ki 3, 600
ol SN 900 [l A 300
th g 400 0 WA 10, 800
A< 1 1,200 (L N 300
PN 500 w2 o B 1,500
LN 3, 300 [ A 1, 200
[l A 3, 200 B 2,800
[l A 6, 000 [ A 300
PRy 2,400 % LT 600
W 500 (L 7,700
R 4, 800 Y 2, 400
Ry 2,100 R IPY 2,000
HE OB 4, 800 (2l A 3, 600
SRR 500 |1 o 600
SR 6,600 |#7 2@ 500
PN 500 ¥ 12,000
th A 1,200 A 3, 600
2l A 4, 800 (i ] 1,200
R 2,000 Y 4, 800
i 300 AR 1,800
2l A 8,400 (i ] 2,000
Y 3,600 hEE 1,200
R I 4, 800 "R 6, 800
Y 1,200 R 7,200
B i 2,700, |®7 o 200
Y 3,600 h g 3, 600
(3l AN 3,600 (L A2 3,600
[l NS 21 3,600 A oB 2,700
(3l AN 3,600 [l A2 2,400
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LA &3 LA &3

[l S - 3, 600 PR 3, 600
hEx 8,400 A 1, 800
@ o 500 I 1,800
@ 500 £ R 3, 600
hES 4, 800 R IP: 4, 800
th B4 800 ERET R SN I 5, 400
Y 3,600 o

hiEE 4, 800 (e 4,000
o 3, 600 [EI A 4, 800
g v 3,600 4 2k 400
(I 500 S 13 5 3,600
*E 1,200 & B 3, 600
o E 3, 600 (I 7,200
b= 4, 800 B 1,600
(I A 7,200 (i 4, 800
R 5, 600 (IR 500
W 500 L 800
[l SN - 800 (I A - 3, 300
[l SN - 25 (A2 8,000
[l A 500 FEFS f 0k B e 2,000
w3 4,800 il

Y 500  |@ B 4, 400
Y 6,000, |#7 2@ 3, 200
EREY. 3,600 [#72 Am 000
TRy 3,600 (P 4,100
[l SN - 500 F R I 300
TRy 500 @D 500
[ S 3, 600 Fad 3, 600
TIPS 2,400 Ao 500
(A 2 2,700 3o/ 4,000
[l A 3, 600 [EN 3, 600
Ry 4, 800 #3 oH 4,800
FERLHETT T 900 0y S 4, 800
o A REG 6, 500
CEPS: 4,800 S
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L H & s £
Y 300 IR 4, 800
DN 4, 800 » B3 4,200
Y 7, 200 IR 3, 600
w7 2@ 3,600 |#2 2@ 8, 000
w7 2B 71,2000 |#2 @ 3, 600
w7 2B 3,100 |#2 2@ 4,800
AEREAES T 3,600 |®7 o 12, 000
o e 700
RPN 8,000 WA 1,500
(il A2 4, 800 2R E 4, 800
— 4, 800 TRy 3, 600
o 2,400 w7 2R 3, 900
i STEAE R 1,600 [ A= 7,000
PN O AN 2, 800
RN 13, 000 RIS 500
PR 9,600 WP 500
PR 4, 800 WP 1,800
HA o 4,000 WP 4,800
FIHEEF LD P 4,200 P 4,800
TR IPN:! 4, 800 HA O 1,000
170 AN 2,400 B 500
TEIPNE" 12, 000 HA O 3,600
TN 3, 600 DN 4, 800
TR IPNE" 4, 800 WP 2,000
TR IPNE" 2,400 I 500
Fek g AT 900 Hox T 4, 000
Ry 3, 600 /3 o 3, 600
B 4, 800 DN 500
BN 500 PO | St 4, 800
WP 500 DN 900
>4 W 1,200 ERAPN-" 500
DN 4, 800 @A 3,900
DN 500 HA N 2,400
RPN 3,600 IO 500
RN 4, 000 IO 2,000
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L3 £ L £

[ A 2,400 (A A2 500
[ A 2,000 (A A2 3,000
[ A 500 L A 2,400
Al SN 21 3, 600 2 S 2 500
T E 6, 000 HA OB 900
ol A 7,200 2 S 2 1, 800
2l AN - 500 HA OB 7,200
S E 800 [l A 9,000
[ A 200 (A A2 9,600
AL E 600 [l A2 900
(LA 4, 800 L AN 2 7,200
(ol SN2 500 [l A2 900
[l A2 4, 800 [l A2 3, 600
A WA 31 1, 200 AR 500
A WA 31 1, 200 AR 500
[l S 4, 800 [l A2 2,000
[l S 500 Fohe 2 4, 800
[ A 2,000 L AN 2 2,400
SR B 4,000 [l A2 1, 200
iR 3,300 P AT 1,000
3 ALES 4, 800 [l A2 500
B 3, 600 P G5 4, 800
B 500 [l A2 7,200
[ A 3,000 A A 2 500
[ A 4,200 A A 2 500
[ A 4, 400 A A 2 6, 000
[ A 4, 800 A A 2 500
B 500 [l A2 500
(ol SN2 4, 800 [l A2 4, 800
(LA A2 3,600 [l A2 500
S EE 2,800 (LA 500
2 SN 500 L AN 500
SEE 12,000 L AN 4, 800
2 SN 400 H=RE 3, 600
(LA 500 12 QA 214 500
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oy £7%F o £ 37
(WP 7,200 (i PN 4,400
MBI A 2B S 4,800 I 500
# ¢ R [l N 1 3, 600
P4 HERE (LI 4,800
izl L 50, 000 B 4R 3, 300
ol Wz 3,600 Bk F 4, 800
PP L T 0T 4,800 [l SN - 3,600
% N 21 9,000
WwinAREG AP 7,200 [l SN - 8,000
AR % 8,400 (i A= 1, 200
Al Y 2 7,200 5 e E 2,000
A2l W21 4,800 5 et 14, 000
Al B2 3,600 P 2 1, 200
51T 2,800 LAY 3,600
2l W 2 500 5 £.5% 300
Al N 4, 800 =l SN 500
Al N2 400 =l SN 600
BE T 4,800 N1 500
B3 N 3,200 A0 A 21 500
g % 12,000 Al N 2 500
2l SN 500 A2l N 2. 3, 600
120 N 2 4,000 Al SN2 400
B 7 R 2,400 A WO 2 4, 800
A Ny o 500 B35 4,800
Al Ny 500 2l SN 1,600
Ay Y 22 500 Ry 10, 000
A2l W21 4,000 -l SN 12,000
A2l W21 500 i SN 1 500
A2l W21 8, 400 % -2 12,000
Al WY 2 500 i SN 1 300
N2 500 i SN 1 500
Al N 3,600 2l SN 3, 600
-l SN2 12,000 2l SN 3, 600
B Em 3,300 N1 500
A2l N2 600 il N 500

-108 -




B A e Foik kg
113 & B 42 470

R £7%F A £3F
#FrDE 4, 800 BB 500
- 600 I WP 500
[ A 2 10, 500 TR 10, 000
%25 900 [l PN - 500
AN 500 [l PN - 500
AN 3, 300 [l PN - 500
ANy 2,000 [l PN - 500
#Ar O 500 BB 500
B oy 900 I WP 500
[ A2 1,000 HA B 4,000
ol W 1,200 B E2 800
N 500 ®EE 3,600
I 12,000 (LI 6, 000
(2l SN 2 4,800 [ A 6, 000
(2l SN 2 500 [ A 3, 600
[l A2 4,800 HA o® 2,100
[l A2 6,000 HA o® 2,000
[l A2 4,800 HA o® 4, 800
HE OB 3, 600 B Ik G 600
(3l SN 2 3, 600 B &4 3,000
% IR 3,000 TR 9,600
% R R 300 B i 3, 900
B F e 900 B e 4, 800
[l A2 4,800 (CA A 1,200
B ez 600 (CA A 4,100
B e & 4,800 =iy A 3, 600
HA O 800 =iy A 1,600
AN 3,600 B E 3,600
B P 4,800 TR 2,800
L SN & 500 TR 3, 900
LRV 6, 500 TR 2,000
A WD 2,400 (ol N 3, 600
I 2,000 B 3R 1, 800
I 7,200 B RAT 3,600
HA N 500 (ol N 1,200
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LA &3 . £

R 1,200 B 4,800
EERY 2,000 [#32@ 5, 600
EERY 500 [#3 2@ 3, 600
RPN 500 (P 4,800
B R IE 3, 600 #A o 300
R 7, 600 A 3, 600
B i 3,000 RPN 4, 400
W 4, 800 Ll WP 10, 200
BRA T 3,200 HA O 500
Y. 1,800 (2 3, 600
R 1,800 IR 200
®FF 3, 600 (N 500
B 2, 400 BT 3,000
EERY: 1,000 RIS 4, 400
EEy: 1,500 B 7, 200
Ry 6, 000 FHER 2,400
Ry 3,000 B hHE 4, 800
RPN 4, 800 (i SN 500
RPN 500 (i SN 4, 800
G EON . 4, 800 HA K 500
G EON . 2,000 HA K 500
2 3?;@: 8, 400 BB 500
G EON . 3, 200 [ A 2 500
WP 500 i W 3,600
G IPY:. 2,000 RPN 500
5 e E 2,700 RPN 4,200
PR 3, 600 o e 4,800
52 ) [ PN 3, 200
DN 3, 600 PN 2,400
RPN 4, 800 (i N 2 1,500
B 2,100 2 WA= 2,000
W 500 PN 4, 800
RN 4, 800 S 4, 800
Ry 3,600 RPN 4, 800
3 olg 3,600 RPN 3, 000
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£7%F o £ 37
800 (LN 500
& 3,300 [l NS 21 4,800
N 3,600 (LA NS 21 5,000
P 4,800 L A2 4,800
4, 800 BRAHF AT 4,800
3,600 L A2 4,000
500 L A2 1, 800
4,800 (LN 3,600
g AT 4,800 FIEAM RGP 6, 800
3,600 B2 2R 4,000
4,800 B2 2R 1, 800
[ PN 1, 800
2,700 i A 2,100
3,600 [ PN 500
- § 5, 400 [ PN 4, 800
o Ao 6, 000
BAZEM 4,000 Ao 16, 400
3R WDy 3, 600
(Ll NS - 7,200 il SN 2 4, 800
I DN 3,400 i SN 8,000
ol SN - 4,200 A PN 400
(LI N 3,200 R+ ik % 4, 800
I SN 500 BT E Y EAR
VREN 900 Be
4,800 ARERG P 4, 800
800 BN 2L G 5, 400
500 AR
11, 600 BE RGP 3,600
600 Ry SN 3, 600
4, 800 ol W2 2,000
3,600 B 4, 800
2,700 [l NS 21 3,600
3,600 (LN 500
1,200 [l NS 21 1, 200
2,400 AkaE 2,000
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i &% aia £

WO 6, 000 B 2,400
Tretsaas 2,400 [ SN 2,700
] 3,000 [ AN 2 2,400
¥ A ARRER G T 4, 800 AR 3,600
N A DN 800
B4 & HaE R 3, 600 [l S 300
>3 NP R I 2,800
i SNy 2,500 BN TE 4,000
(il A2 7,200 38 +F % 2,000
(Ll NS - 500 il NS 2 4, 800
[l NS - 3, 600 3E T BF 900
(Ll NS - 5,600 (i NS - 3, 600
(Ll NS - 500 2T 2,000
B % Z 3, 600 [l SN 4, 800
i 2 1, 200 [l SN2 1,500
i 2 3, 600 ol A2 500
i 2 8,400 ol A2 500
B 4, 400 ol A2 500
(Ll NS - 3,000 Al SN2 12,000
Ly N - 2,000 3E A 3, 300
[l SN - 9, 600 2 N 2, 800
BFa 1,200 [l SN 6, 000
B 7 3 3, 600 2y QAN 2 4, 800
B 500 Al SN 21 500
B {reat 3,000 il N2 | 4, 800
PN 5, 600 Al SN 500
i A 500 %51 AR 2,800
Ly Ny - 4, 800 [y NS - 4,000
2l SN 6, 200 3B s 2,100
(i Ny 2 1,800 3B S s 600
ol A2 10, 400 [l W= 500
BRE 2,100 (il N 2 4, 800
(i Ny 2 7,000 E 2 B 4, 800
(i NS - 3, 600 (il N 2 3, 200
3 — TF 3, 600 2l SN 2 500
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R £7%F - £3F
2l SN2 500 [l A 4, 800
I SN 500 [ 500
ol S 4,400 C NS 600
PN 500 o 500
Ay SN 1,000 [l A2 500
B O 2,000 N 500
RN 500 LIPS 500
R 2,000 [#3 2@ 3, 300
EERY 500 [#3 2@ 2, 400
Y. 1,500 I = 900
R AN 1,600 I AP 3,600
PN 500 EEN 4,800
i 500 %1% 4, 800
IR 2,000 wr R 500
IR 500 wr R 500
5% 1 2,400 (2l A 1,600
5k 045 400 7% 4,000
HE OB 500 (R A 2 15, 600
SR 7 1,500 (R A 2 500
N . 2,700 [ A 600
N . 9,600 (LI 4,500
N . 500 (LI 3,900
N . 3,600 [ A 5,200
ol W 2,000 =iy A 20, 000
I 500 54 B 6, 000
E 7 IR 5,200 5K 3 1,800
ol W 2,000 Al SN2 500
%V IR 4,000 F3 S 2,400
N . 500 772 B 2,000
5E T 3 3,000 RE = 1,500
ELS: 12,000 L A= 800
PN 800 (2 3, 600
il PN 4, 400 L 4,800
Al W 400 Al W] 2,400
Azl L 500 Al W 3/ 2,400
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ks £ 37 i £
(il N 2,600 L 500
2 4 2,400 S 500
(LI 2,000 (Ll A 21 2,000
(R A 12,000 (I 2,000
3E (% 14 4,900 (A 500
5E 0 d 3,900 (il SN 2, 800
5 T 5 1,200 W% B 3, 600
Y 5000 (@7 500
(i - 3,600 " om 500
5E 2 (X 6, 600 B2 B 500
(ol N 7,200 wr R 2,700
W 300 (Ll N 21 3, 600
W o 2,100 A B 800
SRR IE 600 (Ll N 21 3, 600
W 500 (Ll N 21 2,000
HA R 500 B R 1,100
(ol N 800 Hr DR 3, 600
(ol N 500 Hr DR 500
B 7,200 ol SN2 500
5 ¥ 2,100 5T H_ 2,400
W 1,000 (Ll N 21 2,000
WA o 800 %5 O 3, 600
W 2,700 (Ll N 21 3, 600
(ol SN 7,200 (LA 500
(ol SN 3,600 (LA 12,000
I 1, 800 (LA 3, 600
(il SN 2 4,000 R I 3,600
W 500 (Ll N 21 600
W 3,600 (Ll N 21 4, 800
wr O 1, 200 %Y IR 3,600
(I WA 500 (Ll N 21 3, 800
ol WA o) 5,600 (3l SN 3, 600
W 500 BT R 9, 800
=l SN 4,000 il N 500
%% % 2,000 Ry 2,000
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R £7%F - £3F
EERY 4,800  |@ 2R 4,800
(2l AN 2L 3,200 % 900
(2l AN 2L 500 % B AT 3, 600
5E 17 1% 3,600 5k |5 3,600
WD 300 5kl 1,000
IO 6, 000 YR} 1,200
5k 17 oF 4, 800 L A2 13, 200
[l A2 500 AR 3,900
3E (% e 400 B 1, 920
Y 1, 800 I = 2,000
I 3, 600 5 P A 13, 200
(I = 500 SR 2,400
Y 2,000 RPN 12, 000
IR 3, 600 wr R 1,800
ELNEEry 4,000 [ A 12,000
I DN 500 (Ll N 1,200
ol SN - 5,000 BB 600
HE OB 500 (2l A 4, 800
% ¥ 7,200 wr O 4, 800
Ry 2,000 EE PN 4, 200
E R 4, 800 (LI 1,200
N . 3,600 (LI 500
N . 3,600 [ A 3,600
Y 4,000 5E % fe 7,200
%k F 5 1,200 [ AN 22 6, 800
ol W 3, 600 A 1,600
RN 8, 400 i I = 3, 600
B O 1,500 (I A 1,000
Ry 4, 400 B H 3,600
I SN 1,400 (LI 500
(3l SN 2 3,200 TR 4, 800
(i NS - 2,000 (il N 2 500
(i NS - 3, 600 (il N 2 500
9k 4f T 3,600 R E I 1,200
STt 3,600 [ AN 2 3, 600
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- H £ 37 - H £ %
(N 2,400 AR 3,000
5RO 500 "o 3, 600
SRR 3,600 R H 8,000
L A 2 800 (LN 12,000
R IE 3,000 (LN 2,400
(ol N 500 (LI I 500
Ll A 22 1, 200 w2 12,000
(A 1,600 (L PN 500
5 3 3,600 "o 500
(il N 3,600 #r o 800
(il N 500 Ao 500
W 6,000 (LN 4, 800
W 3,000 (LN 4, 800
5k 4% 3, 600 A 9, 600
5 1 4 600 5% % 7% 3, 600
5k o 5 3,600 L PN 500
5 F P 800 RE R 2,000
SEiE R 4,200 RE R 3, 600
SEiE R 1,600 RE R 4, 800
5k o 3,600 (PN 500
L A 2 1,000 (PN 4, 800
L4 4, 800 (PN 400
L A 2 600 (PN 2,000
Al W2 500 L PN 1,000
(il PN 500 L PN 500
Al W2 9, 600 L PN 3, 600
(il PN 8,400 % Te 3,600
5k 75 300 (PN 500
L A 2 4, 800 (PN 4, 800
LA 2,100 (PN 2,700
i A 2 3,600 AR 400
(i PN 500 L N2 400
Al N 2 500 AR E 1,200
@3 O F 500 EARE 6, 000
(i PN 3,600 L N2 500
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|

2 237 LI £

R P F 4,200 [l A 4, 800
EEREY. 500  [E% A 3, 600
| 500 58 D 4 1,200
A S 2 4, 800 % I 14, 400
3l A 3, 600 L A2 1,200
9k & Uk 300 9% YR BF 600
Al SN 500 L A2 2,400
(3l SN 3 1,200 % F 6, 000
TR 2,400 [l A 3, 600
3l SN 2 3, 300 5k 4E 3, 600
ol W 3, 600 %2 Iéi"l 16, 800
T p 2,000 PRy 8, 400
(2l SN 2 3, 600 AR T 1,600
B I 600 iR 3, 600
(2l SN 2 9,600 [ A 9,600
[l A2 2,400 (L AN 2. 2,000
5B Jn 3,600 (L AN 2. 500
13 iié?] 2,100 (il AN 2L 6, 000
FA R 2,000 [ A2 4, 800
% e 4, 800 A 4, 800
& TP 4, 800 [l A 3, 600
& TP 2,100 7 Ik 72 3, 600
LN 3, 600 TR 1, 800
L S 1,600 (Ll AN 2. 500
& RIE 2,400 (L2 AN 2. 12,000
% T 4,800 (L2 AN 2. 4, 800
[l A 2 4,000 (Ll AN 2. 1,200
A 3,000 A £ 3,400
B3 4, 800 [l A 500
L A 400 [l A 2,400
L A 500 [ A 500
Ty 6,600 [w o 500
30§ 4, 800 Y 6, 000
Ay SN 500 [l A2 4,000
Al SN 4,500 [l A2 500
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A £% s £%F
[l NS 21 1, 800 SR AL 3,600
[l AN 21 1,500 [ A 12,000
[l AN 21 3,600 [ A 500
(10 A 500 LU N 2,000
(10 A 7,000 LA N 2,000
i WP 2,700 R E 4,500
5k = 12,000 LA N 2,000
5 A2 TR 600 [ A 500
[l AN 21 3,600 [ A 400
[l NS 21 4,400 (LA N 4, 800
[l S 3,600 3Rk 3 4, 800
5E 5 K 2,400 [ N 1,200
5k RH 5,200 [ 3,000
5E 7 > 3,000 3E A 4R 500
[l A 3,600 3E A 4R 12,000
[l S 3,200 3K  4F 3,600
[l NS 21 4,000 5E A 1d 4,000
[l NS 21 2,000 (Ll N 500
5k 5 o 3,600 P B 7,200
5& 5 o 3,000 Hr R 1,000
H2 2R 3,600 Hr R 4,800
[l N 21 4,800 [EN 500
[l N 21 3,600 [EN 500
[l S 9,000 (Ll N 4,800
[l S 5,500 (Ll N 4,800
ol SN 2 500 (il AN 500
E AT W 600 [l S 2 6, 000
[l A 4,200 Hr R 5,200
A=l SNy 500 B 4,400
(i Pz 12,000 5E i e 2, 400
P 2,000 5k i 1,800
(LA N 21 500 5k j 4 900
[l NS 22 500 (Ll A= 1, 800
[l A 21 500 (Ll N 800
L e 3,600 (Ll N 5,000
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- £7%F - £3F
P = 1,800 (I 4, 800
(LI 500 #Fr o 3,300
EF 8,000 w3 R 500
AN 400 [l PN - 1,000
AN 4, 800 [l PN - 500
AN 3,600 [l PN - 1,000
AN 600 [l PN - 4, 800
[ A 2 2,000 TR 1,800
(LI 1, 200 5 B 7% 400
[ A2 3,600 HA B 4,000
ol W 4,800 %R &b o 2,400
e 1, 600 TR 4,800
(2l SN 2 3,600 [ A 4,800
(2l SN 2 9,200 [ A 4,600
5k oAy 3, 600 TR 3,000
(LI 1, 200 5E Ak 2,100
[l A2 3,600 HA o® 4, 800
[l A2 4, 800 HA o® 2,800
(LI 500 (A 300
(3l SN 2 2,700 [l A 2,400
(3l SN 2 7,200 % E 600
(3l SN 2 6, 200 [ A 3, 200
R b5 3,600 [l A 3,000
[l A2 500 [ AN 22 3, 600
(LA 3, 600 (ol 4,000
(LA 1, 200 (ol 4, 400
(LA 4, 800 (ol 3, 600
(3l SN 2 11,000 3% 5k P 3,100
S 4,800 TR 500
[ A 2 6, 000 TR 3, 300
5k B b 400 TR 3, 600
R 4, 800 5k P 3w 4, 800
% B Y 1, 800 il A 500
I 4,000 PN 500
HA N 500 PN 2,000
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oy £7%F o £ 37
BE A% 5% 3, 600 iy W= 2,000
iy SN - 900 [l A - 4, 800
(il NS 22 5,000 w2 o 4, 800
2l WY 2 400 B A4 4, 800
2l W 2 4,200 [l SN 2 3,000
2l WY 2 4,800 [l SN 2 1,000
2l W 2 3,600 5 25 bF 400
- EDN . 3,600 [l A 12, 000
I 600 %R 2,000
Al Ny 2 900 [ NS 21 1, 600
Al Ay 2 500 [l NS 21 2,400
I 1,000 #r o 500
2l W 2 1,500 [l NS 2 4, 800
A Y o 1,500 [Er N 3,000
SE 8 E 3,600 (i N 21 500
L A 2 500 [l NS 21 3,600
5E 7 3 3,600 ES 3,600
3E T 0 800 2l A 214 4,000
3E T 0 2,000 2l A 214 3, 600
2l W 2 3,000 [l NS 21 9,600
5K 78 4 1,500 [l NS 21 4, 800
5K 78 4 3,600 [Er N 2,000
5E 58 & 500 =iy A 3, 600
5E 9% & 4,200 (L N 3,600
5 5% & 500 i P 800
5E 9% & 4,000 ol W2 4,400
5E 72 B 12,000 (L N 500
5E 78 4 500 REY 4, 800
Y 2,700 [l SN 2 4, 800
A W21 800 [l SN - 500
iy A 500 3 3h 3,600
il A= 2,100 w2 OB 6, 000
N 2] 11, 200 iy W 300
Al WY 2 4,800 A oB 5,000
WA 2,000 (i A= 4, 800
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oy £3F - £ 37
5 74 3 4,200 [l NS 21 3,600
5 74 3 1,200 [l NS 21 3,600
ol SN - 600 5 3 ¥ 4,800
i N 2 800 [ S 2,200
5k 3h Ak 300 [ S 4,800
i N = 4, 400 [ S 500
(10 A 1,000 EE A 4,800
SE T 11,000 [l NS 21 4,800
5 34 % 3,600 [l NS 21 3,600
5 3y 4,000 2 4, 800
5 34y 3,600 3k £ 4, 800
i SN2 4,800 5k £ 3,600
i SN2 4,800 R EE 1, 200
i SN2 9,600 (i N 21 11,000
%1 5,200 (I A 3,000
2 2R 3,900 [l NS 21 2,400
SEAS fi 3,200 (i W 800
2 2R 3,800 [l NS 21 4, 800
ol SN - 4,800 & EAn 9,600
(3l SN 2 4,400 [l A 400
ol SN2 600 [Er N 400
5E 3 p 3,300 [l NS 21 500
SRS 3,200 [l NS 21 400
72 2R 3, 600 (L N 12,000
72 2R 3,000 (L N 3,600
72 2R 500 (L N 4,000
5k PG 2,400 (L N 1,000
ol SN2 600 [l N 21 4, 800
ol SN2 1,500 (LA N 21 3,300
722 500 [l NS 21 4,000
722 500 [l NS 21 2,000
L SN 3,600 (il NS 21 2,400
L SN 3,000 RI5 37 1,200
5k I & 4,000 (il NS 21 4,800
L SN 4,800 (il NS 21 600
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P BE A

Podoe i &€

H3ﬁ&ﬁiﬁm¢

R £7%F - £3F
I WO - 2,400 I 2,400
56 31 1] 900 B 1,000
izl N 500 2y AN 8,800
DN 3, 600 %K H 2,100
WD 500 2% o B 500
Ay SN 3,600 2l A . 2,000
Y. 500 2y SN 12,000
o SN 2,000 [ 500
RAR > 4,200 RE 4, 800
SEAR R 1,600 (ol SN 2 3, 600
L I 500 (LA N 500
LRIR 500 RRIR 500
SR 500 27 2 f 500
R 4, 800 2B 2,800
i N 2,000 [ 500
SEAMF 2, 400 72 O 1,500
RPN 6, 000 ey 3, 600
Ry 1,800 2 6, 000
Y. 500 %E?%«v 4, 800
I 500 - 3, 600
EW T 7,200 5E % 4 2,000
SEHT 4, 800 AP 2,000
N . 3,600 Ly 500
ol W 4,800 3 B 3, 600
5k T 4,800 frE'i%‘s 6, 000
ol SN 2 500 (R A 2 4, 800
W 3, 600 EEIPN 500
33T 3, 600 RPN 12, 000
i I 4,000 (A 3,300
CRIR 4, 800 GRIR 500
(G SN = 7,000 %2 4, 800
(3l AN 4,800 [l A2 900
Rzl L 500 [y N2 400
(2l SN 21 3, 000 HAr R 4, 800
& b ¥ 2,000 i A2 4, 800
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B A e Foik kg
113 & B 42 470

- £7%F - £3F
EERY 3,300 [#32m 4,800
SEE T 3,000 SN 21 3,300
5% 47 i 3,600 R 3, 600
LRI 5,700  |#@7 2 500
LRI 3,600, |®7 am 6, 000
R 3, 600 63T 2, 400
Al SN 2 2,000 L A2 4,800
EL = 3,000 % B 4o 500
ol S 500 % B 4o 4, 800
I DN 500 BB 500
EEY: 1,200 36 B 1, 800
ol SN . 500 A 2,400
SRR 2,200 TR 4, 800
5% BRAT 6, 000 TR 3, 600
I 2,700 5B 500
2l A 1,600 R 3,600
5k o 9, 600 ERT 3, 600
2l A 2,400 R A 600
HE OB 300 (2l A 2 500
5 A T 6, 000 5 B4 4,000
TS 1,200 56 B4R 2,100
51 3% 4, 800 IO 1, 200
PRy 3, 600 £ 73 500
% i L34 8,000 % Bk 3,000
ol W 2,100 =iy A 10, 000
ol W 6,000 =iy A 5, 600
E4H 3. 600 5 ]k 3, 600
ol SN 500 A 500
EIf * 800 TR 500
=l N1 2,100 [l A 4,000
[l AN 2L 3, 600 A 9, 600
(2l SN 21 500 [ AN 2 1,600
ey Ny 2 3, 600 (il N 2 500
=l W 500 2l SN 3, 600
(2l SN 2L 2,400 [ AN 2 7, 200
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B A e Foik kg
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LA £4F i &%
i e 4, 800 LR IPN-" 4,000
Y 900 Tk BN F 02 3, 600
SEHH 3, 600 o
@7 500 B DR 2, 800
56 B 4, 800 DN 4, 800
R 4, 800 "D 4, 800
PN 4, 800 FREFE LG I 4,800
(R 4, 800 2
ey 4. 800 N 1,200
Y. 1, 800 RPN 1, 600
Y. 3, 600 RPN 217, 200
W 2,700 RPN 6, 000
w 4, 800 RPN 1,200
3K égz: 3,900 Al AN 4,000
% 1o 2,400 RPN 1,200
3E %73 4, 200 Ay AN 2L 500
HE OB 500 Ry AN 3, 800
Ry 2,400 RPN 2,000
Ry 10, 800 RPN 3, 600
LRI 3, 600 IR 900
[ S 3, 600 A AN 2 4,700
& Bk 400 @72 B 4,000
. _ RIS 900
Y 500 BiG iad 4,400
WO 4,000 EHER%E o 4, 800
5E 13 3% 6, 000 BRI 42G T 7,300
5E KX 4, 800 AP LR A7
Ry 2,000 BB A 3,000
Ry 500 w2 o 3,600
Y 3, 600 A2l WA 31 500
P 5,400 #3 o i 500
R 4, 400 o 3,000
HA 500 (A 3, 600
Ry 3,300 wa =R 10, 800
R 12, 000 RS 3,300
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B A e Foik kg
113 & B 42 470

i &% aia £

t %k 800 [l A 2 400
t 75 1,500 iy W= 500
LONE$28 400 [ A 3, 600
Ay SN 6, 000 [l A2 500
Ay SN 9,000 [l A2 500
3l A 4,800 [ A -
¥ Fod 1,600 L A2 3, 600
(3l SN 3 3, 600 [l A 2,400
A3l WAL 500 iy W= 3, 600
DN 3, 600 BB 500
WO 3, 600 T 3,600
N 500 (LI 500
i N 500 [ 500
(3l AN 3,600 TR 500
§ B 3, 600 [ N 300
PN 500 w2 o 300
DN 500 N 6, 000
i W2 3,600 i SN 3,000
t% 4,800 (o AN 2. 9,000
N . 3,600 (LI 500
i I = 3,300 #73 o 500
FERY: 3, 600 Ry 4, 800
L s 3, 600 R AP 4,800
2l A 4,800 =iy A 3, 300
PN 500 (L P 500
HA O 500 @A 500
2l A 2,000 =iy A 2,000
N . 4,000 (LI 1,600
3 B 500 @3 B 4, 000
i AP 2,400 X 3, 600
(3l SN 2 3, 600 TR 500
WD 2,000 2 ey 5, 600
[l A2 3,900 HAr R 1, 600
Al W 500 iy W 500
WA 6, 000 2l SN 2 800
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B A e Foik kg
113 & B 42 470

i &% aia £

EERY 3,800 [#3 2@ 3, 600
EERY 1,600 [#3 2@ 2,000
Ry 4,800 EEEY 500
Iy 3,300 RPN 500
LIPS 3, 600 Ry 9, 400
Ay SN 9,000 [l A 500
e 3,000 L A2 500
ol SN 4,200 [l A 500
izl L 500 2R AT 2,600
HA OB 2,800 (A A 3,600
e A 4,800 ZR& 7,300
EERY: 500 @7 o 500
[ SN 500 A 3, 600
R 1, 800 I 5, 400
w10 6,000 |W7 2@ 2, 400
. 4,800 1 7 & 6, 000
P 500 BB 400
PRy 4, 400 OB 4, 000
RA 4, 800 I 4, 800
Y 1,200 |2z 4,800
Y 2,000 [l NS 2 7,200
EERY:. 4,800 [#7 o 4,100
I SN 2,100 B2 oR 500
AP 5,200 B+ i 4, 800
Ry 2, 400 Ry 400
DN 500 @A 3, 600
I 500 w3 B 600
[ A2 9, 200 TR 4, 400
Y 9,500 [l Ny 2 3, 800
Y 4,000 BALT AP 2, 400
rE R 2,400 [l W= 7,200
IO 500 w2 500
Ry 3, 600 B G 4, 800
(SN 1,200 (N 4, 800
Azl L 500 [l N 4,700
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B A e Foik kg
113 & B 42 470

s £3F i £%
EERY 1,800 |3 2@ 8,600
Y 4,400  |EF#F 3, 600
HAMAG AP 3,700 |W7 o 6, 600
ol Wz 500 [l SN 800
A N 2 3,000 [l WO 500
4,800 L A2 4,800
i DN 500 s 4,800
PR 5, 400 [l SN - 3,300
kG P 4, 800 B 500
BATRED fEn 4, 800 PN 7,200
Fa (30 SN 3 500
W 4, 800 (Ll N 21 500
I 2,400 (LI 3, 600
N 4, 800 iR 1,000
iy SN 300 ﬁiﬂ;@?] 3, 600
N 500 (A 3,600
HA o 4, 800 LTS 4 4,800
HE OB 3, 600 (2l A 2 3, 600
W 3,600 wr O 300
N 4, 800 L) 1, 200
e 3, 600 0 WA 4, 800
3P 1, 600 Ry 3,000
RPN 4, 800 DN 4, 800
(3l AN 1, 200 (il AN 500
ol W 4,800 (2l AN 21 4, 800
PN 4,000 L e 4,800
2 1 3, 800 [l S 2 4, 800
I 500 P 1,000
P 2,000 il 1,200
Ry 1,600  [@7 o 900
(2l SN 500 wiE 3, 600
i SN2 4,000 (il NS 21 12,000
i PN 1, 800 b 4, 800
[l A2 4,800 [l A2 12,000
L SN 500 (il NS 21 500

-127 -



B A e Foik kg
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£ 37 - H £%F

1, 800 Ly RN 12,000
1,200 [E 500
500 LN 8,000
7,200 B e 700
4,800 g% 7 2,400
2,400 w22 4,800
500 B g 2 2,000
500 LN 2,400
500 LN 500
1,500 (A 500
2,700 L 2,800
3,600 B ¥4 H 1,200
600 R 2,400
3,300 [EIN 3,600
5,000 [EIN 9, 600
3,900 w22 3,000
3,000 3 78 4o 500
3,200 3 78 4o 4,200
3,600 3 T8 4,800
500 3 78 4, 800
3,000 [EN 3,600
400 [Er N 4, 800
500 BT A 2,000

1, 800 TR 1,200
1,500 B2 2R 500
2,000 w2 R 3,600
2,100 w2 R 500
4,800 2R 3, 300
13, 200 [EN 7,200
4,800 e Tp 3,600
500 [E 3,600
4,800 B2 2R 500
500 B2 2R 2,300
500 B2 2R 500
600 B2 2R 3,600
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i &3 s £

nEE 9,000 DN 500
PN 500 HAOE 3,600
HER % 12,100 (i P 600
e L) 2,700 b 600
SRR 1,200 o 1,600
Y. 3, 600 7 10, 000
T3 o 500 @ o m 12, 000
B e 3, 300 [ A 3, 600
B 500 HAOE 11, 000
PN 2,400 (L N 7,200
PR 600 EAN 4 300
Ry 4, 800 e 4,800
WO 500 [ AN 2 2,400
WO 500 [ AN 2 2,400
ER 1,800 |#®71om 4,800
DN 500 w3 2 3, 600
e 2,000 [@7 2w 4, 800
73 2@ 2, 600 (P 400
L A2 500 FIE 2,000
F 3 N 300 [l N1 800
TR 4, 800 FHR 3, 600
B 500 [ PN 7,000
A 2,800 AR 4, 800
I WO 12,100 W 3,000
I WO 4, 800 W 1,000
A SN 2 500 [l S 2 3, 600
A RSt 2,400 AP 500
RN 12, 000 #AoE 8,000
25— mg 4, 800 BB 4, 800
AL 3, 300 4 3, 600
AR 2,400 F AL 400
a2 4,000 CRIRE: 3, 300
AN 3,600 i SN 300
AN 4, 800 PN 500
= 3,000 WA OB 1,800
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A £% s £%F
PN 500 NN 4,800
(il - 3,600 W om 500
Hh s 27,600  [Fp 800
PN 3,600 o 3, 600
HLE 15, 600 R 3,300
RIS 2,000 [l A 2,000
RIS 4, 800 [l A 500
PN 5, 400 g 4,800
(WP 2,400 (i PN 500
HA o 1,500 (i PN 600
. 1,500 Y 2, 400
%A 4, 800 [l Ny 2 500
O 2,100 [ PN 3, 600
Y 4,700 GEAC 3, 600
I 500 (PN 2,000
RIS 3,200 [ 3, 600
PR 500 W 4,000
WD 500 (L 3,000
WA N 500 A2 WA 3,600
R 500 i SN 4, 800
Y 600 Al N2 500
Y 500 i SN 500
Y 500 i SN 4, 400
BN 500 Al SN2 14, 000
N 500 [zl 4, 800
#7355 3, 600 AN 500
T 800 Al N o 500
R 3, 600 2l SN2 6,000
Ry 10, 800 kR 500
(A 500 i A 2 500
3 (A 3,600 wE2 2, 400
. 3, 300 Al SN 2 1,200
XD 7,200 Al A 500
PR 3, 200 Al SN 2 500
Fla 4, 800 Al N 21 3, 600
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L i £4F i £
EEEY. 500 |W2 AR b00
Ry 400 [k 1, 500
-l WO/ 500 (=l NS - 2, 800
RPN 500 R IPY: 3, 600
®7 2F 2,700] |@ 2@ 5, 800
Y 3,600 [3#E 10, 000
97 2 F 400 (#732m@ 4,800
Y 2, 400 CRIP:: 500
EEEY. 500 |W2 AR 4,800
EES 500 [ NS 21 500
i E 2,000 EFEY: 4, 800
RN 7,2000 [#3 2@ 000
PR 4, 800 i A 3,300
FERY. 500 [#3 2@ 000
PR 500 [l Ny 2 3, 600
I 3,600 |#7 o 3, 000
EERY 4,800  |@ 2@ 1, 500
EERY 1,000 [#3 2@ b00
T 3,000 [#3 2R 3, 600
(= 4, 800 FE L 1,800
PR 3, 600 [l SN 2 3,600
B 3,600 |#7om 600
PR 500 [l SN 2 1,200
Ry 3,600 [#7 2w 3, 600
= Fal 600]  [sFies 1,800
ey 4,800 |@73 2@ 4, 800
ey 3,900 [#7 2w 6, 000
PR 8, 400 [l SN 2 9,000
N1 2,000 R E 12,000
B A 2,100 itk 900
25 TR 1,200 [E 3, 600
<0 1 3, 600 RPN 200
PR 3, 600 RPN 800
PN 500 (2 4,000
Ry 3,300 |®32m 200
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L i £4F i £
PRy 12,000  [@72 =@ 4,100
EEEY. 5000 |W7 AR b00
PN 500 T 9 5 2, 000
CRY: 4,1000 |[#7 2@ 8, 000
®7 2F 2,0000 |[W o 200
Y 500 R IPY: 3, 600
IOy 500 IR 500
B o 500 [l SN - 500
EEEY. 500 |W2 AR 1, 200
Y. 3,200 [ 3, 600
DN 500 Ao 4,800
Ry 9,000 |[#3 2@ 000
P 2,000 i A 500
TRy 2,100 IR 3, 600
Ry 3, 600 RPN 2,400
I 2,000 Y 500
T 5 5 2, 400 Y 1, 000
™ 10, 000 SRR 4, 400
HFER I F 800 @73 R 2,000
WA E 4, 800 Y 3, 600
Y 4, 400 i SN 4, 800
Y. 1,000  [#F7em 200
Ry 12,0000  [F7e 3, 600

Ry

4, 400

HFRE

3,600

EEPY:

12,000

e

3,600

PN

3,600

B R

3,600

55 & 3,000 WD 1,200
(3l SN 2 2,400 [l A 500
(=l SN 2 3, 600 AN 500
F R A 1,600 [ 1,200
=l SN2 500 #TF 1,800
(i NS - 900 FE H 3, 600
(i NS - 500 (i A 2 400
(i NS - 3, 300 (i A 2 300
2 B 4, 800 [l S 2 4, 800
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X &4 i £

Y 500 2 LR 4, 800
EERY 500 [#3 2@ 3, 000
EERY 3,000 [#@3 2@ 4,800
s 4, 800 RPN 500
Ry 2,000 wET 2, 400
RPN 500 (P 500
Y 8, 400 GRS 800
Y. 4, 800 B 2,000
2 78 4R 3, 600 [l N 1 3,000
7 2, 800 it 1,200
R IPN 500 RPN 500
PRy 7,200 [l SN 4, 800
PR 2,400 [l SN 500
PR 3, 600 [l NS 2 4,800
PR 2,400 [l SN 1, 500
Ry 4, 400 (2 3, 600
S Ee 3,300 |#7 o 2, 000
Ry 2, 000 BN 400
Ry 2, 400 (2 4, 800
R 4, 800 W 4, 800
Y 2,400 [l NS 2 3, 200
2 B 4, 800 B 900
£ 3,000 EERY: 7,200
HER 3,600 @ o 2, 000
R IPN 4,800 wE G 600
G IPY:. 3, 600 RPN 500
EE 0N 1, 600 i W 500
ke 4,000  [FR = 400
25 i 2,400 P 200
PRy 3,600  [sFR4E 500
PRy 3,200 [ R4 4, 000
Iy 4, 800 IR 3, 000
FAE R 3,600 i WP 500
I 1,800 I 200
I IPY-. 900 IR 200
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B A e Foik kg
113 & B 42 470

oy 8 £% oy i a £7%F
HFE 2 4, 400 " om 2,000
(il - 2,000 W om 500
FRRE R 1,600 [#7 2@ 3, 600
o W 11, 000
(il SN 22 500 [ PN 3,000
A=l AN 9, 200 [l A 2,000
i 3, 600 EEPY:. 500
RS 2,000 Wiy R 3, 600
i 3,000 [w o 2, 000
(il A2 1,600 il N2 6, 000
2583 2,100 (Ll A 2 4,000
(il A2 400 b 3, 600
(2l SN 2 500 BB 4,800
I 4, 800 (LI 3, 800
@2 gk 4, 800 [ 400
@2 ¥ 300 @ kg4 TR 4, 800
N 21 500 (Ll A 2 2,100
(il A2 4, 800 il N2 3, 700
I 3,200 FRX T 300
PN 800 3T 4 1, 800
[l SN 3, 600 [ PN 4,000
i SN 9, 700 [ SN 3,700
i I = 800 R F 3,600
@A 4,000 3 & 1,200
(il A2 500 (2l SN 3, 600
(il A2 500 (2l SN 9,600
WD 600 3R F 4, 800
Ry 500 380 4o 3, 600
;] 5,000 (LI 500
Ry 400 Py 500
HA O 3,600 (L 2,000
e 3,600 I 500
[l A 4,400 ;R 4, 800
iR 3, 600 FRE 4 7,000
L SN 3, 600 A W2 500
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B A e Foik kg
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i &% aia £

I 9, 600 i 3,600
LN 2,400 EF 2,100
(ol SN 3 4,800 [l A 3, 600
iy PN 3, 300 [y NS - 4, 800
SRR 2, 800 Ry 3, 600
AN 7,000 ELP R 6, 000
AN 1,200 ELP R 3, 600
EL W 4, 800 et 3, 600
R IDN-" 500 ELERE 2,400
3833 F 8,000 ELT RS 14, 400
PN 4, 800 BB 400
I 4, 400 ELT RS 400
i N 4, 800 (LI 3, 600
ELE 3, 600 TR 2,000
[ A2 4,800 [ A 1, 800
RPN 6, 600 PO 7,600
[ SN 1,500 EL e 3,600
I 500 FOP R 300
PN 500 @3 2 p 500
RPN 500 Rz 2 6, 600
3% & 3,600 |@7 o 500
I 500 (LI 3, 600
N . 500 (LI 2,400
AN 500 55 5E 16, 800
Y 2,000 RPN 500
I 500 R E 3, 600
R Ao 3,600 =iy A 8,000
(3l AN 3,600 TR 900
(3l AN 1,600 ik Z 4, 800
(3l SN 2 3,900 TR 6, 600
TIPS 4, 800 A 2,000
PN 600 (2 3, 600
Y 300 3 3, 600
Y 3,600 EEPY: 3,600
(i NS - 3,600 2l SN 2 500
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B A e Foik kg
113 & B 42 470

ks £ 37 i £
- EDN. 2,400 [l A 22, 800
EERY 400 [#3 2@ 4,800
EERY 3,600 [#32m 2,100
T & 9,200 "y 7,200
L A 2 500 w2 4, 800
FRaE 2 3, 600 [N 500
(A 6, 600 w2 9,000
L 4,800 "o 4, 800
EERY 500 [#3 2@ 3, 600
FREC G 3,600 (A 1,500
I I 500 w2 o B 4, 800
W 500 ) 3,600
W 7,000 (LA 4,000
FOPt 1,800 (LA 3,200
3% 4p & 400 (i N 21 2,000
wr o 4,400 (A 5,700
wr o 500 w2 o 9, 600
3R % 7,200 ol WA= 2,400
FLEZE73 1,200 ¥ R 4,400
(LI WA 500 (LI 500
W 500 FUM 3,600
DN 500 S 4, 800
W 2,000 wr o 500
I WA 500 w3 B 500
I WA 500 w3 B 500
FRE 500 Ry SN 3, 600
FRE 500 BAr OB 500
(LI WA 500 (LI 4,500
W 4,000 B2 4, 200
(I WA 4, 800 (L= 2,800
(I WA 2,100 (LI 2,000
ol WA o) 500 (3l SN 3,000
i I 2. 400 A 600
ol W 2,100 iy SN 500
Al W 500 iy W 4, 800
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AR A Fiddo~ KA E €
113 & & 45 % 4748 i1 8

L3 £ L £
(LA A2 500 REE 4, 800
FRETE 3,600 [l A2 900
(LA A2 4, 800 [ A= 500
(Ll SN 1, 000 2 S 2 3, 600
FUARE 2,700 HA OB 500
Rk B 3, 600 2 S 2 3, 200
Rk B 2,700 HA OB 500
[ A2 4, 800 AR D 4, 800
(LI A2 4,000 1= 3,000
Rk & 4, 800 [l A2 2,400
(LA 4, 800 L AN 2 1, 500
R E e 3, 000 [l A2 500
U 3, 600 [l A2 500
(ol SN2 500 [l A2 3, 700
(ol SN2 500 [l A2 3, 600
[ A 4, 800 L AN 2 500
23 o F 2,400 REE 4, 800
Foo 500 [l A2 4, 800
[l S 2,000 [l A2 1,000
FRE I 2,000 [ A2 500
NE=E 3, 600 TR H AR 4, 800
(ol SN 500 ELE 3, 600
[ A2 4, 400 LTS 3, 200
ol A2 12,000 [l A2 500
[ A2 2,000 FRBER 16, 000
[ A2 500 L AN 2 1, 200
[ A2 1,600 3R i 8, 800
[ A2 500 REH 3,000
¥R e = 3, 600 [l A2 500
Rict 6, 200 (LA 1,200
(LA A2 4, 800 (LA 1, 800
Al SN 3, 600 (L A 1, 600
73 O 1, 000 (LA 7,200
" %%A?]‘ 4, 800 (LA 500
83 O 2,400 Fr R 3, 200
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B A e Foik kg
113 & B 42 470

LA £3F X &3
O 6,000, |#7om 3,600
PRy 1,800  [m4 3 2,000
31 5 3,0000 |®7am 3,600
Ry 1,600  [m4 % 3,600
Ry 800 |#7om 2, 400
SR 600 [w o 11, 400
§r4e 7,000 [#3 o 1,200
51 A 3,600, |#7om 500
Fib 3,600, |#7 o 500
EERY 4,400 |@7om 3,600
PRy 4,400  |mro® 3,600
EEY: 4,800 |w7 o 500
53 B 9,600, |®7 o 7,000
EEEY: 4,400 |w7 o 4, 800
EEEY: 5000 [wm o 3,900
EERY 2,400 |#7 o 500
SR E 3,600, |@7 o 1,000
EERY 9,000, [#7 o 7,200
EERY 3,600, |#7 o 500
Ry 3,600 | % 2,700
SRR 300 |@r om 4, 800
Y. 3,600, |#7 o 4, 600
Y. 4,800 |w7 o 500
R 3,300, |#7 o 2, 000
i 4,800 |@7 o 4,000
584 1,600] [w3 2w 4, 800
w2 o 500 |- 12, 000
Ry 3,300 iz 2, 000
Y. 5000 [ o 3, 600
30§ 45 % 7,200 [#7 o 3,600
%o R 4, 800
- 6,200 [z 2 5,800
2 o 5000 [z g 6, 900
T 4,400  |@a o 7,200
TREY 1,500 [@32m 500
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B A e Foik kg
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i &% aia £

L SO 1,000 (LI 500
[l A 3, 600 & - 3,600
ol S 3, 600 [ A 3, 600
PN 3,300 MR 4,000
3l A 500 L A2 3, 600
Ry 4, 800 R IP: 1,000
i RPN = 500 LS 6, 000
M= o 7,200 Ry 1,600
SO 3,600 [ 500
ol W 1,800 (2l A 2,000
PN 4, 800 M g 4, 800
R 3, 600 [l Ny 2 3, 600
i N 500 [ 4,800
[ A2 500 TR 500
Ry 1,200 My § 2,400
2l A 4,800 (A 300
RPN 2,400 Gl P 500
Ll SO 1,200 BB 300
PN 4,700 PR H 7,000
M~k 3, 600 TR 12,000
B O 3, 600 Fr B 500
N . 500 [ A 800
I SN 8,400 B2 oR 3,600
2l A 9,000 =iy A 9,000
Mo H 3, 600 BAr OB 8,400
WD 12, 400 S 4, 800
(=l AN 9, 500 (i ] 500
ol SN 500 A 4, 800
N . 1, 800 [ A 3,600
DIk 500 (LU AN 2 3,600
PRk 500 P37 3,600
24 2,100 o E 3,000
AN 3, 600 PR %5 £ 9, 000
[l A2 3,600 M B 3, 600
WA 2,800 2l SN 2 3,600
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B A e Foik kg
113 & B 42 470

R £7%F A £3F
ol SN - 4, 400 PNy 4,800
ol SN 3, 600 3% 4,700
L SO 1,100 [ 3, 600
il W 3,600 o 2,400
AN 900 o 3,600
AN 400 o 3,600
ol N 4,800 [ A2 13, 200
[ EEN N 4,800 [ A 2,800
(3l SN 3 900 Rz iE 5,000
P A 42 3, 600 2l SN 2 500
RPN = 4,800 ik 2, 600
N 500 72 B 7,000
I 500 MR 3, 600
[ A2 500 TR 7,200
I 3,300 B R 4, 800
N 21 6, 000 (Ll N 4,800
LIRS 3, 600 B 2,600
DN 5, 700 BB 2,400
3l SN 3 1,800 (2l A 9,600
(3l AN 3, 600 Mz a 6, 800
B O 500 Fr B 4,800
B O 500 Fr B 4,800
(3l SN 2 500 R e 5% 3, 600
A W2 2,700 i SN 300
I DN 500 #Fr o 500
LA 500 L A 1,600
M3 4% 4,400 FRE 1,200
ol SN 500 [l A 1,000
M3 3,600 Ao 11, 200
RIE 500 @3 OB 1,200
(3l SN 2 2,000 TR 3,900
(2l SN 21 4,800 M 3 300
(i NS - 7,200 (il N 2 3, 600
(i NS - 1,500 (il N 2 9, 000
(i NS - 1,200 2l SN 2 600

-140 -




SRS T ACEE S N

113 4 B 4 4788 i 9

L &3 LA &9F
% 3k 4, 800 [ A2 500
FR% 3k 3,600 [ A2 500
FA R 3,600 [ A2 500
8RS 3, 600 2 i 4, 800
il BIF 5, 000 M2 R 3, 600
Ay SN 500 [ A = 3, 600
Al A 12,000 [ A= 3, 300
FA R 4, 800 [ A2 4,400
R 4 1,800 [ A 3, 600
3l SN 2 500 Mg = 3,000
FA R 4, 800 [ A2 7,200
(2l SN 2 500 & 7,000
(2l SN 2 500 [ A 3, 600
R4 3,200 [ A 500
(2l SN 2 500 [ A 4,800
3l SN 3 500 (il AN 2L 4,000
FA R 2,400 [ A2 3, 600
M 5 3,600 (il AN 2L 12,000
FA R 4, 800 A A 600
P OE 4,200 Ay A2 2,000
ERERRN Y SR 1,200 @2 R 3, 200
(3l SN 2 800 MmE R 4, 800
TIPS 1, 800 MR 4,000
R 5. = 300 %13 4, 800
FA R 1,500 [l A 600
FA R 300 [l A 3, 200
FA R 2,700 [l A 900
(3l SN 2 1,200 [l A 2,800
M % ik 4,200 [ A 2,100
(3l SN 2 9,400 M2y 7, 800
(3l SN 2 2,000 [P 11,000
Al SN 4,800 [l A2 2,000
Al SN 12,000 [l A2 3, 600
47 EX, 3, 000 [l A 2,800
R4t % 7,000 T & 3, 600
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LA &4 LA &4
= 2,800 IO 2,000
= 2,000 IO 1,500
Ry 3, 600 %R 2,000
R 14, 400 L 3, 600
Y 2,000 % B 8, 400
MU es 4, 800 LS 3, 600
T T 600 e 12, 200
TRy 500 Mm% 5 3, 600
% 4o 3, 300 RPN 500
B3 O 500 RPN 500
= 3, 600 RPN 3, 200
M % 3% 4, 800 I 3, 600
% 3% 900 Mm% g 500
Ry 3,600 N 2,000
I 5,200 M4 K 500
Y 3,200 Mm% g 1,500
#3 2 500 LI 3, 600
#3 2 3, 600 RPN 500
#3 2 500 RPN 500
R 2,000 RPN 3, 300
L 500 i SN 500
L 800 Mm% % 2, 800
fh % 500 W% 3,900
M % 7,200 W% 4, 800
= 1,200 PN 2,000
= 500 PN 3, 600
I = 600 PN 12, 000
Y 16, 800 RPN 5,000
R 500 R IPN-" 4, 800
Ry 5,000 BT g 2,700
P 2,000 LTS 3, 600
Ry 3, 600 RPN 3, 600
Ry 4, 800 RPN 1,200
% 4, 800 RPN 500
L] 3, 600 B 3, 600
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- £ 37 - H £%F

P a7 2,100 (LI 1,200
MR 3,600 [ 10, 800
M A 2,700 [ 2,000
MR 3,200 IR 3,000
2l S =1 300 (LI 400
2l S 21 500 (LI 3,600
2l SN 21 500 (LI 300
(LR N 2 4,800 MGG 3,600
(L N 2 3,600 [ 1,500
(L N 2 4,800 BB 6, 800
(L N 2 3,600 BB 400
[l A 500 (LI 1,800
[l A 4,800 (LI 500
[l A 4,800 (LI 4,800
MiE = 3,000 M+ 3,600
(A 500 w2 oM 500
(A 4,000 w2 oM 4,800
[l A 3,300 MEEEHAFER 4,800
M 4,800 s

M B 3,600 (L N 500
i 3,600 [ 3,600
[l A 2,100 M it 3,600
it e 13,000 P 4G 4,800
L7 4,800 %4 3,600
(L N 2 9,000 B2 2R 500
(A 900 (i N 500
Mok A 3, 600 (2 4,800
PRy 800 (i A 2 5,200
PRy 4, 800 [ N 7,200
(Ll A 1, 600 (LI 6, 000
H2 R 3,600 #raH 500
[l A 6, 400 Mz 3,600
Ll A 500 B 3,600
L WPy 4, 800 g 1,200
iy A 2,400 #FAr oW 500
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&3 i £
2,200 M % 900
1, 200 M % 12, 000
2,600 M % 2,000
8,400 2 S 2 1, 200
3, 600 HA OB 500
h, 200 2 S 2 12,000
2,400 HA OB 3, 600
500 [ A= 1, 800
2,000 2% 1,500
500 [ 4, 800
6, 000 ML & 2,400
5,400 [ 2,800
1,500 e B 5, 000
1,600 RS 4, 800
500 AR 3, 600
3,600 M 2 4,500
3,600 [CIr A= 3,600
500 P T 3,300
2,400 UL 3,300
4, 800 e 4, 800
3, 600 [ A2 500
e 1,000 A A2 500
e % 3, 600 [ A2 4, 800
L 3,600 [l A2 3,600
[ A 500 UL 5 500
[ A 6, 600 UL 5 3,300
Fif e 4, 800 Fi '}é% 3,600
Fift 1,000 FR '}é% 3,000
Fift . 500 [ 2,400
Fift 4, 800 MUt % 3,000
o 1, 800 [l A2 4, 800
500 L AN 500
10, 000 L AN 2,100
300 R4 3, 600
1,500 Fi '}é%«* 3, 300
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- £7%F - £3F

e 4,400 P 3, 600
Mt R 4,800 PRy 600

e % 3,900 M 3 1,500

te i 4, 800 (il SN 3,000

te i 3,600 PR pT 1, 500

e B 4, 800 (il SN 3,000
L A 2 4,000 [l PN - 1, 200
(LI 2,700 (LI 2 1, 200
R 4,800 FR Rk P 18,000
Mt 1,500 Mk E H 400
MUl 3, 300 (ol W 3, 600
rw;g 3, 600 TR 3,000
I 4, 800 (LI 500
Pl 2 4,800 [ A 12,000
(2l SN 2 500 [ A 12,000
HA OB 4,800 MR AR % 3, 600
I 500 (A 5,700
HA OB 1,800 (2l A 12,000
(L AN 2 3,000 R x4 3, 600
Pt 7,200 (P 1,200
W 2,400 (Ll N 21 2,000
(L A 2,000 P A 2,800
% % 3,600 TR 8,000
My 7 4, 800 [ AN 22 2,000
MYz 7, 800 (ol 3, 600
[l A2 800 3% i 2,000
[l A 2 4,000 3% % 1,200
(L A 12,000 FRIx 2 1,000
(3l SN 2 3,000 TR 3, 900
[ A 2 500 TR 9,000
[ A 2 600 TR 3, 600
SN 2,700 PN 14, 200
I 3, 600 PN 1, 800
I 500 il 3,000
HA N 500 PN 2,700
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oy £3F - £ 37
[CIF N 3,600 (i A 3, 600
Ao 500 [y A 7,000
[CIF N 900 Hr R 500
MmA g 3,000 [ A 1,200
iy N 1,600 [ A 5, 200
M2 3,500 [ A 825
M2 3, 600 [ A 500
e 3, 600 [ A 900
Ao 3,000 [y A 3, 600
- 3,000 AR 3, 600
(Ll NS - 500 M 4p 7,000
ol SN 2 1,200 M T 3, 600
ol SN 2 500 [ A 4,000
ol SN 2 3, 600 [ A 2,400
=Tk 3, 600 [ A 4, 800
i E=ssg 2,100 (LU A 2 2,000
(Ll NS - 500 M Xk 3, 300
2o 500 (LU A 2 500
2o 1,800 (LU A 2 4, 800
(=l SN 2 1,800 AN 500
[ S 2,000 P4 e 4,400
MR A 4, 800 AN 900
MR R 800 AN 300
(i NS - 500 Ll A 2 900
(CIF N 500 (i ] 3, 200
(i NS - 3, 300 M2 e 1,600
(CIF N 500 (i ] 1,200
M4 5,100 [ A 2,100
M4 500 AN 3, 600
Ao 3, 300 [ 1,200
Ao 4, 400 [ 1,200
(il AN 2 500 (i A 2 1,200
& 2,400 [l A2 4, 800
(il AN 2 500 (i A 2 3, 600
(il N 2 500 i A 2 300
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P4 | E A :l-_' Jpo ho > :?IEL‘Z‘; g
113 & 1 22 % 4778
oy £7%F o £ 37
Mm% 3, 600 A 800
(i SN 2 3, 600 M &8 12,000
Mz & 3, 600 B3 B 3, 600
M 4K 4, 800 MsE 4, 800
Y AN 2,800 LA 2 500
Y AN 500 LA 6, 800
Al AN - 3, 600 i 2,100
(Ll A2 3, 200 P e 3, 300
(i A2 500 Hr R 500
Y N 4, 800 AR 1,200
Mg E 3, 300 F 3, 600
RN 3, 300 R % 1,200
Ao 30, 000 R % 2,400
Mgz 7,200 [ A 1,500
Mz 3, 600 A 2,100
(Ll NS - 1,200 ey 2,800
Mg 2 4, 800 (LU A 2 1,200
Mg 2 900 (LU A 2 3, 600
(Ll NS - 3, 600 M3 1,200
2y AN 1,000 Mos 3 4, 800
7O 4, 800 HE R 500
Azl QNS 2 3, 600 AN 30, 000
3O 600 PR ot 4, 200
OB 1,000 S 4, 800
N 3,000 (A 500
Mg E 3, 600 MR o 1,200
OB 8,400 (A 4, 800
Mi& 3, 600 (i 4, 800
Mi& 3, 600 [l 4, 800
AN 4,000 Hr R 1,800
AN 12,000 Hr R 3, 600
iy SN - 2,000 (I A 2,400
N 2,000 (I A 11,000
7B 500 (I A 12,000
2l SN - 3,400 (I A 1,200
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B2 A F o é%zzl_w% ¢
113 = fiéfi‘e; S LEARI RS
LR &% i £3F
S 6, 000 TEYS 4, 800
B 1,500 TEYS 1,500
Ry 1,600 @A oR 500
2 3, 200 Fr R 500
2 3,000 Fr R 500
(il AN 12,000 [ A 3, 300
B2 B 3, 200 [ A 500
M 3, 600 Ry 600
RN 4,400 @A oR 1,500
2 % 300 Y. 12, 000
Ry 5, 200 RN 3,600
2% 300 P 2 800
M P 4, 800 EERY: 1, 800
'Y 500 Ry 4,000
Al A 2,200 TR 3, 600
3 B 500 Y 1,000
PRy 2,000 RN 3,600
LESE 3, 600 Y 3,600
My 2, 400 Mz 4, 800
Y 12, 000 EERY 4, 800
TRy 4, 800 Mz 33 4, 400
TEST 600 M 3, 600
Y 4, 800 EERY: 3, 600
ey 500 Y 1, 200
TR 4, 800 ¥ 4, 800
Py 500 Y 5,000
Y 4,900 Mk 2,000
Y. 4, 800 Ry 500
Y. 3, 600 Y 500
Py 1, 800 Y. 3,600
Y 500 ME R 3, 300
Al A 500 (R A 2,400
ZIRANE- 500 A % 4, 800
ERAN? 1, 200 !‘éi%‘—;{ 500
Al AN 1,600 Péi%“;? 3, 600
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R £3F oy £ 37
ol S 2,400 M3 4 300
ME R 1,600 e S 1, 200
FA R 500 AR 300
Al A 9,400 M B 5k 12,000
3l A 1,900 L A2 7,000
3l A 2,700 R 7 4,800
Al A 1,000 A 2,000
FRaE = 3, 600 R 243 1,200
[ A 2 12,000 R 243 1,000
[ A2 3,900 R 243 300
R g 3,000 a2 3, 600
(2l SN 2 500 R 4, 800
R aE Iy 4,800 A A 4 600
FRiE B 4,800 A A 4 2,000
(2l SN 2 4,800 R 4, 800
[l A2 900 A S 2 3, 600
FA R 2,400 A A 1,200
FA R 3,600 A A 2,700
FhaE v 4,800 A S 2 3, 600
(3l SN 2 2,000 R % 4, 800
(3l SN 2 9,000 R % 3, 200
(3l SN 2 2,900 Al AN 4,400
(3l SN 2 3, 600 Al AN 400
[l A2 7,200 A S 2 1,200
[l A2 3,200 E -2 1, 800
Mp % 3,600 Ay A 3, 600
M B s 4,800 A S 2 5,100
S 3, 600 Al AN 4, 800
M B e 600 Al AN 2,000
M e 5,000 M54 4,500
(3l SN 2 4, 800 M54 2,000
[l A2 12,000 [ AN 2 1,600
W33 7,200 WD 2,000
MR 4, 800 RPN 4, 800
MR 7,200 RPN 3, 200
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oy £7%F o £ 37
MUE % 1,200 (i A 2,000
Ao 3, 600 Hr R 2,400
(Ll N - 3,000 [ 4, 800
Al AN 7,000 Miip 3, 600
Azl NS 2 9,000 Btp & 3, 600
RN 500 [CI A 800
. 1, 500 iy A 5,600
[CIF N 3, 600 [CI N 6, 600
Ao 12,000 Hr R 4,000
(Ll NS - 4, 800 P p 7% 4, 800
Mp: % 4, 800 (LU A 2 6, 000
MpE R 2,400 A AN 7,200
Azl NS 2 500 Ay N 12,000
Mk e 1,800 A2 | 3, 900
Mk e 4, 800 Muim 2 600
Y N 2,400 Ay AN 3,000
2o 500 Ay AN 2,400
Mt = 4, 800 Ay AN 13,200
2o 4, 800 Ay AN 500
RN . 3, 200 A= 500
RN . 500 A= 3, 600
[l SN 2 4, 800 A= 3, 600
Azl QNS 2 1,000 il N 4, 800
Azl NS 2 3, 600 Ll A 2 500
(i NS - 2,700 Mg 7 2,400
A AN 21 3, 300 M Z e 1,500
ML % 2,800 Ay AN 3, 200
ML R 16, 800 R AN 2,400
mEE 900 Ry AN 4,000
L g 4, 400 mF 1,000
(il N 2 2,000 ME % 900
M3 3, 300 M+ 11,000
(il N 2 2,000 Ay N 4, 800
M3 4 3, 600 [y 4, 800
ol W2 2,400 Al AN 21 600

-150 -




B A e Foik kg
113 & B 42 470

i &% aia £

(ol SN 3 900 [l A 3, 600
(3l SN 3 3, 600 £ S 3, 600
(ol SN 3 500 E 3 7,200
Ay SN 4,200 [l A2 500
Ay SN 3, 600 [l A2 500
3l A 3, 200 M2 4o 10, 400
Al A 6, 000 M £ 4o 3, 200
(3l SN 3 4,800 = 4, 800
A3l WAL 500 iy W= 9,000
LRI 500 LR 1,500
PN 3, 600 BB 500
3 o B 5000 (@A o 2,000
3 o B 5000 (@A o 500
Ry 3,600 EE 3, 600
PR 300 [l Ny 2 3, 600
W 500 [ 3,600
Y 2,000 RPN 500
(N 500 @A 4, 800
PN 500 w2 o 500
N . 3,600 (LI 1,600
w3 3,600 |#3 R 4, 800
(3l SN 2 4,800 £ 500
W 6, 000 ERZS 500
A 4,800 M F 7 4, 800
PN 500 ESS 1,500
(2l SN 2L 3, 800 M F 7 4, 800
PN 1, 600 ESS 4,000
B O 500 (I A 500
M Ak A2 3,300 =iy A 500
N 500 [ A 4,800
Ry 500 (=l Ny 22 3, 000
(i NS - 1,500 (il N 2 500
(i NS - 1,800 (il N 2 2,000
AN 3, 600 N 3, 600
[l SN2 500 =R 2,000
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LA £4F e £
% 4 500 [ %G 4, 800
CEEY: 7,200 [mc 1, 200
£ % 5000 @3 o 500
% 3k 5000 |@ o 3, 600
7 o p 500 [ 3, 600
% & 5000 @3 o 500
E & 2,000 |muz 4, 800
%R 3,600 [@3 am 2, 200
%R 3,600 [ 3, 600
%R 3,600 [@2 am 4, 800
T 4,800 |mEe 6, 000
E & 2,700  |mEn 300
A & 3,400 [@ o 1, 800
EERY 1,200  |mpu 1, 400
Ry 300 | 4, 800
EEY 500 @ o 7,200
i E 3,600 [@7 am 7,200
EEY: 4,800 [#3 om 1,500
% e 500 |@ om 1, 600
TELS 1,800 [@7 o 300
K 3,600 [®3 o 2, 000
K 6,000 |@7 om 3, 600
Ry 4,800 [#3 om 4, 800
CEEY. 500 |m g 3, 600
CEEY. 3,400 |y v 3, 600
CEEY. 1,2000 [w7 o 500
CEEY. 5000 |@3 o 13, 200
Ry 4,000 [#3 om 7,200
EERY 6,000 |@7 om 4, 800
EEY: 500 @ am 3, 600
EEEY: 2,000 |@r @ 500
ERY 800 |@ am 2,000
% 4 2,700 |@3 2@ 2,000
E 5000 @3 o 500
E 800 |@a o 7,000
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2L 44 L 44
' EEY: 5000 (@A o 1, 200
R 7,0000 (@@ 3, 600
' EEY: 2,400 PG 10, 000
3 2R N CERY: 5, 400
3 2R 2,800 [® 2@ 4,000
3 2R 4,800 [®3 2m 6, 000
3 2R N CERY: 500
R 4,800 @7 @ 3,000
EEY: 3,600  |mix 3, 600
R 4,800 @2 om 1, 800
R 3,600 |@om 4, 800
RN 4,400 |[#3 om 1,500
LR 2,700 |mirk 2, 400
RN 3,600 |@7am 500
R & 9,600 |@7 @ 2,000
R 1,200 [y 3, 600
EEY: 800 [ om 500
R 4,800 @2 @ 3, 600
EEY: 5000 (@A o @ 1, 200
R4 4 4,800, |@7 @ 4, 800
A % 3,200 |[#7 am 1,500
A % 6,200 |#7 2@ 3,000
% 2 7,000 [y 3, 900
EEY 5000 [@a o 500
EEY: 2,000 |#2 am 2, 400
EEY: 5000 [@a o 3, 600
EEY: 5000 [@a o 500
RN 12,000 [#3 am 2,700
g % 12,000 |@7 2@ 2,000
ok 5 600 |#7 @ 2, 000
EEY: 2,400 |@ om 500
RN 2,1000 |@ om 4,500
RN 10,800, [®3 2 m 500
RN 4,800 [®3 2m 2, 400
RN, 3,600 |y 4,000
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R £7%F A £3F
(LI 500 BB 600
(LI 500 BB 3,600
MR 3, 600 [l A =2 500
PN 3,600 [l PN - 500
PN 4,000 [l PN - 500
PN 500 [l PN - 300
IR R 16, 800 PR 7 b 3,600
HA aoF 1,200 TR 2,000
(LI 500 BB 500
[ A 4,000 HA B 3, 600
H2 B 6,000 MiE % 4, 800
N 2,400 (LI 500
(2l SN 2 500 TR 3, 600
N 4, 200 (LI 3,600
(2l SN 2 500 A 3, 600
H2 B 4,800 HA o® 3, 600
(LI 7, 800 wr O 600
AR+ 2,000 (2l A 12,000
Fﬁz‘é% 900 MR 4¢ 7,200
(3l SN 2 500 MR & 1, 800
(3l SN 2 500 TR 3, 600
(3l SN 2 4, 800 [ acH s 12,000
w3 4, 800 #r R 500
IR 300 R 1,200
(P 2 500 R 4, 800
Mm% E 2,000 (i A 3,600
Mm% E 2,000 (i A 3,600
(3l SN 2 500 Fit de 7,200
w3 500 w2 500
IR 5, 900 P 3 7, 200
w3 2F 500 |Mu % 3, 600
M ¥ 1,500 P 2 3,400
I 2,000 (ol N 300
I 500 (ol N 500
HA N 500 (ol N 600
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- A X1 i £ 3
P 800 e 3 2,000
(il - 4, 800 W om 500
[EIEA- 500 [CI A 3,600
(LA A 3,600 [CI A 16, 800
(LA A 500 A 2R 3,600
(LA A 300 [CI A 1, 800
(LA A 500 MUk % 500
e 4,800 Pk % 4,800
[l AN 21 500 Pk % 3,600
#3oR 3,600 P B 500
#2oR 500 P B 3,600
(Ll N 21 3,200 PR f 800
(Ll N 21 4,800 PR f 8,000
(Ll N 21 3,600 [EIN 500
MAT &= 300 [Er N 5,600
#3oR 7,200 (A 3,600
#3oR 4,800 (A 12,000
#3oR 3,600 (A 2,700
3o 500 CR e 500
Ry 500 ckR 500
[l N 21 500 AN 3,600
i 2 4,800 [EN 3,000
[l N 21 4,800 PR A= 45 5,200
(A 500 PR BE 3,600
Pk % 11,000 Pk B 500
Pk % 500 Pk B 6, 000
Pk % 12,000 Pk B 500
i 2 1,500 Pl B 6, 600
MUk % 500 Pl B 2,400
MU % 500 ik B 500
MU % 500 ik B 500
M % 2,400 MR 2 6, 000
M % 3, 700 MR 2 500
M % 1,200 MR 2 3,600
MR % 1,600 Pl 2 4, 800
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- A EX1] - A £ 3
PR 6,000 Fig % 3,600
PR 1,000 FiE & 400
(i - 500 " om 500
(LA A 2,000 S AT 12,000
(LA A 2,400 A 2R 1,000
(LA A 500 i 4, 800
(LA A 500 Mz 8,000
U 4,800 PR 2w 5,400
[EIEA- 500 [EI A 500
M & 9,600 B2 2R 2,700
M & 3,600 B2 2R 500
MU £ 500 [Er N 4,800
P i 3% 3,600 [Er N 4, 400
(Ll N 21 1,600 M2 I 5,600
(Ll N 21 12,000 [Er N 300
[EI A 500 (I 300
[l A 21 600 PR 4, 400
#3oR 500 B2 2R 3,600
MR 7,200 Fit st 4,800
[l N 21 500 [Er N 7,200
[l N 21 4,800 [Er N 500
[l N 21 500 [EN 4,000
[l N 21 3,600 M = 4, 800
P F R 4,800 B2 2R 3,600
P F R 1, 800 B2 2R 2,100
IS 3,600 B2 2R 500
(EI A 1, 800 (A 4,800
[l N 21 6, 600 [Er N 3,600
[l N 21 500 [Er N 7,200
#3aR 500 [E 800
PR3 AR 2,700 |MA4e 3, 600
FAr N 4, 800 A e 3,600
FAr N 12,000 (N 4, 800
FAr N 3,300 (N 400
M i 35 17, 600 (N 500
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oy £3F - £ 37
(A 500 [ SN 500
(R A 500 [ SN 4, 800
Mg 500 MR 4R & 7,100
A 400 iy A 500
& 3 2,000 [l A 1, 600
& 3 4, 800 [l A 500
M a7 2,400 M 75 3, 600
AP 3,600 [l A 400
A 400 [l A2 5, 600
AP 1,800 (L N 500
MA 2 3,600 (L N 500
MAZ 500 [ N 3,000
ME 2 3, 600 Hr o 500
A2y A 3,600 [ N 500
(i NS - 500 [ N 500

L . 3,600 P75y 3,600
MaE 500 M 2,000
MaE 1,500 Mk 3,600
50 N 500 (il AN 2L 2,700
A2l A 2,000 [ SN 4, 800
A2l A 500 MR £ 7,200
(i NS - 4, 800 MR £ 1, 600
A2l WA= 3,600 M ik e 4, 800
Al SN - 500 P ik R 3, 600
PN 400 (L P 1,500
Al SN - 500 (L N 2,000
Azl A 6, 000 Mg 1,900
A2l A 3,600 [ N 6, 800
A2l A 1,800 [ N 300
i 1,500 AR 3, 600
A2l AN 2 1,800 [l SN 500
(i NS - 4, 800 A 6, 000
2y WA 3,000 (Ll A= 3,600
Al W] 11, 200 LR 5 1, 600
(i NS - 800 P T I 4,000
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oy £3F - £ 37
[CIF N 5, 500 (i A 1,500
Ao 500 [y A 500
[CIF N 5, 200 AR 2,000
iy PN 500 [ A 12,000
iy N 1,800 [ A 2,000
M 5E 3 3, 600 [ A 12,000
M 5E 3 1,400 [ A 8,000
[CIF N 500 AN 1,200
Ao 2,800 Hr R 500
(Ll NS - 3, 600 Mg 2 3, 300
[CIF N 3,600 (LU A 2 900
ol SN 2 2,100 [ A 4, 800
FTe £ 12,000 [ A 500
FTe £ 4, 800 [ A 3, 900
FTe 2 4,000 [ A 1,200
TR % 8,400 g = 15,500
(Ll NS - 11,400 P 4,000
2o 2,400 (LU A 2 500
(Ll NS - 500 (LU A 2 5,500
(=l SN 2 3, 600 AN 500
(=l SN 2 22,000 AN 500
E g 500 AN 4, 800
(=l SN 2 500 HE R 500
(CIF N 5,000 (i ] 4, 800
(CIF N 3,600 (i ] 6, 000
P18 4, 3,600 (i ] 4, 800
(CIF N 4, 800 (i ] 500
(=l SN 2 500 [ A 5,000
Mf 3,600 i $rers 3, 300
(il SN 2 500 P R, 2,100
M T b5 4, 200 [ A 3, 300
(il AN 2 4, 400 (i A 2 4, 800
M T 3 300 [y N2 1,800
(il AN 2 500 (i A 2 4, 800
(il N 2 12,000 F B P 12,000
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- £7%F - £3F
RPN 400 NN 3,500
ol SN 3,600 [ 1,200
RPN 1, 200 NN 12, 000
PN 400 o 7,000
Ay SN 7,200 [l A2 500
MR T 4,800 MEF 4,800
R AP 3, 600 Wi 4, 800
Al WA 500 [ PN 2,400
MU 5 3,600 AP 500
3l SN 2 2,400 (2l A 4,000
M AT 1,500 Y 4, 800
(3l AN 6, 000 TR 1,800
Ry 4, 800 RPN 4, 800
M 3,300 iy A 6, 200
(0 NS - 1, 800 M 2 9,600
2l A 4,000 (A 500
oA 4, 400 2l A 214 1,000
Mo 2,400 ol A2 11,400
(il N 4, 800 (2 1, 200
| o 500 EEIPN-" 500
Y 500 [l NS 2 6, 600
B O 3, 600 Fr B 300
MTE o 2,100 i A2 3, 300
ol W 3, 600 Mg 2 1, 800
M3 4E 4,400 R 2 2,400
M et 1,000 |@% 2@ 4,000
ol W 500 =iy A 4, 800
O 2,000 M 3 7k 3,600
CRIR 2,700 RRIR 500
CRIR 2, 800 GRIR 500
(il SN2 3,600 BB 2,000
Ry 1,600 CEIPN 3,600
Ry 3,600 RN 500
(I = 500 L 800
PN 500 (2 4, 800
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oy o £3F - £ 37
FA R 7,200 LA 1,800
P 4,800 MR H 10, 200
MR 10, 000 e S 2,000
Al A 6, 000 [ 2,400
Ay SN 4,800 ME 2 4,800
3l A 400 M E e 7, 200
Al A 2,000 L A2 500
A7 7,200 A 300
s 3,600 My 3,600
I DN 500 My 800
I SN 500 My 400
e 3,600 (LI 4, 800
i N 500 i A 500
MR 2,000 (LI 4, 800
i N 3,600 i A 5,000
Mg Az 4, 400 (il A 500
FA R 3,200 (12 AN 22 3, 600
FA R 3,600 (12 AN 22 2,100
M 4L 3,000 Al N 4, 800
R 247 4, 800 A A 4 500
M3 ik 10, 800 Ay W 500
N . 500 Ay W 4,000
My E 500 Ay W 500
My 2,600 Al SN 3,600
FA R 1, 800 R A 2] 500
My & 3,600 Al SN 4, 800
FA R 3,600 R A 2] 1,200
N . 500 ME R 900
N . 6, 000 AR 3,600
I SN 500 MR 500
[ 500 772 B 500
Pt 45 4% 3,600 A A 3, 600
[l A2 1,000 A A 2,000
[l A2 12,000 AL 4,800
AL B 7,600 i A2 9, 200
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- £7%F - £3F
(ol SN 3 600 [l A 2,700
Mg A1 4,000 Fﬁ%ﬁf& 600
P 4R 3, 600 IR 300
RPN 500 AT R 3, 000
WD 1,200 FRE 3,600
Ry 3,000 EERY: 8, 000
SRR 500 Ry 3,000
PR BT 4,200 [l A 3, 600
W EF & 2,000 iy W= 4, 800
T 3, 600 I IDY:. 1,200
PN 500 w2 o B 500
[ A2 7,200 [ A 3,600
i N 3,600 (LI 500
(3l AN 3, 600 Mg B 3, 600
i N 600 72 B 500
3l SN 3 1,200 ¥ 3. 4, 800
DN 3, 600 #3 B 4,000
Mg § 1,600 42 4, 800
W 2,000 (2 500
I IR, Bt 900 LA 500
N . 3,600 (LI 600
N . 4, 800 (LI 2,400
Y 500 [l NS 2 3, 600
Y 500 & =35 4, 800
iy A 2,400 (2l N 2 500
N 21 500 (Ll N 4,800
P 3,900 #Fr o 500
(3l SN 2 3, 600 fR# % 4, 800
B O 500 (I A 500
(3l SN 2 3,200 [ A 7,000
Ry 300 (=l Ny 22 3, 600
RPN 4, 400 P A 500
RN 500 F A A 3,600
(i NS - 1,200 (il N 2 1, 200
I 12,000 FhEF R 1, 800




B A e Foik kg
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LA 447 LA £3F
(L A 400 [ A 3, 600
ERY 5000 [ 3, 600
(L A 4,400 LA 4,000
= 4,800 L A2 500
3l A 1,200 L A2 500
M & 2,000 LA 2,000
Al A 3,600 L A2 4,800
R 25 6,000 |®7om 500
R E T 6000 [®7om 1, 800
53 am 500 [rege 3,000
Ry 2,000 |#7om 12, 000
PP 4,800 TR 4, 800
ERY 3,300 [mmie 2,100
ERY 36000 |®7om 3, 600
ERY 36000 |®7om 4,000
% 4 14,8000 |®7om 5,200
% 4 2,000 [®7om 500
53 o 5000  [mpz 500
53 o 5000  [mpz 3, 600
P ERY 4,800 [mpz 3, 600
Y 3,700 [mpx 2, 800
[l SN2 4,400 B e 4, 800
Y 30000 [mp= 11, 000
[ A 1,200 [l A2 3,000
[ A 2,800 [l A2 3, 600
[ A 2,800 [l A2 3, 800
53 om 1200  [mp = 500
Mg 3 2,000 MR S 2,400
ERY 3,600 |mgE 3, 600
s 4,800 [ 1, 200
[l AN 2L 500 MR S 1, 800
P 38 W 7,200 [ AN 2 4,400
[l A2 12,000 [ AN 2 4,800
[l A2 1,500 [ AN 2 1,200
[l SN2 2,000 [ AN 2 500
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-2 &% 4 &4
(A = 300 LR IPN-" 500
A = 500 LR IPN-" 6, 000
Ry 3, 600 MR 2 4, 800
B D 4, 800 DN 500
Y 1,500 MR 4, 800
Y 2,000 MR 4, 800
Y 4, 200 MR 4, 800
A = 500 LR IDN-" 900
(A = 4, 800 LR IPN-" 3, 600
(A = 3, 200 DN 4,000
A = 300 RPN 500
MR 4 500 I 2,000
MR 4 1,200 B 500
8 AR 2,000 B 500
8 AR 2,000 B 1,200
8 Ay 500 G EDN" 500
MR 500 PN 500
DN 500 (P 1,000
F B4R 500 RPN 1, 800
M B 4B 4, 800 B 500
Y £ 8,000 (I 500
Y £ 500 (I 500
R 4R 500 X 273 1,200
MR 4R 500 AP 500
MR 4R 3, 600 RPN 500
MR 4R 3, 600 RPN 500
A = 400 RPN 2,000
[y A 500 [y A 2 500
Ry 1, 800 B 7,200
(A 2 500 L E 2, 300
i3 A 4, 800 B 2, 400
Y 500 M 48 4, 800
Y 3, 600 RPN 2,700
AT 3, 900 AR 4,000
Y 1, 200 R IPN-" 500
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R £7%F A £ 37
(2l AN 2L 2,000 [ A 4,000
I SN 600 [ 500
M RE 1,600 EREE 1,500
MR 3, 600 (WP 400
ol N 500 L A2 1, 800
MRE AL 12,000 L A2 3, 600
Ay SN 9,500 ¥ 3 4,000
(3l SN 3 500 [l A 3, 600
il SN 2 500 [ PN 7,200
Ry 5,000 RPN 3, 600
Ik T 3, 600 I rds 7,200
[l SN 2,400 [ A 7,200
A W 17, 800 A B 9,600
A W 4, 800 A B 9,600
i N 800 (LI 3,600
L I 1 500 (Ll N 500
BN 500 (L 300
Ry 3,000 EE AN 7,000
(2l SN 2L 2,400 A S 2 5, 400
W 4, 800 IR S 600
e 4,800 A SN 2 3, 200
W 900 PN 3,300
[l SN2 1,600 A A 4 3,600
ol W 2,000 A S 2 3,000
ol W 1,200 Al SN 2 4, 800
ol W 4,800 Al SN 2 4,000
N 4,800 RPN 2,700
B O 5, 600 L A2 500
[l SN2 4,000 A A 4 3,600
ol SN 2,000 A2 SN 2 3, 600
(3l SN 2 500 LAY =2 4,800
AN 500 & mE 2,400
FA O 4, 800 LN 3,600
=l W 800 2l SN 2,000
ol W2 7,200 1% 4R 2 900
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LA &% i £
&£k 2,400 plEm gy 2, 800
ol SN 2,700 A

RPN 5, 400 54 2 3, 600
wr N 8, 400 ¥ty 4,800
RPN 3, 200 BiR EFaP 2,100
& & 3, 600 ERY" 4, 800
&5 3, 600 EERY 4, 800
% B At 1, 600 [l A 3, 600
EERY 500 [ €9 ¥ 3, 600
WO 500 0 SN 2] 2,700
07 500 R IPY 4,000
DN 4,100 ERIE L EAL 8, 200
AP 1,200 Eiwrg P 400
RPN 500 (IR 3, 600
W o 500 wr o 1, 800
TR 4,000 [CI I 4, 800
[CY: 7S 3, 600 B R 3,400
i 3,600 RPN 500
EE P 3, 600 /3 o 3,200
HA R 500 &aE 3, 600
WA o 1,200 wr o 3, 600
drug et 3,000 Fr o 2, 000
Al N 2 7,200 AR AR S 6, 000
= S S L 3,600 L

Y 2,100 EER 3, 600
Y 11, 600 R 4, 800
i IR IS 7,200 W RERS F K 3,000
A g 2,000 PiR=d

a2 BAr OB 4,800
i I S RPN 5, 800 H IR AR 7 2,400
7 N 3, 600 (LU AN 2 3,000
PRy 600 (LU AN 2 1,800
AP P 400 B EFRFT R 3, 600
Ry 4, 800 @

TRy 3,600 w2 oR 3, 600

- 165 -




B A e Foik kg
113 & B 42 470

X &4 i &
mAsEEF AT 7,200 (i A 3, 000
[l SN - 3, 600 [y A 3, 800
(Ll N - 2,400 EF 3, 600
i SNy 3, 600 [ A 500
i SNy 6, 000 [ A 500
TR EB R 2,700 (A 4,200

RPN B R 4, 800
Bippgaay 4, 800 (=l IONY - 300
[l S 4, 800 iy W= 2,000
(il N 2 4, 800 il NS 2 2,000
e 600 2l NS 2 1,200
[CIF N 500 [l Ny 2 500
HE O 500 [ PN 600
[l S 2 500 Hr o 400
FAr R 500 HAOF 3, 600
[y S 1,500 (A 3,600
(Ll NS - 3, 600 2l N 2 500
(Ll NS - 2,400 2l N 2 2,000
(Ll NS - 12,000 2l N 2 4, 800
AR 500 [l A 1,200
[l S 3, 600 [l SN2 500
[ S 500 [l NS 2 7,200
B E 3,600 EE 2, 400
PR 500 ik f 3, 600
E ALY o 12,000 il N 1,200
(i NS - 3, 600 il N 3, 600
(i NS - 4, 800 il N 4, 800
(i NS - 3, 200 B DR 2,000
[ SN 500 A F 3, 600
EA LN 13, 200 8 % 2, 800
(il SN 2 3, 600 (=l Ny 22 500
(2l SN 400 (2l A ' 500
[l A2 3, 600 [l A2 500
[l A2 4,800 [l A2 300
5 A 2,700 il N 500
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LR &% i £3F
I 500 B 4,200
EEPY: 500 w3 R 400
Al SN 800 L2 AN . 2,400
EEIPY- 500 27 2@ 500
Y. 500 2l SN 3, 600
Y 500 2 A 2 3, 600
ERIPY- 500 27 2@ 800
(I A 500 7+ E 4, 800
¥ £ 4 3, 200 [ SN 4,000
Ry 3,000 |®zam 500
Y 2, 400 w2 op 500
Y 5000 |%: 2 2, 800
B 600 77 O 500
77 o 2, 800 g =% 400
FrEsnst 8, 800 GRS 4,800
L 1y A 2 500
PEHEREEEL R 1, 600 I 3, 600
i I 12,000
Ry 4, 800 R 800
HA O 7,200 77 O 1,500
Ry 1,500 ¥ 900
RN 1,500 LRI 6, 600
[ S 3, 600 g3 2 3, 600
#e5p b i1 42 3,600 Ao 1,200
I P I 4,000
BN SR 400 [ A2 10, 200
$raf I 3,600
Al WS 2,800 ol W] 4, 800
I 3,600 WA 4, 800
BA B 4,800 ¥y 4r i 4, 800
[l A 3,600 [l SN 3,600
B 2,000 R 9,600
AAFJ1F AR R § 9,600 #r O 3,600
SIS ¥R 1,200
oA 7,200 BT 1, 800
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i &% aia £

L N 3,600 ¥ F % 3,600
B 500 filly SN2 500
ol S 2,000 [ A 2,000
(il SN2 8, 000 [y NS - 8,400
L) 4,800 L A2 900
(il SN2 2,000 [y NS - 2,400
i SNy 500 [y NS - 2,100
DN 500 @3 o 900
2R 4, 800 Ry 9, 600
(I 500 LA 4,800
ol SN 2 4,800 iy A 3, 600
R WD 500 B & 1,600
PR 4, 800 [l Ny 2 10, 800
IO 500 L2 6,000
I SN 11,000 72 B 1,800
WD 3, 600 @72 R 2,000
DN 3, 600 @ B 10, 800
¥ fep 3, 600 Al SN 2L 500
¥ 154k 600 Al SN 2 4, 800
[l SN2 2,400 A A 4 500
B O 4, 800 L A2 500
s ds 2,400 FA R 500
3 B 5000 (@7 o 500
N 21 500 T ER 500
Ry 3, 600 IS 400
ol SN - 2,400 (il SN 1,200
ol W 900 =iy A 500
(I = 3, 600 AL 3, 600
N . 400 "3 OB 1,200
B 8,000 LR 1,800
N 800 772 B 500
' 4, 800 TRy 500
! R CEEE: 500
il A= 3,600 (il N 2 500
TR 300 B RE 7,000
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i &% aia £
EERY 4,800  |@ 2R 3, 600
EERY 500 [#3 2@ 1, 500
Y 300 L 3, 600
¥4 4, 800 LR 900
SRR 3,300 Ry 2,500
(il Pz 500 Tkl 3,600
iy N2 500 [y NS - 12,000
Al WA 900 [ PN 12,000
SO 2,000 [ 500
3l SN 2 2,800 (2l A 3, 600
ol SN 2 1,800 iy A 6, 800
¥R 1,800 PN 3, 900
(2l SN 2 3, 600 ¥ EIp 3, 600
[ A2 4,800 [ A 2,000
B A AR 3,600 i WD 2! 500
(2l SN 2L 4,800 (A 500
(N 3, 600 @A 3,000
¥R 4, 800 D2 4, 800
HE OB 3, 600 LACRES 3, 600
N 3, 600 (LI 3,600
B O 3, 600 Fr B 3,600
B O 500 Fr B 3,600
N . 900 (LI 300
AN 500 T 4, 800
R 2,000 RPN 1,000
TR 2,400 Tk 2R A IR 2,400
¥R 12, 000 o

R 5,000 ol W2 4, 800
RPN 3, 600 BB 2,400
[l NS 21 500 [ A 16, 800
EERY 500 R 500
R 11, 000 IR 1,200
DN 500 Al WA= 3, 600
AN 7,200 g e 4, 800
¥ %ﬂ% 4, 800 Al SN 2 600
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oy o £7%F o £ 37

2l A 2,400 [ A 500
[l A 2,000 [l A 500
¥ e 300 e S 12,000
LRIy 4, 800 Ry 600
74T 3, 300 L A2 1,200
2l N 2 500 L A2 4,800
Ry, 500 ERY" 500
' 4, 800 Ry 500
2l A 2,400 [l A 2,000
ol SN - 500 B2 2R 500
ol W 2,700 L) R 1,500
[l SN 4,400 TR 1,000
[l SN 1,400 TR 1, 800
ol SN . 600 A 4, 400
(2l SN 2 4, 800 LK 3, 600
P 4, 800 Ry 500
HE OB 4,800 (2l A 2 500
HE OB 7,200 (2l A 2 4,000
§AE 3, 600 RPN 500
¥R A 2,000 Ry 8, 000
i g;i;g] 900 B Hx 4, 800
(3l AN 400 A 500
(3l AN 3, 600 Al AN 3, 600
(2l SN 2L 500 PPAZELELS 20, 200
EERY: 500 |2 R

¥ 4 3, 400 Ry 5, 900
% 4 B 9,600 |@7 o 3, 600
B O 4, 800 (L A2 500
¥ 2, 400 R 500
(2l SN 4, 800 [ A 500
2 R 3, 600 [ A 500
DN 500 B 7,200
WO 500 BA OB 3, 600
(2l SN 21 600 [l A2 7, 200
PN 500 PR 1,000
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e 3,200 3 AR 500
SRR 3,600 |®3 2R 500
I 4, 800 77 R 300
Al S 12,000 B2 o 1, 800
X 2,800 B2 o 4, 800
Al S 3, 600 B2 o 9, 600
LR A 400 e 4,000
Y 5, 400 IR 3, 600
P 300 0 WA 500
ME R 4, 800 iy SN 500
Azl A2 3, 600 Va2 3,500
PR 500 [l Ny 2 8,400
[ SN 500 B3 12,000
H2 o H 500 A A 2,000
RN 500 [l NS 2 500
AN 2,000 L 2,000
RV 500 Z A 3, 600
L AN £ 500 A A 4 500
WO 500 Al SN 2L 2,400
A W21 4, 800 ST 3 4, 800
PRy 2,200 B 200
F2 NP 3, 600 P Z 4, 800
U 3,900 (- 300
2 4, 800 w3 B 500
e pE 900 Y 500
M &k 3, 600 72 o 600
e 7,200 |#@A 2@ 6, 600
o 7, 200 IR 3, 600
N . 4, 800 [ A 2,400
(il SN 2 500 (A 1,800
PN 2,200 B3R 1,200
[l A 4,000 (L A2 500
PN 4, 800 (2 4,800
(Ll A 3, 200 (L A2 3,300
PR T 2,400 (L A2 1,200
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R EX1] - A £
P54 1, 800 AR 4,800
A 400 [l A 500
PRy 3, 600 [l SN 2 3,000
. 2,400 iy A 2,400
. 1,000 [ N 300
. 7,200 [ N 500
PEER 800 CREIPY: 3, 600
PRy 4, 400 e S 11, 200
PRy 3, 600 [l SN - 4,800
Y 12, 000 w2 op 500
Ay Y 22 3,600 (Ll A 2 4,400
Y 3, 600 (LI I 3, 600
R 2,700 [l NS 2 500
TRy 4, 800 At 2,400
PRy 500 (LN 2,000
73 o 600 Y 4, 400
Y 4,800 £ %9 2,100
77 O 4,800 (Ll A 2 4,800
RPN 500 w7 oR 2,000
R 500 (LN 1,000
PERLWR 2,800 A2+ & 2,100
w7 2@ 500 @7 o 400
@72 2B 500 VA 6, 000
LI 500 RPN 4,000
P 600 RPN 2,400
A 4,800 A2 Arde 3,300
w3 5000 (@7 500
#72 2 B 2,000 AR e 4 3,600
Pt ik 1,2000 |#@3 =R 3, 600
I 500 A2 Tk 4, 800
Ry 5, 200 (e 600
Ry 7,200 @3 om 500
Rk 900 A2 AR 2 3, 300
B AR 2,400 (Cl A2 500
R 3, 600 B3 R 800
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oy £3F o £ 37

GEAERS 7,200 AR 2, 400
2B 7 4, 800 [l A 3,900
2% F 4,800 (LN 500
(10 A 400 [ S 500
(10 A 500 [ S 2,100
ol Wz 3,300 [ S 4, 800
(i A 1,500 [ S 4, 800
722 3,600 WERERETF T 4,800
= 500 h

f2 7 5% 1,500 WL EFRP T 1,600
(0 NS 22 2,000 S

2 Fg 5, 600 (R 9,000
ARAT I 9,900 F72 =R 1,000
A2 1y Pr 1,500 [EIN 1, 800
R 3,600 (R 500
ol SN - 500 A B 1, 200
AR A 3,600 R 8, 400
Y 4,400 |#3 2@ 3, 600
(0 NS - 12,000 F72 =R 7,200
ol SN2 500 w2 R 12,000
DN 5, 600 (R 500
i I 800 Ao R 500
ol SN2 3,600 Hr R 3,600
ol SN - 2,400 Nk 1, 600
Ay Y 22 12,000 [ SN 500
B3 O 500 [ AN 22 3, 300
Al W] 1,800 =T 2,400
PN 500 3o 500
3 RoE 3, 600 (=l N 3, 600
iy SN - 4, 800 (LN 7,200
f.,_;f/—’g 3, 600 AP AL T 4, 800
SN . 500 ERYE A7 1, 200
SN - 1,200 ERYEF A7 3,300
BA R 4, 400 [l A2 10, 000
3 s 3, 600 (2l SN 21 400
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A EX - A &%
I 2,400 E#A @ 500
R AP 3, 600  Win 900
EERY 4,500  |@ 2@ 4,800
R AP 400 HA DR 4, 800
WP 4, 800 [ 3,600
WP 5,600 (L 3,600
WP 3,000 [ 2,000
- EDN . 500 [ PN 1,600
Ry 500 HEEFTHRFTF T 3,300
I 500 a
PN 500 (I 600
Y 500 B YA 400
TR R 4F B 8,400 =¥
e EERY: 7,200
PR 16, 800 Ry 9,000
SOl FLE T AR B 7, 000 PSR 12, 000
Fraad 2
ST 3,300 |[#3 2R 6, 600
I 2,000 (IR 2,000
PR 3, 600 BAr OB 2,400
Y 4,200 @2 2B 3, 000
Y 6, 800 i A 12,000
Ry 300 PG NP 6, 300
(AP 6,000 (PN 300
PRy 500 (LI 8,200
Ry 500 B x & 3,600
I 10, 800 (IR 12,000
I 4, 800 B3 o 500
BN 500 B & & 4,800
Y 4, 400 R 200
TR G 6, 000 (LU AN 2 500
N Y 3, 600
R 4, 800 #ANE 6,000
[CI A 4, 800 i R A 6, 400
RIS 500 /3 2R 9, 800
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- £7%F - £3F
(LI 7,200 B2 3, 600
IR 3,600 |§F& 3,600
@328 4, 800 w3 2B 12, 000
PN 12,000 TL1E 6, 300
@3 B 4, 800 (il SN 500
PN 500 ¥ 1w 6,000
PN 500 (il SN 500
HA aoF 3, 600 T+ 300
05 FTH_ 4,000 TR 2,000
#r R 3,300 (A 500
(LI 500 (A 4, 400
5 H 2,800 * e 2,100
iy SN 3,000 * e 500
N 4, 800 (LI 4, 800
5B E 4, 800 (il SN 4, 800
H2 B 2,400 HA o® 7,200
05~ 1,600 HA o® 4, 800
DN 500 (P 1,900
(LI 500 (A 500
[l SN 3, 600 N IF 4,000
N 2, 800 (LI 600
(3l SN 2 3, 600 Sl 3, 900
S 4, 800 [l A 21 4,700
[CA A 500 [ AN 22 1,000
(LA 1, 600 NP 3, 600
sl 2,800 T ERF 3,000
(LA 900 NP 500
7= 4, 800 TR 2,100
S Sl e 3,900 A 3, 600
(2l SN 500 F 3IF 3, 600
(LA 3, 600 TR 3, 600
I 12, 000 PN 3, 600
I 1,200 PN 2,700
S Sl 2,000 PN 300
S i 500 PN 2,000
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s £3F i £

Al N2 10, 600 [l A 300
ol SN - 4, 400 [ A= 2, 400
§ o 2,100 [l SN - 2,000
AN 3,000 SAREE: S 1,500
PN 2,000 T 7,200
A Y 2 300 [l SN 2 3,200
T2 4,800 [l N 21 4,000
T 2,400 w2 o 1,000
Ay SN2 ] 500 [l A 900
L 3,600 FIEE 4, 800
Al SN 21 3,600 (= 2,400
i SN 3,600 B R 600
2l W 2 2,400 [l NS 2 3,000
2l W 2 500 [ A= 1,400
i N 500 S 4, 400
304 7,200 [l A 2 3, 600
Al Y 2 500 (Ll A 2 500
Al Y 2 400 (Ll A 2 500
(0 NS - 12,000 (L A= 2,000
ol SN2 2,600 [l NS 21 4,000
A Ny o 500 [l NS 21 4, 400
Eyon 3, 600 B R 3, 600
Al N2 12,200 (LI 1,000
Ay Ny 2 3,600 FIE 2,700
F 2k 3,600 (i A 2 2,000
Ay Ny 2 5, 400 (i A 2 2,100
Al SN 21 3,300 (A= 500
2l W 2 7,000 [l SN 2 2,400
F R 3,600 BB 500
@72 2B 300 SNERE: N 4, 800
A N1 4, 800 [l SN - 4, 400
L SN 3,000 (i A 2 4,000
=l W2 2,100 2l SN 1,000
F A 3,600 (i A 2 1, 800
L SN 500 (i A 2 6, 000
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A &% R &%
PN 500 DN 4,800
HA o 3,600 HAOE 2,000
PN 4, 800 DN 3, 000
WP 3, 600 (e 500
¥ x 4, 800 WO 2,000
AN 3, 600 (e 600
AP 3, 600 (P 300
¥ A 600 Fai 4,000
PN 4, 800 DN 4,800
Ry 3,000 F 2 m 600
Ry 1,200 R I 4,200
Ry 4, 800 Fae 6, 800
¥ 2, 400 ¥ 2w 1,800
R 500 F 2 H 3, 600
EERY: 3, 600 F sk, 8, 400
AP 4, 800 (P 500
LIPS 12,000 (P 500
HA o 3,600 (i PN 12,000
LIPS 1,200 (P 500
o 3,600 |W7 o 500
Ry 800 + 4% 3, 600
Y 4,800 4% 500
Py 1, 200 %% 2, 600
Ry 4, 800 PN 500
AN 4, 800 ol W2 1, 500
£ 10, 000 B3 R 500
27 AR 2,000 + A E 4,800
Y2 4, 800 [l Ny 2 6, 600
7% 2,400 [l Ny 2 500
R 500 (=l Ny 22 2,400
RPN 9,000 [C 4,800
TN 2,400 (=l N 10, 000
¥ 1 1,200 PN 4, 800
PN 2,100 B DB 500
I 900 PN 500
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LR &% i £3F
IR 1,200 IR 12,000
w3 op 500 | tew 6, 600
(i - 6, 600 " om 500
(L A 1, 200 [ 3, 600
P 2,100 F e 3, 600
(L A 3, 600 T e E 3, 600
¥ % E 3,000 T e & 3, 600
% 5 E 4,800 A oR 3,600
% 5 E 500 (LA A= 3,600
(A 500 B2 B 2,100
#3 B 2,000 W e F 4, 800
Al PN 500 % e 4, 800
A 500 (LI 4, 800
3O 3,000 (LI 600
LR A 300 3 e @ 3,000
& & 3,600 B2 o8 2,400
A 3,600 B2 o8 1, 800
A 2,000 B2 o8 9,000
7 AR 500 WP 500
Py 5,100 SRR 3, 000
3O 500 S 4,000
izl SN 500 [CI 800
A= 2,800 (I 4,800
F B 2,400 (A 4, 800
I 10, 000 (A 12, 000
iy A 500 (A 4,000
T 54 3,600 (A 1, 200
(A A2 3, 600 [CI 300
TR 4,800 [CI 3,000
EI 3,600 (I 4, 800
T Bk 800 (I 2,400
+ i 3, 600 (EI A 2,400
%0 3, 600 (EI A 4,400
F F4r 3, 800 (EI A 4, 800
[l A2 3,600 (EI A 3, 600
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B A e Foik kg
113 & B 42 470

LA &3 LA &30
EERY 500 |@a o 2, 400
EERY 2,000 [w7 om 2, 400
EERY 3,600 [w7om 500
97 2R 3,600 |#7om 5, 200
F=p 3,000 |@7am 800
©7 2R 5000 [wr am 1,200
©7 2R 2,4000 |z = 2, 400
§ W 2,700 [@7 2m 2, 400
Ry 1,800 |54 3,900
EERY 3,600 [#7 am 500
'y 7,600 @7 am 400
Ry 4,800 (@73 om 500
Ry 500  |[gw 4, 000
F4E 3,600 [®7am 3,600
F e 3,600 [¥ 3% 12, 000
Ry 4,800 [w7rom 1,200
Y 1,800 |5 1,800
EERY 2,800 |#7om 500
Y 4,800 (w7 om 2, 400
R 2,400 [m7 om 500
Ry 600| |w3 o 4, 000
§ ik 3,600 [waom 1,200
Ry 2,000 [m7 2m 4, 400
Ry 7,200 |5 mem 3,600
ey 4,800 [w7rom 500
§ 3,000 [w7om 1,200
FhR 4,4000 [@7 2p 1, 800
45 72000  [$:% 5, 400
3§ il 800| |wa o 500
EERY: 500 |wa o 1,800
EERY: 500  [wa o 2,700
Ry 3,600 [§4pi= 1,600
EERY 1,600 [@7 o 2,000
EERY 600 [ 4% 1, 800
ERY 3,600 [w7am 2,800
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B A e Foik kg
113 & B 42 470

R £ A £
HA R 3,000 A 300
w 10 & 800 (LA 3, 500
HA R 7,000 ¥ & # 2,000
(L A 4,600 [ 500
Br B 4, 400 [ 500
L 9,200 AP 500
Br B 1,800 [ 500
HA R 7,200 A 500
HA R 500 A 500
(I 4,400 ¥ #% 500
(I 500 w £ 4,400
[y S 8,400 ® F % 400
[CI A 500 T ER 3, 000
(il SN2 4, 800 (I 500
(il SN2 4, 800 (I 400
HA R 500 (i A 500
W & & 4,400 * £ 2,400
W & & 800 (EI A 4, 800
* 2B 2, 400 PN 1,600
(il SN2 4, 800 (I 1,000
Ao 6, 000 ®F X 3, 600
AR 1,500 (I 500
% EF 1,200 (I 500
iy A 1,500 BB 500
(I A . 500 (i A 2,000
HA SR 500 (R A 5,400
(I A . 1,600 T EF 600
[ S 2,400 T E & 3, 600
Y 4,800 FEF 2, 400
[CI A 900 (A 1, 200
[CI A 9, 955 42 500
(Ll A 500 T 32 500
(Ll A 3,600 T 32 600
(Ll A 500 (i A2 2,000
(L A 3,600 2R 500
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P BE A

Podoe i &€

H3ﬁ&ﬁiﬁm¢

LR &% i £3F
L SO 2,000 ¥ AREE 3,600
Y 1,200 Ry 500
2l A 500 [ A 6, 000
2l N 2 500 LA 3,000
THE 3, 600 + i< 3, 600
Ry 3, 600 RPN 500
LIPS 3, 600 Ry 500
$ K 3, 600 Ry 3, 600
EERY 500 [#3 2@ 2,000
S 8,000 ST 3, 600
I 4, 800 B 4 4,000
e 7,200 Ry 500
(3l AN 7,200 TR 500
[l AN 3, 600 [ A 4,800
TRy 15, 600 + 73 900
(il A2 3,600 (=l A 2,000
(il A2 4, 800 (=l A 4, 400
(il A2 3,000 (=l A 4,000
(il A2 4,000 (=l A 2,400
£ An2, 3, 600 R EPN- 1,800
Y 4, 800 [l NS 2 3, 600
(N 2, 400 TRF 3, 600
[l A 500 A 9, 600
PN 3, 600 e 3, 600
Y 1,500 |4 %4 3, 600
3 40 3, 600 I 3, 200
F 4% 3,300 ¥R 2, 400
3 A 900 R 7,200
T AR 3,000 THEW 12,000
¥ AR 3,600 A ] 500
¥ AR A 1, 800 % Ak 900
+ 4R & 500 S R 3, 200
(0 NS - 4,000 SR 3,000
(3l AN 6, 000 (L A2 4,000
(3l AN 3, 200 (L A2 400
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B A e Foik kg
113 & B 42 470

&3 i £
4, 800 ¥ 7,200
2,100 [ A= 2,400
700 [ A= 4,000
600 2 S 2 3, 600
2,000 HA OB 3, 600
8,200 2 S 2 4, 800
400 T+ R ?f? 4, 800
500 [ A= 11, 000
1,500 T B 7,200
2,000 F 4, 800
2,000 [CIr A= 4, 800
4, 800 B 3,000
500 AR 2,000
3, 600 ¥ 2B 900
500 AR 12, 000
300 [CIr A= 500
500 [CIr A= 1, 600
500 =3 2,000
500 [CIr A= 6,400
3, 600 [ A2 1, 800
2,400 [l A2 500
500 [ A2 4, 400
3, 600 [ A2 3, 600
2,000 [l A2 500
4, 800 [l A2 4, 800
900 [l A2 3,600
500 [l A2 3,600
3, 600 [ A2 3, 600
4, 800 [l A2 4,000
3,000 * Y 400
1, 800 ¥ arE 3,600
1,500 L AN 500
3, 600 L AN 500
500 L AN 500
4, 400 Ll AN 6, 000
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£ L £
4, 800 [ A= 500
4, 400 [ A= 500
3,300 [ A= 4, 800
2,700 2 S 2 500
7,000 HA OB 500
4,000 2 S 2 2,000
4,000 HA OB 12,000
500 [ A= 4, 800
3,600 R E 3,600
500 FRE 4,000
500 + RE 2,400
7,200 AR 1,200
4,200 [l A2 3,000
3, 000 + 4 3, 600
500 ®EE 1, 800
4, 800 [CIr A= 2,400
3,600 [l A2 6, 000
4, 800 [l A2 4, 800
4, 800 [l A2 5,400
7,000 [ A2 500
500 [ A2 1, 800
4,000 [l A2 500
1, 200 [l A2 2,100
500 [l A2 400
500 [l A2 14, 400
500 [l A2 500
3,300 [l A2 500
2,000 [l A2 500
6, 000 [ A2 3, 600
500 (LA 3,600
2,000 (LA 4,200
500 (L A 2,800
7,200 (LA 6, 000
3,200 (LA 500
500 Fr R 2,000
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B A e Foik kg
113 & B 42 470

- £7%F - £3F
o 500 - 300
F IR 500 TR 4,000
R Ik 8,400 TR 300
o 500 (il SN 500
o 500 (il SN 4, 800
o 7,000 3 A 1,200
o 2,700 [l PN - 1, 800
A 4,800 [l A 500
A 500 [l A 3, 600
A 400 (il AN 2L 500
F T 3, 600 iy A 2,000
2 4,800 [ A 3, 600
o 400 [ A 3,000
o 3,600 s -%1 2,700
? 4,400 [ A 8,400
A 10, 400 HA o® 3, 600
A 3,600 HA o® 1,200
AN 5,400 (L AN 2. 500
A 2,400 HA o® 4, 300
5 - 3, 600 [l A 1,600
5 500 T RIE 1,200
o 3, 600 [l A 500
o 9, 200 [ A 500
o 4, 800 * B IR 1, 800
A 3, 600 [ AN 22 4, 800
A 4, 800 (CA A 4, 400
A 500 * i 4, 800
A 2,400 ®P®E 400
A 500 LA 12,000
o 3, 600 FRE 7,200
B % 3, 600 ¥ oo 1, 800
Ay 1, 800 (LA 500
O 24, 800 * ke 3,600
o 15, 200 PN 500
- 500 % gk 1, 800
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B A e Foik kg
113 & B 42 470

R £7%F A £ 37
I SN 500 S 500
I SN 2,000 S 2,000
ol S 2,100 [ A 1,000
Ay SN 2,000 [l A2 500
Ay SN 4,800 [l A2 500
il W2 3,600 ISP - 2,000
¥ it 1,500 RPN 500
I SN 600 3 eI 2,000
W 500 % ek 3,600
PN 500 w2 o 4,400
ol SN 2 6, 600 iy A 7,200
3 o B 4, 000 @3 OB 2,000
3 o B 1,200 @3 OB 600
#3 2p 500 @3 OB 4, 400
PR 500 [l Ny 2 8,700
PN 500 w2 o 500
Y 1,500 RPN 300
BN 3, 600 % % 3,600
RPN 2,400 3 % 2,400
SN 1,600 + 2 4,000
CRIR 900 @3 NP 2,000
Y 300 [l NS 2 7,200
Y. 500 EEPY" 500
ol W 500 =iy A 3,000
Ry 500 FE 3, 600
TP 400 =iy A 3, 600
Ry 500 RPN 3,000
A 500 [ N 4,800
I 3, 600 (- 4, 800
BN 3,600 ®RE 3, 600
W 500 (i A 3,200
il A= 6, 200 (il N 2 500
il A= 6, 600 (il N 2 3,600
Al W 500 iy W 3, 900
WA 3,600 2l SN 2 500
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SRS T ACEE S N

113 4 B 4 4788 i 9

s £3F i £

W 500 R F 1,400
EERY 4,800  |@ 2@ 3, 600
% #Hia 300 R E A 2,000
T+ E 4 3,600 T e 3, 600
* EF 3,600 T 4,800
3 1,500 RPN 500
PN 500 (il SN 2,400
N 100 0 S 3,000
Y 500 [ 7, 200
NS 500 [ AN 22 4,500
PN 500 TEE 3, 600
FEA 3, 600 TR 1,500
Y 3, 600 F 5 3, 600
W 2,000 TR 1,500
[ SN 9, 400 ® e 2,700
PN 500 72 o 1, 800
I DN 500 BB 4,800
DN 1,200 BB 4, 800
N 21 7,200 (Ll N 1,800
N . 500 (LI 3,000
fp 4, 800 ERIRY:. 500
i N 1, 200 B2 oR 4, 800
N . 400 (LI 4,800
2l SN 500 T Yk 2,100
2 1, 800 ® IR 1,200
A W2 1,600 i SN 7,000
T F4 3, 800 (CA A 8,400
N 7,000 (LI 2,400
+ %% 3, 300 TR 3, 600
W 3,600 * e 500
PN 1,600 F feit 3, 600
(3l AN 3, 300 [ AN 2 500
I 1,000 3 e 3,000
T A 3, 000 [l A2 500
¥Fx 4, 400 A WA 3] 2,000

-186 -




P BE A

oo~ WA E €

113 & & 45 % 4748 i1 8

- £7%F - £3F
[ A 4,800 TR 8,400
¥ b4 900 S -2 4,600
¥ b4 2,000 T ¥z 2,000
¥ 45k 6,000 [l PN - 3, 600
PN 4, 800 [l PN - 4, 800
PN 7,200 [l A 22 4, 800
PN 4, 800 [l A 22 4, 800
(LI 500 (LI 2 1, 600
(LI 3,000 I WP 500
% £ 400 (ol N 500
(LI 1,200 IO 4,200
* E£E 300 TR 500
(2l SN 2 2,000 A 500
(2l SN 2 4,000 A 500
(2l SN 2 3, 600 A 900
(LI 4, 800 IO 2,500
[l A2 3,600 (2l A 11,000
(LI 4, 800 IO 3, 600
HE OB 500 T E2x 1,600
(3l SN 2 500 A 9,600
(3l SN 2 500 TR 3, 600
(3l SN 2 2,000 A 6, 000
(3l SN 2 500 A 3, 400
(LA 500 (ol 500
+ ¥k 500 (i A 7,200
¥ Wk 3, 600 (ol 500
(LA 2,000 (ol 500
(3l SN 2 4, 800 A 500
(3l SN 2 500 % i 4,000
(LA 500 TR 3,000
* ¥ 6, 000 % 4 2,000
SN 400 3 £ 4, 800
w v 1, 600 (i SN2 4, 800
I 3,600 3 £ 4, 800
HA N 3, 600 PN 3,200
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s £3F i £

[ A 2 3,600 A 500
Rl W2 4,400 [ A 3,600
[ A 2 3,600 [l A 1,600
¥ 4hzp 12,000 = 4,800
AN 500 = 4, 800
Ay SN 4, 800 [l A2 500
iy PN 5,700 B 12,000
(3l SN 3 1,200 [l A 6, 000
(i Ny - 3, 600 =l SN 2 500
¥ 8 3,700 (o AN 2. 2,000
PN 6, 000 BB 500
DN 4, 400 + % & 500
DN 500 S N 3, 600
Ry 2, 400 TR E 500
TRy 500 T8 E 2,400
Y 3, 600 +HE 500
+ E A 3,900 (2l A 4, 800
DN 300 BB 500
PN 2,000 ¥ IR 4,800
B O 500 Fr B 9,000
N 900 T AT 5,000
N . 500 [ A 4, 800
N 3, 600 (LI 2,800
P 3, 600 #Fr o 500
I 500 72 o 3, 600
ol W 500 =iy A 4, 800
P 500 5 22 3,600
X g 3, 600 Rl 2 500
¥ 4,400 [ A= 500
(3l SN 2 3,600 [ A 19, 200
N2 500 772 B 4, 800
ol W2 4,800 HAr R 500
[l A2 2,000 HAr R 500
T EE 2,100 A A 3, 600
TR 15,000 + R4 3, 600
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o £ A &40
w3 5000 |% B& 4,000
(L N 1,500 § B & 1, 200
w2 op 500 % BE 4,800
w RE 7,200 w BE 2, 400
P RE 1,600 + B 11, 400
T RE 3,600 o 2,000
(A 2 1,500 WP 500
(L N 500 (i N 2 3, 600
+ K 3,600 A PN 1, 800
[ A 500 T 3,000
AR 3, 600 (R 4, 800
* R 4,700 A 12,000
AR 500 TR 2,700
iy SN 500 * Woe 300
AR 500 TR 1, 800
AR 4,800 (R 500
AR 500 (R 2,700
H2 B 3, 600 ¥ 2,400
(L N 500 ¥ ok 3, 600
[ A 4,800 TR 4, 800
[ A 2,800 TR 2,000
[ A 1, 200 TR 500
T¥E 900 AR 800
TFE 3, 600 (R A 4, 800
TFE 4, 800 (R A 4,000
TFE 2,400 (R A 3, 600
AR 4,800 (R A 500
EERY 500 R 500
CRIR 1, 200 R 500
(LA 4, 800 X oE 3,000
AR 5,000 TR 4,000
73O 500 i e 2, 800
(P2 3, 600 B DB 6, 000
* BR 1,600 B3 B 3,000
* BR 2,400 B3 R 4,800
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PR A Edo~ ik & g
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i &4 kia £
TR B s 2% 4n 3,600 IR 4, 800
o Ry 1, 200
DN 3, 600 DN 4, 800
LRI > LD A 4, 800 (WP 3, 200
PPN 500 AN 4,800
R AP 500 FEREF AP 3,600
B A G T 4, 400 AN 1, 800
N [l A 4, 800
BN 1,200 PRt iy 2 4, 500
BAKFF AT 2,400 |27
Bt R 4, 800 D2 4,800
g D (L N 4, 800
@3 o 7,200 Ry 2, 800
EEPY:. 1, 600 PRy 5, 200
N < A 6, 000 LR IO 2,400
(Cly A2 12,000 B DR 2,700
Y 1,200 Ry 500
Al WAL 4,400 ol SN2V 2,000
Al WAL 2,100 ol A2 3, 300
TRy 4, 800 PR 500
FS s Y 4, 800 PN 2,400
BB Y < WA 2,700
B 2,700 i A2 2,000
Ry 2,000 |p+= 1, 200
(il SN2 2,400 -+ 2 1,600
AR LR FLBL 2,000 g+ 3, 300
$raf RPN 8, 800
(i NS - 2,400 (2l N 2 500
Al WS 3,300 ol W] 1, 200
Frame R EF 2,000 e A 4,800
a9 (PN 500
FA O 3,600 [ A= 3,600
3P £ g L 2,400 HA o 4,400
A By 600
i i AN 4, 800 RN 4,800
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R £ 3 A £
(WP 6,000 (i PN 3, 600
EERY 4,800  |@ 2@ 1, 800
I 500 HAOE 500
i WP 500 HA O 500
e 3,600 o 1, 500
i WP 4, 800 HA O 500
i WP 500 HA R 4,400
R 900 [#3 2R 2,000
B F 3,600 [l A 2 4, 800
LRI 500 VAR 4,800
R 4,400 (30 SN 3 400
AR 4,600 AR 2,400
Y 400 vk 2,700
RS 3,000 [l Ny 2 500
PR 500 [l Ny 2 3, 300
I 500 w3 2 3,400
HA o 7,100 (i PN 3, 300
HA o 2,400 (i PN 3,000
WP 3,600 VASE) 11,000
O 500 [l NS 21 2,000
O 500 [l NS 21 500
O 500 [l NS 21 500
RPN 2, 400 (PN 2,400
PN 1, 200 PN 3, 600
WD 3, 300 Y 10, 200
Ry 5, 400 AR 300
PN 7,600 PN 1,000
O 800 [l N 21 500
O 500 (LA N 21 3,600
R 4, 800 (=l Ny 22 500
Y 1,2000 [ % 4 3, 600
Y 500 Y 500
PN 500 (2 4,800
Py 3, 300 Y 500
I 2,000 PN 2,200
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113 4 B 4 4788 i 9

o £ g £
2l A 4,000 [ A 4,700
(L N 500 AL 1,200
2l A 300 LA 500
LRIy 500 Ry 2,100
@ om 1,600 FERS 3, 600
2l N 2 4,000 L A2 500
Al A 500 VAN 3, 600
ol SN 4,800 [l A 600
1 1z 2 3, 600 TR 4, 800
R 3, 600 @A 9, 600
B 1,200 1 % A 12,000
R 7, 200 Ry 12, 000
AL 400 [l Ny 2 1, 600
ol SN . 2,700 A 12,000
N 500 1 5 3, 600
ol SN - 500 B2 2R 600
% = 4e 2,700 R 1,600
R 1,200 @A 500
2l A 4,800 (A 2,000
a1l 4,800 VY 2,800
(3l AN 8,800 TR 2,000
[l SN2 2,000 TR 500
NPz 9,000 (PN 2,700
¥ 7o a0 5, 600 BAr OB 3, 600
VAR 7,200 =iy A 2,000
VAR 2,700 A D 2,400
ol W 3, 600 =iy A 12,000
[l SN2 3,100 TR 4,000
(3l AN 4,800 A 900
AP 7,200 A 6, 800
iy SN - 13, 200 (I 500
PN 2,700 VAR 3, 600
4% 300 [ AN 2 2,200
ol W 115 iy SN 300
M2 400 VAN 4, 800
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B A e Foik kg
113 & B 42 470

LR &% ¢ A £ 4F
B 500 W= B 12,000
EERY 3,600 [#32m 5, 800
ol SN 300 15 Je 35 2,700
iy PN 4, 200 [y NS - 2,400
WD 1,500 AR Y 4,800
Y 500 [ 4,000
iy N2 500 [y NS - 1, 200
(3l SN 3 4,800 [l A 7,200
£ dl 3, 600 [ A 500
AN 500 @2 o 500
'Y 500 Y 3, 500
I ES 3, 600 [l Ny 2 500
PN 3, 600 (LI 4,800
NS 500 [ A 1,600
R 3,900 |#72om 500
3l SN 3 3, 300 (il AN 2L 4,000
FA R 500 FAr R 500
Ll SO 500 BB 500
W 500 (L 500
SRR 500 |1 o 2, 400
SR 500 |19 o 4, 800
AW 3,000 WA 500
B O 500 Fr B 3,600
=l SN - 3, 600 il SN 2 600
RPN 2,000 VA2 4,000
PN 500 VA 3, 600
(2l SN 2L 2,000 =iy A 1,000
W I 4, 800 HAOE 3,600
DN 8, 400 W R4 4,200
RPN 2,000 45 % 3,600
(3l SN 2 3,900 [ A 500
il A= 4, 800 (il N 2 400
=l W 600 2l SN 1,000
HEH 3, 600 EE 2,700
WA 3,600 2l SN 2 500

-193 -




B A e Foik kg
113 & B 42 470

R £ 37 =R £%
HA R 500 A 8, 800
HA R 500 A 1, 800
HA R 500 (LR 8, 000
AR 4,800 i & 4, 400
[y A 9,000 B R 3, 600
[y A 6, 000 B R 3, 600
[y A 9, 200 B R 500
AR 1,200 1 i = 5, 600
HA R 600 A 500
¥ E & 3, 600 BB 500
1 iF e 3, 600 BB 500
AL 1,800 (i 7,200
HiEid 4, 800 (I 1, 600
[y S 9, 600 (i 500
[y S 3, 600 (i 3, 600
HA R 4, 800 (i A 500
HA R 1,200 (i A 600
(I 12, 200 BB 3, 600
1 ) 900 1 ik %o 1,500
[ S 300 (I 4, 800
[ S 3, 300 (I 500
[ S 2,000 (I 12,000
R 7,200 (I 4,400
iR 9, 600 AP 500
VRS 400 (i A 3, 300
HA SR 4,000 (R A 300
HA SR 2,000 (R A 500
[ S 500 (i 500
PN 500 VA 3, 600
CRIR 3, 200 GRIR 500
ik sk 5,400 EEIPN-" 12, 000
(Ll A 2,400 1 3% % 1,200
(Ll A 500 (i A2 4,800
(Ll A 6, 000 (i A2 800
(L A 3,600 (i N 800
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s £%F ia £

Bt 900 w328 4, 800
1P I 4, 800 R AP 4, 800
1P e 3,000 DN 2,000
. 2,800 iy A 2,700
1§ 5% 5 1,000 B R 2,500
SR 2,800 Ry 500
iy AN 4, 800 A 600
(WP 4, 800 (- 1,600
(W 2,100 (- 600
RPN 5,000 % "8 4,000
¥ 2,700 RPN 3, 600
Ry 5000  |@A o 7,200
LRIR 4, 800 RRIR 500
1 3, 600 [ A= 500
W o 500 w2 R 500
L2 SN2 4, 800 BB 800
VRS 500 RPN 2,000
VA S 300 A ] 4, 800
7 o 500 R 5, 400
Azl W] 500 Fr B 4,800
LSS 4, 800 (i PN 500
Al N 2 500 AN 500
R AN 2 4, 800 HEF 4, 800
LI 4,800 RPN 4,800
RPN 500 RPN 4,800
Azl A2 2, 800 BB 2,000
TR IPNE" 4, 800 PN 800
"3 o 500 AR 2,000
Al S 4, 800 (- 3,200
vE-Yd 800 (A 600
Y 2,800 [l SN 4, 800
VA XS 4, 800 1 e 1,500
Ly A 3,600 15 e b5 3, 600
O 1,500 1 7 i 3, 300
L A 2 3,600 1 e 600
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B A e Foik kg
113 & B 42 470

e £ 2 5 £

EERY 500 [#3 2@ 4,800
EERY 500 [#3 2@ 7, 200
EERY 500 [#3 2@ 1, 200
Y 500 i 4,800
I 1, 800 RPN 500
R 3,300 RPN 8,000
I 1, 800 RPN 3,000
1 e 600 Ry 500
e 4,800 Y 4, 400
I 4,000 Y 4, 800
PRy 3, 600 Ry 2, 400
Ry 1, 600 HE 3, 000
(il SN2 500 R AR 500
TRy 6, 200 BEE 3, 200
Ben 2,400 [w7 o 500
DN 500 (P 7,700
RPN 12, 000 EFPY: 500
PRy 3,700 Y 4,000
R 3, 600 (=l A 900
AR 3, 600 [ A 4, 800
I SN 6, 000 & p 1,100
(il SN2 1,500 [ A 7,200
(il SN2 500 [ A 500
AR 4, 800 VAR 1,000
ey 3, 600 Y 500
ey 3,600 |pxw 3,000
(il A2 2,000 (i ] 3, 200
W& 7,200 VAN 2,000
AR 500 RN 3, 300
(ol A2 3,600 [ A 4, 800
(ol A2 4, 800 [ A 2,000
1 £.4 400 B 4, 800
Ry 5, 000 EEPY 3, 600
ERI” 2,0000 [ 7,200
V1A 3, 600 1§47 1 2, 600
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B A e Foik kg
113 & B 42 470

L3 £ L £

[ A 2,000 L A 500
[ A 500 L A 500
[ A 4, 400 L A 500
= 1, 600 2 S 2 12,000
Al AN 21 500 HA OB 500
Al SN 21 500 2 S 2 7,200
Al AN 2 1, 800 HA OB 500
[ A 9,600 L A 500
(LI A2 3,600 [ A= 2,000
[ A 5, 800 [ A 500
[ A2 4, 800 [CIr A= 4,400
iy SN2 13, 200 AR 3, 600
(ol SN2 4, 800 [l A2 1,200
(ol SN2 3, 600 AR 2,000
(ol SN2 3, 600 [l A2 1,200

Y

2,700

T

3,600

W\

5,000

RPN

900

W\

3,600

RPN

2,000

[l SN - 4,000 WMETELEF AP 4, 200
Y 4, 800 FARET EF T 1,800
RPN 5, 100 =@

RPN 6, 000 R e N R 4, 800
PRy 1,200 [ SN 3,600
WP 2,000 [ 4, 800
[l SN - 3, 600 Ll A 2 300
(il PN 1, 200 (N 4,800
(WP 4, 400 = 2,800
R WP 6,000 (e 500
N . 8,000 [Er N 500
1 #5 3,000 @R 2,000
(ol A2 4, 800 (I 500
Ry 3,200 |#72am 600
WO 2 2,000 BE A 3, 600
EHA R 2,000 (CA A 2,000
(=l A 3,600 H2 o 2,400
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B A e Foik kg
113 & B 42 470

2 £%F L £4F

HA O 4, 800 BA O 2,400
HA O 1,800 BA O 5, 600
(i WP = 1,200 PN = 4,400
A 2, 400 (e 3, 600
B A 1,200 Ry 2,800
Ry 8,800 |w o 500
AN 2,400 Ty 4, 800
PN 12,000 o F

TIPS 500 kg g o 7,200
(il A2 2,700 v

PRy 3,600 m2R 500
PRy 3, 600 w3 o 2, 400
Y 1, 800 £ & 3, 600
Y 500 Ry W2 1, 800
Y 400 iy W2 3, 600
s R 3,600 ® 30w 600
Y 3, 300 [ 3, 600
Y 3,600 |Fx 3, 500
Y 3,200 | E 4,500
Mk L EE R 7,200 (@7 2B 4,800
Na g2k 4, 800
Y. 3,600 o 200
Y. 4, 800 o 4, 800
Ry 6, 000 1R 4,000
F=RETL1 4,800 iy 1, 400
N3 e 7,200
g 4,500 [ AN 22 1,500
PN 500 (L P 4,000
oL ag 2,0000 |@2am 3, 600
N A [l W= 4,000
[l N 9,400 [ N 3,600
W 1,000 (Ll N 21 500
R 4,000 |@7 ap 500
(i A 900 (iR 500
(2l SN 2L 2,000 (il AN 3, 600
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£ L £

3,300 [ A= 500
1, 800 [ A= 7,200
3,000 [ A= 3,600
3, 600 2 S 2 500
500 HA OB 4, 800
2,400 2 S 2 400
12,000 HA OB 500
3,600 [ A= 2,000
3,600 [ A= 3,600
1, 800 [CIr A= 4, 800
12,000 SR EN 3,600
11, 000 a2 1, 800
7,200 praay 3, 600
4, 800 L A2 500
4,200 L A2 800
2,100 [l A2 9,000
3,000 [l A2 10, 800
4,000 [l A2 9,600
9,600 [l A2 500
1, 200 A A2 3, 600
4, 800 [l A2 1, 500
3, 600 LA 2,400
500 [ A2 6, 000

1, 600 [l A2 500
6, 000 TR 1, 800
5,000 [l A2 9,600
12,000 [l A2 1,000
500 [ A2 2,000
500 [ A2 6, 000
3,600 (LA 500
1, 800 [ A2 500
h, 400 (L A 500
10, 000 (LA 500
12,000 (LA 500
800 X 1, 800
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H3ﬁ&ﬁiﬁm¢

£ R £7%
AR ES 4, 400 [ A 3, 300
4R, 4 2,700 EE % 3,900
TR 3, 400 [ A 3, 600
TR 7,200 LA 30, 000
A 4,800 i 3, 600
AP 3,000 Ea< 500
iR 1,000 Fa 9,000
iy WS 4,900 [ A 500
2l 3, 600 [ A 3, 600
2l 9,000 [ A2 1,800
E iR 55, 000 (R 500
L A 3, 600 [ A 2,400
[l AN 7,200 [ A 3,000
i 500 £ 4, 800
TFra 2,800 TR 1,800
AR 500 AR 3, 600
Fia 500 B 3, 600
Fia 7,200 el 2,400
DN 500 (P 4,800
(A 2,800 [ A 500
RIS 500 o 6, 000
AR 3, 600 Fies il 4,000
145 600 AR 500
AR 500 AR 2,400
AR 6, 000 AR 4, 800
AR 4, 800 AR 3, 600
AR 2,000 AR 500
AR 3, 600 [ A 9, 500
AR 500 i s 1,200
AR 3,600 [ A 3, 600
AR 2,800 [ A 2,000
(3l AN 3, 600 HA o 3, 600
(3l AN 1,000 HA ao® 3,000
(3l AN 500 HA ao® 500
(3l AN 3, 600 HA R 12,000
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H3ﬁ&ﬁiﬁm¢

oy £3F - £ 37
[CIF N 3, 600 EE 2, 800
Ao 4, 800 [y A 2,400
(Ll N - 500 Bk 3, 600
(LA A 300 LA 6, 000
Al AN - 2,000 [ A 12,000
Al AN 2,400 LA 3, 600
Al AN - 4, 800 [ A 7,200
(Ll NS - 4, 800 AR 5, 600
TR’ 3, 600 AN 1,200
A2l SN 2 2,200 BB 500
Azl A2 500 A 4, 800
L AN 3, 600 [ A 3, 600
RN 500 T 7 3, 600
RN 3, 600 [ A 4,400
Al N2 500 Hr o 3, 600
Al A 500 (=l A 500
Al A 4,000 (LU A 2 4,500
Azl A2 2,000 T F¥ 4, 400
Al A 500 (=l A 3, 600
izl SN 500 (I 2,700
Azl QNS 2 1,200 (I 500
A2l AN 2 2,800 HE R 3, 600
izl SN 500 (I 500
Al A 12,000 BB 500
Azl NS 2 500 (A 2,400
EE 1,500 (I A - 11,200
N 3, 600 7 X 2,000
izl SN 500 (i 3, 600
izl SN 3, 600 AN 3, 600
izl SN - 4, 200 [ 500
L A2 3, 600 Hr R 500
B2AARET T 7,000 G A 500
& (i A2 500
2o 2,000 (i A2 4, 800
Hiet 14, 400 i A 2 4, 800
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oy £7%F o £ 37
¥ o 2 4, 800 (L 1,200
73 o 1, 200 TR 2, 500
[l A 4, 800 AR 500
(10 A 600 [l N 2 500
A N 2 2,700 [l N 21 7,200
(10 A 4,200 [l N 21 4, 800
(L A2 1,600 [l N 21 3,600
T L 16, 800 X 3,600
[l A 600 (LA A= 500
AR 2,100 [l A 2 500
(il A2 500 (=l N 2,700
(0 NS - 5, 800 B & 3, 600
i SN2 500 (i N 21 2,000
A W 3, 300 A B 4, 800
F cE 12,000 LU AN 21 2,000
2 2R 2,100 (N 500
. 2,000 (LA N 12,000
WD 1,500 & AR 3, 600
(i SN 600 (LA N 2,700
(i SN2 4,800 Hr R 2,000
CRIPS- 4, 800 kRS 3, 600
2L L fih o tE 2,700 R 12, 000
+ F AT [l NS 21 800
[l A 3,200 (i A= 500
N TR AT 1, 800 (i A= 1, 600
#2 2F 2,000 (i A= 500
o fE 4, 800 (i A= 500
(i NS 2 16, 800 [l SN 2 500
(- 3, 600 i GE 1,800
iy SN - 5,000 BT 9,600
iy SN - 3,600 e 3,600
iy SN - 500 B B 7,200
il A= 500 (Ll A= 500
[l A 4, 800 HA OB 500
3l SN 2 2,000 (2l SN 21 1,200
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oy £7%F o £ 37
4, 800 (i A 6, 000
7,200 Hr R 3, 600
5, 000 Hr R 7,200
3, 600 [ A 2,400
2,400 F B PR AR (T 4,000
300 [ A 500
3, 600 ER A% 800
500 AN 4, 800
500 Hr R 500
3, 300 R iR % 3, 600
500 (A 500
500 Hr o 500
4, 800 [ A 3, 600
4, 400 [ A 500
500 Hr o 2,000
500 (LU A 2 7,200
900 (A 500
500 BR 6, 600
3, 600 (A 500
4, 800 AN 5, 000
3, 600 AN 500
2,400 [ A 4, 200
7,200 HE R 500
(2l AN 21 500
2,100 il N 3, 600
1,700 il N 4, 800
11, 200 R B 3, 600
900 B R 2,000
400 i 2,100
4, 800 B R 4, 800
6, 000 b g E L 6, 000
AR
6, 000 ok 12,000
[l S 2 3, 600
500 [l S 2 4, 400




P BE A

oy ?IEI_\?g

H3ﬁ&ﬁiﬁm¢

i £4F “H £
SERS L T 4, 800 R X T LI I 6,000
A =~
B 3, 600 [l SN 2 6, 600
B 9, 600 [l SN 2 4, 800
Y 4,800 w2 oR 3, 000
RPN 3,600 w7 oR 4,800
PN 2,000 (il SN 3, 600
B2 D 3, 600 JF A R 3,600
Y. 4, 800 (R 12,000
RN 3, 600 CEIPN 4, 400
& «pii 3, 300 B R 3, 600
73 o[ 4, 400 B OH 500
77 0 1,500 Ao 500
=0 WO 12,000 [l A= 4, 800
T Rt 8, 000 k] 4,800
. 3,000 [ A= 3,600
Y 4, 800 B2 1,200
Ry 4, 800 (i 3, 600
TR TS 1,600  |®73 x> 200
N WP 2,700
TIPS 8,000 (PN 2,700
AT EF NP 2,400 w72 oR 500
Y. 9, 600 (i PN 200
RPNt 500 DN 4, 400
RPN 2,000 HA O 3, 600
FhEwprg 9,800 Gl WP 7,000
N WO 6, 000
i R3 3,700 EE S 900
A2l SN 2,400 (I A 3,600
Fisr 2 4,400 [ N 4, 800
TS DU 3, 800 EEEY: 4, 800
NS Ay A 2 1, 200
Ry 4, 200 RPN 4,000
RPN 12,000 RPN 3, 800
(ol A2 3, 600 il N 3, 900
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A &% R &%
B % b 3, 600 (N 3,900
DN 4, 800 wA o 2,000
N 1, 200 NN 4,200
 AEE Y 3,200 WO 2,200
Y 3,600  |mi 400
i WP 1, 800 (I 2 3,900
PN 3,600 o 3, 600
FEiF 2,100 A 4, 800
RN 3,600 Fg it g 2,700
PERe 4, 800 Y 500
R 500 (i SN 500
RIS 2,000 (P 4,000
Ry 500 RPN 4,000
Ry 500 RPN 9, 000
TEIDN- 12, 000 #AoE 500
EE P 3, 600 [ 4, 800
R AN 500 B Ay 1,200
Ry 500 BE¥ 3,700
K4 9, 200 RPN 3,600
BT b 1,600 |xEe 3, 600
R I 4, 800 #r o 500
RN 2,400 #AoE 6,300
R I 1,600 #r o 3, 600
Ry 2,000 (i 500
B g 7,200 JF 1,200
B b 4, 800 Ry 2, 400
B s 3, 600 e % 4,800
RIS 4, 800 (PN 500
B % 4, 800 EE e 2, 000
WD 4, 200 (PN 500
PN 900 (PN 3,600
I 2,000 PN 4, 800
B 4,000 B DB 500
AN 500 PN 500
I 3,600 PN 500
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R £7%F A £ 37
AR 3,600 AR 500
HA OB 3, 600 LA 500
B 5% 4, 800 TR 500
Azl WL 500 [l A2 4,800
B Tiw % 1,500 4545 900
Ay SN 2,000 ) S 12,000
Ay SN 2,000 B 12,000
B ir % 2,700 FRY 7,200
[l A 12,000 V253 15, 200
BN 2, 800 EHRE 3,000
BE % 4, 800 LS 800
(3l AN 400 [ A 300
[l SN 12,400 [ A 500
[ SN 2 3, 600 [ A 500
(2l SN 2 7,200 B iE R 800
2l A 600 (R A 2 300
JF dpe b 3, 600 FE I %~ 3, 600
B 4 Y 3, 600 Ry 500
HE OB 4,800 (R A 2 4, 200
(3l SN 2 500 LA 600
[l SN2 4, 800 TR 3, 600
SN 500 B % 4, 800
[l SN 2 12,000 LA 500
FE AT b 1,600 (R A 2 1,500
2l A 1,800 (R A 2 500
ol W 4,800 (R A 2 500
ol W 1,500 (R A 2 4, 800
[l SN2 2,400 [ A 1, 500
[ A 16, 967 TR 2,000
FE i B 4, 800 A 200
i B 3, 800 TR 4, 800
(3l AN 3,600 [l A2 600
FE s 4,800 [CIr A= 3, 600
I 3,600 F 4 & 4, 800
[l SN2 500 i A2 2,000
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i £% i £
Y. 3,600 [@7 am 500
PR 500 (Ll S 1,500
Y. 2,800 (@7 am 500
15 5,000 LU N 500
R 4,0000 |#7 2@ 4, 800
RN 4, 800 o 1,800
Y 500 CREIPY: 3, 600
B D 500 & T 3, 600
B D 500 fo € ARG T 3,600
[l A 4,800 F
W o 7, 800 (LI 500

SR 500 o B 3,600
= B 3, 600 [EIN 1, 500
R 500 (L I 2,000
¥72% 4,400 & i BT 4,800
A 500 (LI 4, 800
A EX LS RS 12,000 H7 2R 2, 400
FE TP 4, 800
Y 1,000 |FARF g & 1,200
77 0R 500  |F AR
KB &AL 3, 600 A B LA TR 3,000
g 2 AR AR AR 4, 800
Y 4,500 SO
FAREREE G R 400 [l W2 4, 800
N7 Y. 4,800
Y 3, 600 [l NS 2 3, 600
EEY: 4, 800 i E 2,700
I 400 PN 500
HA O 3, 600 e i 4, 800
Ry 2,000 RPN 6, 800
i SN2 3,200 SREFRRFF T 4, 800
L WP 2,100 =7
Ry 2,400 CRUR TSl LN I 19, 200
[l A 4,800 =
P 400 Al AN 2 3, 600
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- H £ R &40
ARFEF LR 4,000 (AP 600
WBE HT ¥ 5,000 A+ 3, 600
S (LI N2 1, 200
HE LD 3, 600 A+ 7,600
PPN 6,000 AN 3, 600
PRy 1,200 AL 600
B 3,000 AN 500
A=l 3, 200 il SN2 2,100
$9 7 F2 Lt 4, 800 DN 3,000
> 1B B A Y TT iy SN 3, 600
i A 4, 800 A AL 4, 800
£ F 2 BREER 4, 800 A N 21 4, 400
v~ Wi A Y 5T [ PN 500
@7 op 1, 600 PR 3,300
R 8, 800 Ry 500
137 3 HARY 4, 800 Ry 1, 800
LR o A [l A 2 3, 600
TR pEF RSP 1, 500 SRLER 2,400
i ak AR IR £ 7,800 - EON ! 500
PR B A PN = 500
ATy R iy WO 3,600
=l W 3,600 il WP 2 3, 600
[l A 7,200 YT 4, 800
[l A 21 2,400 HH G 400
BN 8,400 W 500
W 500 W 4, 800
W 500 W 11,000
R F 4, 800 PRy 3, 600
ol SN2 300 A 500
R 4, 800 @ o m 500
il S 1,500 I PN 1,500
REEAEHG 4,800 Y 3, 600
Na dreh 3,000
e 2, 400 Y 2, 400
Y 6, 000 R 4,000
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&3 i £
3,600 A A 6, 300
3,600 A &Y 2,400

500 A 5= 4,000
2,100 [ A = 500
4, 800 HA OB 500
4, 800 2 S 2 12,000
1, 200 HA OB 4, 800
2,400 [ A= 2,700
6, 600 L A2 7,500

400 A EF e 3,200
3,000 A E IR 500
6, 000 A E R 3, 600
4, 800 A FEak 12, 000
2,000 [l A2 13,000
4,000 L A2 11, 000
4, 800 A 2,600
3,600 A 4, 800
3,600 [CIr A= 500
7, 800 [l A2 15, 900
4, 800 A A2 900
4, 800 A A2 500
2,400 A A2 6, 000
4, 800 A A2 500
6, 000 FE 7 BB 3,000
4,500 [l A2 3,300

500 [l A2 2,400
2,500 FRIET 1, 800
2,000 [l A2 1,200
2,000 [ A2 10, 400

400 [ A2 10, 200

12,000 BAEREEFF R 1,500
14, 400 A
9,500 A S 2 1, 500
12,000 ARAR ARG L F 4,000
2,000 A A 500
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LA £%F ks £ 57

AR K 7,800 [ A 3, 900
ol SN 2,000 [ 3,900
L SO 4, 400 [ 500
e 3,600 R 2,800
- WO 600 iy N 2 4, 800
Fn® a 3,000 o 4,800
BilagEF AP 4, 400 (A 5, 700
kKT 1At T 4,800 |@7 2o 5,000
L IS 7,000
BREAHTET R 3,000 - I 3,600
o fle & 3,500
£l - % 3, 600 2 % 4, 800
HA OB 4,800 B 500
iy SN 2,800 IRt 4, 800
(2l SN 2 800 [ PN 500
ol SN . 4, 800 il N2 500
Al SN 2 3, 200 B 3, 600
Blx % 8,000 Al SN 9,600
Blx % 3, 600 TR 1, 200
ol W 2,100 A SN 2 500
glx B 3, 600 2] A AL 4,600
(3l SN 2 4, 800 A SN 2 4,000
(3l SN 2 6, 600 A SN 2 4, 800
iy SN2 4, 800 $119 500
iy SN2 3,000 $119 2,400
(2l SN 2L 3, 600 R SN2 4, 400
(il A2 500 il SN2 1,600
ol W 4,800 A SN 2 2,400
ol W 4,400 A SN 2 2,400
(3l SN 2 3, 600 Al SN 2 2,000
ol SN 3, 600 [ N 500
=l SN2 500 fld & 2,400
(3l SN 2 2,700 [l A2 3, 600
[l A2 4,800 8] 7R 55 600
FA 6, 000 S 3, 600




AR A Fiddo~ KA E €
113 & & 45 % 4748 i1 8

- £7%F - £3F
FA R 4, 800 AR 500
[ A 2. 6, 600 TR 4, 800
[ A 2 3,600 TR 500
(L A2 300 FA R 2,400
3l A 3, 600 L A2 2,400
Bl k4% 2,100 AR 1,500
WD 2,700 fliE 4,000
[ A 2 12,000 TR 400
FA R 500 AR 4,000
FA R 500 FAr R 2,000
FII3 1L 1,200 (L A2 1,200
(2l SN 2 4,800 [ A 4,800
(2l SN 2 6, 200 FliE 2,700
[l SN 2,000 [ A 4,000
(2l SN 2 3,900 TR 3, 600
[l A2 3,600 HA o® 3, 300
2 & 4 3, 600 RPN 4, 800
FA R 4, 800 FAr R 500
[l A2 500 RS 4, 800
(3l SN 2 500 [ A 300
IR 500 LRIR 500
Ry 500 G 4, 800
14 % 4,800 [ A 3, 600
14 % 3,200 Flw i 3, 600
FA R 500 [l A2 500
[l A2 500 (CA A 2,000
[l A 2 3,600 (CA A 500
(3l SN 2 500 [ A 3, 600
ol SN 500 Pl 5 3, 600
[ A 2 4, 800 [ A 900
25 v 3,600 [ A 1,200
[l A2 6, 600 HAr R 1,200
[l A2 600 HAr R 3, 600
[l A2 1,200 HAr R 1,200
[l SN2 5, 800 (L A 4,000
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PABE A Bddo Bk & €
1134%5:# AR R
&4 i 25

500 1% % 2,400

3, 400 Y 500
1, 300 @A oR 2,400
1, 200 L AN 500
1, 800 B2 o 1, 200
600 LA 400
4,800 L AN 500
3, 600 Ry 500
3, 600 @A oR 500
500 ¥l & 4 600

2, 800 RN 500
7,200 EEEY 4, 200
600 A A 2,400
4,800 Y 500
3, 600 Fla 3, 600
4,200 RN 4, 200
6, 400 514+ 5,200
800 RN 3,600
900 ]I 3,600
12,000 LA 14, 400
600 Ry 500

4, 800 EERY: 10, 000
3, 300 Ry 15, 400
400 RPN 500
2,100 £ f 4 3,600
500 Y 7,200
500 Y 2,000
300 EERY 8,000
500 Ry 1, 800
2,000 EERY: 500
3,600 Ry 2,100
12,000 HA o 4, 800
3, 600 HA ao® 500
1, 800 HA ao® 1, 800
3, 600 HA R 500
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L i 447 LA &7
FA R 4,000 AR 500
F| 2w 3,600 [l A 500
FA R 7,200 AR 3, 600
2 T & 1, 800 L A2 500
P2 4,700 FIE N 500
3l A 4,800 214 1 3, 600
FIEN 2,400 FE 4,800
[ A 500 AR 500
B F 2% 4,800 [l A 2,400
Y 1,000 CESES 500
217 & 1,600 iy A 4, 800
[l SN 12,000 [ A 3, 600
(2l SN 2 3, 300 [ A 500
(2l SN 2 500 [ A 3, 600
[l SN 12,000 [ A 900
FA R 300 FAr R 500
Bl 3,600 (2l A 2,000
[l A2 2,100 (L AN 2. 9,600
FA R 7,200 FAr R 900
[l SN2 1,500 [ A 1,400
%% a7 1,700 [ A 500
(3l SN 2 500 [ A 400
(3l SN 2 3,200 [ A 3, 600
FA R 12,100 [l A2 500
FA R 500 [l A2 500
FA R 500 [l A2 500
IR 3,600 [ AN 22 3,000
[l SN2 2,100 [ A 500
(3l SN 2 3,600 [ A 3, 200
[ A 2 3,600 [ A 500
FAEZn 4, 800 TR 3, 600
[l A2 500 [l A2 0, 200
[l A2 7,200 R % 4,800
[l A2 3,600 R % 2,400
[l SN2 500 [l A2 1, 800
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oy £7%F o £ 37
£l s 400 [ A 2,000
Flg e 6, 000 P4 % 300
| 7,200 LIPS 500
[l N 1,200 [ A 500
iy N 300 [ A 500
iy PN 5,000 [ A 2,100
£l 735 3, 600 B R 500
(ol A2 2,000 [ A 4, 800
(ol A2 4, 800 A 500
PlpBHETET R 4, 800 (i A 1,000
N A [y A 1, 800
(il A2 4, 400 R AR 3, 800
iy SN 3, 600 [ 3, 600
(il SN2 2,800 [ 7,200
ol SN 2 4, 800 R AR 2, 800
£ e 1,200 (=l N 500
Azl A2 2,000 (=l N 2, 800
(il A2 2,100 (=l N 7,200
Tl 400 (=l N 500
¥l 5 = 4, 800 [ A 3, 600
%l & 1o 3, 600 [ A 500
= 4,800 [ A 7,000
(=l SN 2 600 [ A 3, 600
(3l SN 2 2,000 (2l AN 21 300
Flie % 4, 800 (=l N 12,000
Flie % 2,000 FlE 5 3, 600
(=l AN 500 (2l SN 500
(il A2 3, 600 B DR 1,200
ol SN 4, 800 £l e 4, 800
AR 500 [ A 500
AR 3, 300 [ A 500
(LA 900 (2l A ' 5,000
Al SN 3,000 Al SN ] 500
(3l AN 800 (il AN 2,000
Fliey) 4, 800 il N 2,400

214 -




SRS T ACEE S N

113 4 B 4 4788 i 9

e £9F o &9F
Y 4,800 [#7om 7,200
] 4R 4,800 [#7om 4, 800
Y 500 |#lpnis 3,000
TRy 36000 |@aom 1, 600
Y 36000 |@aom 500
Y 5000 |@3 am 500
Y 36000 |@aom 1,200
PR 5,600  [¥lidre 4, 400
Y 2,800 |#7 om 1,600
Y 1,200 |#le 4, 800
Y 4,0000 [#7om 7,200
ERy 12,0000 [l 4, 800
Pl 4,8000 [@7 om 2, 000
e 4,800 @7 om@ 4, 800
e 4,4000 @7 o@ 4, 800
Y T EREEEY: 2, 000
1 % 1) 6,600 |@7om 500
Y 3,6000 |#7om 500
Y 600 |@3om 3, 600
% 3,600 [m7om 4, 800
R 5,200 |#lg= 2, 800
R 8,000 [¥l@3p 12, 000
] e 11,2000 [s1€% 7,200
Y 5,0000 |#7 om 1, 600
PRy 4,800 [#7om 3, 000
PRy S EEEEY: 4, 000
PRy 5000 |@2om 2, 000
EE 500 |%im % 3, 600
e 2,000 [@7am 9,000
Y 4,800 [#7om 2, 700
Y 2,4000 |#7 om 800
Y 4,800 [#7om 3, 600
2 3,600 |#lm 4, 800
Ry 5000 |wr o 3, 600
Ry 5000 |wr o 400
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113 & B 42 470

i &% aia £

52| i 5, 400 B 500
- EON. 500 [l A 12, 000
¥l festh 4, 800 RIey 500
iy PN 6, 000 [y NS - 6, 000
IO 3, 600 ¥l E 3k 4, 800
RPN 500 Fleo g ” 4, 800
FIE R 3, 600 L A2 4,800
ol SN 500 [l A 900
SO 3,600 [ 3, 300
&4 1, 800 (2l A 3,000
PN 7,000 BB 500
I SO 500 (LI 1,200
Ry 600 ¥t 3,600
W o 2,400 #r o 500
PR 500 [l Ny 2 3, 600
2l A 3, 600 (A 500
HA o 500 FlEm 2,400
WO 500 wr O 3,600
L I 1 8,000 F14% 77 2,200
I SN 3,600 (LI 3,600
2| A 3, 600 [ PN 3, 600
Y 500 [l NS 2 7,200
Fk- 1,000 [l SN2 11, 200
PN 500 Ry 500
PN 2, 800 PN 3,300
Ry 600 |1 600
B3 O 2,800 =iy A 4, 800
I SN 7,200 (LI 9,600
i N1 500 [ A 2,000
(3l SN 2 3, 800 TR 2,700
Al SN 2 2,000 TR 500
TR 1,600 RPN 1, 800
TR IPNE" 3, 600 EEPY- 1,000
N 2] 4, 800 iy W 2,000
A2l WO 500 [l S 2 16, 800
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i 297 LA £
4, 800 MEFEF W 4,000
1,200 L A2 4, 800
400 [ A 2,400
500 L A2 8,000
4, 800 [ A= 3, 600
500 AR 1,200
3, 600 [ A= 7, 200
2,000 [ A 3, 600
7,200 BER%EEF3 T 8, 600
12,000 o
500 FAr R 3, 600
500 (12 AN 22 6, 000
500 [ A 4,800
11, 000 [ A 3, 600
3,600 TR 4,800
500 [ A 500
8,800 (L A2 6, 000
1,600 (L A2 500
5, 600 [ A2 500
4,800 |1 g 4, 400
9’ 600 LR AN
4, 800 TR 2,400
500 AR 500
1,200 |#Emyioaae 4,000
6,600 |##A7FAxP 3,000
2,000 [ A2 8, 600
500 (L A2 2,800
7,000 (L A2 500
03142 300 RPN 500
(LA 500
1,600 [ A 10, 000
4, 800 TR 300
12,000 TR 500
RIS 3, 600 (L A2 4, 800
2,000 (L A2 3, 000
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s £%F ia £

DN 6,000 e R 7 2,000
"I 4, 800 TR 600
(Ll N - 500 [l A - 5, 000
PN 4, 400 P FET 7,700
A AL 5,400 L A2 9,000
SR 8,000 Ry 400
SRR 2, 800 Ry 4,200
ol SN - 1,200 [ 4,800
"R 1,800 [l A 1,200
‘ﬁfx)iﬁé?] 3,000 1= 300
i SN - 2,400 BB 2,000
A W 1,500 A B 1, 800
A W 1,200 A B 500
I 500 i 3,600
HA O 3, 600 AP 5B 1,500
Ry 3, 600 P 500
ol SN - 3, 600 BB 4,800
WD 4, 200 N 2,400
ol SN - 6, 000 BB 4,800
I SN 2,000 (LI 500
B O 2,000 Fr B 3,600
N . 4,000 (LI 4,800
I SN 1,600 (LI 500
Ry 3, 600 P 500
Y, 2, 400 EEPY: 500
I DN 2,700 Wit 3,900
PN 12,000 HleE 4,000
3 o B 4, 000 @3 OB 4, 400
Y 4, 800 [l Ny 2 13,200
wHER 12,000 [l W= 4, 800
PN 4, 800 NN 4,800
Tk 5 i HE 12,000 [ AN 2 300
BA R 500 [ AN 2 1,200
B L 600[  |W 7 2 3, 600
o /3 2R 500




SRS T ACEE S N
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L £%F L 447

(L A 500 [ A 500
AR 1,800 [ A 4, 400
e 1,500 [ A 500
A=l AN 3, 600 LA 500
A=l AN 600 LA 4, 800
A=l AN 9,000 LA 4,600
A=l AN 300 LA 4, 800
HAE 3, 600 [ A 7,200
(L A 500 (LA 500
ST % 3,000 i e 7,200
[ A 500 (A 500
iy SN 2,000 [ A 3, 600
iy SN 4,000 [ A 3,000
iy SN 1,200 T 1,200
HE R 16,800 |~ 2, 700
&R % 4,200 Het 1 7,200
AR 6, 300 AR 3,000
[ A 3, 600 (A 500
& AR 1,800 e 3,000
HE 11,000 AR 500
(3l AN 4,400 TR 9, 700
[l SN 3, 200 AR 3, 900
HiRE 4, 800 0 ES 3, 300
[ A 600 (L2 AN 2. 3, 600
2l A 500 hETY 5, 600
[ A 4,000 (L2 AN 2. 4,000
[ A2 9,000 (L2 AN 2. 6, 000
ol SN 500 FE A 9,000
[l SN 500 AR 7,200
AR 3,600 [ A 4,000
HEW 4, 800 [ A 4,000
(3l AN 500 (R A 500
(3l AN 3, 300 (R A 7,200
i 4,800 R 3, 600
(3l AN 2,000 (R A 500
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oy £7%F o £ 37

OB 6, 000 (i A 2,400

B 3, 600 [y A 500

OB 4, 800 AR 400

A 500 b 3 2,400

A 2,000 Bile 3,000

3, 600 [ N 900

OB 2,000 [ N 3, 600

3, 600 [CI N 500

OB 3,600 i 3, 600

OB 3, 600 AR 9, 600

[CIF A - 10, 400 (LU A 2 2,400
4, 800 [ A 3, 200

gEFRA2P 2,400 [ A 500
Wi S 800 [ A 7, 800

[y S 2,400 [ A 500
PR 6, 000 ¥t 400
I 3,900 BRT 3,000
FEHmE £ 400 (LU A 2 500
A (N 500
[l SN - 6, 800 LR L 400
LY F ot 500 [l NS 2 300
Bl 900 3% 2o 2 3, 600
EER &) 3, 600 AN 500
AR 900 (=l N 500
(CIF N 600 (I A - 4, 800
¥ 3 5,400 [l S 2 4, 800
(i NS - 500 [l S 2 8,000
(i NS - 3, 600 [ A 500
[l NS 2 2,400 AN 2, 800
(il SN 2 3, 600 [ 6, 000
Ao 500 [CI A 300
(il SN 2 3, 600 [l S 2 3, 600
il A= 500 FR% 400
(3l AN 2,000 (il AN 300
A 3, 600 [l S 2 500
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A &% o &

3| 3 1,200 Y8 2,400
= L 3, 600 (R 2,000
Rk 1, 200 wArw 4, 800
AN 3,000 B 4, 800
8 2 4,000 A 2,000
RPN 300 WD 4,400
8 2 4, 800 A 9, 700
Ry 2, 800 =i 4,800

4,000

[l A2

2,000

6,000

D iR IV S
T

2,400

iy SN 2 1,800 (LU A 2 3, 600
=i ¥ 3, 600 E 3, 600
Al AN 2 7,000 =4 2,400
Ea 2,000 [EA& 800
[l Ny 2 400 [ N 500
2 A 500 (=l A 500
2y SN 2 10, 000 [l A 2 3,700
L . 3, 600 =4 % 500
L . 3, 600 =4 % 4, 800
g 1,500 I 2,000
Azl QNS 2 500 [ SN 500
(i NS - 500 [ SN 2,600
3=k A 400 [ SN 3, 600
(i NS - 7,200 Ll A 2 2,100
3Ry 1,200 Ll A 2 600
(i NS - 4,000 Ll A 2 500
A2l SN 2 4, 400 Ll A 2 3, 000
(i NS - 500 Hr o 3,600
=4 (= 92,400 RPN 2,000
=5 R 4, 800 = 3, 600
izl SN - 3,600 Hr R 3,000
=l SN 3,600 il N 8,000
Al W] 500 [l S 2 500
Al W] 500 [l S 2 500
ol WA o) 500 30 SN2 500
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i &% aia £

EERY 500 [#3 2@ 2,700
ik 3, 900 B 500
W 16, 800 BB 3, 600
AN 500 B 4,800
Ay SN 10, 000 [l A2 2,000
PN 4,500 o 48 2, 800
A N 2 4,200 [l SN - 1,800
BN 2,800 (L 1,500
R 4,800 [l A 3, 600
14 9,600 (A 2,400
i 3, 600 (L A2 900
Eik iy 4, 800 AP 3,000
I 4, 800 B R 4,000
[l SN 4,800 [ A 500
Ry 9, 000 BIG 3,600
RiErr 1,800 =F 3 2,400
i 12,000 (L A2 500
W 3,600 wr O 2,700
R 2, 400 RPN 4, 800
SRR 2. 3, 600 B 1, 800
32 2 3,400 Br 2,800
N1 2,400 LU AN 4, 800
B 7,800 TR 6, 000
R 3,200 Ry 3, 600
3R 10, 000 (30 SN2 1,200
2R, 2 3, 600 Bt 6, 000
Ry 400 B2 5, 400
R 7 4,200 vt 2, 200
N1 3,600 U N 500
SN 500 (PN - 4, 800
I 500 By p 3,200
RN 500 EEp 4, 800
RN 1, 600 By 7,200
DN 2,000 2wk 2,000
Azl L 3, 600 -l SN2 500
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LA &4 i £
2l A 500 =MW AT 13, 200
ol SN 4,400 =MW AT 3,000
2l A 600 [ A 2,000
2l N 2 4,800 L A2 4,800
Al N 2 2,400 L A2 1,200
4 8, 400 RPN 1,500
Al A 500 =Pt 3, 300
By 3,900 |EAF 3, 600
ol S 1,800 E%\ﬁc 4, 800
2l A 3, 600 BaqE 1,800
R 3, 600 H2 B 3, 600
[l AN 2 3, 600 A 500
(3l AN 2,400 A 3, 600
Erg 300 @R 500
v 7,200 S 3, 600
Ry 3, 600 B 2,100
iy WO 5,000 BB 500
HA OB 3, 600 Ly A . 3, 600
R 6, 000 L. 2,000
=y N 4,800 1y AN 2,000
[l A 3, 600 E Gk 7,000
gL R Y 3,000 Tx%i i 7,800
B3 500 A 1, 800
e gk 4, 800 Ly PN 5,200
R N 500 Ly A . 1,200
2R i 900 Ly A . 2,400
BRI 1 4, 800 (L A2 500
PN 500 BLw 4, 400
(3l SN 2 4,800 [l A 500
iy SN - 3, 200 (I 500
iy SN - 4, 800 (I 4,000
A WO 500 By pF 3,600
[l A2 2,000 [ AN 2 500
=W oZ 1,000 B 500
B 2,400 ol W 4,400
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A &% R &%
(WP 3,600 (i PN 1,800
EERY 1,800 |3 2@ 3, 600
(WP 4, 800 (i P 400
3k 5 4, 800 ISP - 4, 400
i WP 500 HA R 1,800
R 2,600 o 3, 300
PN 1,600 o 3,900
R 3,600 |[#32m 4,800
(WP 3,600 (i PN 2,000
HA o 500 (i PN 9,600
WP 1,500 (i 400
O 500 (i N 21 300
O 500 (i N 21 500
3l 4, 800 [l Ny 2 2,400
O 500 (i N 21 2,000
RPN 2,100 Bivad 4, 800
AT 3,600 Ry 400
RPN 500 By 3,600
Ry 4, 800 = 8, 400
O 500 [l NS 21 2,000
Y. 500 A 500
Y. 4, 200 o 8, 200
R 500 =8 Xk 3, 600
IO 500 I 500
PN 500 PN 500
EE 3, 600 2 =2 600
=i w 500 =22 3, 600
W 500 %2 3,200
R 500 Eik A 3,600
Y 300 ER 8,000
Ry 3, 300 (e 4, 800
Ry 3, 600 ERE 7,200
RN 500 (i 2 800
P4 3,000 I EPY 600
HA N 500 BN 3, 600
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A &% R &%
I 500 HAOE 2,400
PN 500 HAOE 4,000
I 500 HAOE 3,600
Bk i 9,600 N 500
Bk IR 3,000 A PN 4,800
PN 500 PR 3, 600
P 2,400 ISP - 6, 600
BRI 3, 600 DN 900
kT 3,600 B 4,800
DN 500 Eh % 12,000
EE P 2,000 [ 5, 200
RPN 3, 300 (P 1,800
PR 4, 800 [l Ny 2 3, 600
3k Tk 900 [l Ny 2 2,000
Ry 7,200 s 3, 600
EE P 500 [ 2,700
HA o 500 (i PN 4, 800
HA o 2,000 (i PN 4,000
EE P 4, 800 [ 1,200
O 500 [l NS 21 800
TIPS 12, 000 #AoE 3,600
RIS 3, 600 (PN 500
RPN 14, 400 (PN 500
PN 2,000 PN 500
Ry 500 3o 5,400
I 3,200 PN 3, 600
DN 2,000 = Ay 3, 200
RPN 2, 800 329 i 1,800
EirE 3, 600 23 ) 6, 000
WD 500 (PN 3,600
WD 2,400 (PN 500
S 7, 200 (2l A ' 1, 200
I 2,000 PN 2,000
I 12, 200 PN 3, 600
I 500 PN 6, 000
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oy £7%F o £ 37
(A 3,600 R4 4, 300
B 3, 600 32 4 0 400
[l A 500 [ SN 6, 000
(10 A 3,600 =h 1,200
A N 2 5,400 [ S 2,000
Erh 12,000 [ S 500
A N 2 3,600 [ S 500
= 2,600 [ SN 3,600
[ SN 4,800 ERE Y 7,200
[ SN 1,000 (i A= 500
REJZEAFE R 3,600 (= 3,300
= [l SN - 12,000
[l Nz 500 [Er N 500
R 500 [EEw 3, 600
] 800 (i N 21 2,400
BEH AR 3, 600 W2 5, 800
23 2 4,000 Ao 1, 800
[ SN 4, 800 EERE 12,000
[ SN 4, 800 i SN 500
SN 500 Y 300
i NS - 2,000 [ SN 3,600
i NS - 4,000 [ SN 500
i NS - 500 [l NS 21 4,100
[l SN 2,400 (=l N 3, 600
SN 500 (i A= 1, 200
SN 3,600 (i A= 3,600
Y 4, 800 oy 800
SN 500 40 4, 800
0 NS - 4, 800 [ N 500
iy SN - 1,000 [l SN 900
(il SN 1,600 EE 1, 500
iy SN - 300 w2 OB 1, 200
(2l SN 21 500 (il AN 4, 800
ER 4, 800 BN 500
L SN 3,600 AR 4, 800
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EX1]

L

B
=y
|

(A2 SN 1

500

[ AN 2

3,200

(A AN 1

3,600

[ AN

300

4 1,800 [l A - 500
B 2,400 [l A 500
T3 o 500 Ry 11, 100
i WP 500 HA O 3, 200
PN 1,200 [ I 7,800
ERN= 500 g S, 600
Al WOl 3,600 ek T 1 AET 4, 800
HA o 500 (i PN 3,600

FAR T

600

RPN

3,600

[l A 500 L 1,600
[l A 3,000 [EIN 400
[l A 4,800 [EIN 3,600
[l A 500 [EIN 4,800
R 600 (I 500
[EI A 4,800 (I 500
[EI A 2,800 (I 500
[EI A 500 (I 500
[l N 500 U] 1,800
[l N 500 [EN 600
[l N 2,000 [CI 4, 800
[l N 4,800 [EN 3,600

Ry

18, 000

(R A

2,100

EEPY:

1,200

(R A

500

EEPY:

500

(R A

4,000

FRE

Al

900

(R A

3,600

Ry 500 @ am 2, 400
R 500 @ am 300
ER 3,600 [@aom 4,200
EEEY: 12,0000 |@72 2@ 500
ERY 2,000 |#k 1, 800
ERY 4,800 |#vk 1, 800
ERY 5000 |@ am 9, 000
CEEY. 3,000  [asrisk 2,100
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2 £%F L £4F

HA R 500 A 500
R 4e T 7,700 R 20 1, 600
(I 4,000 [ A 16, 800
(A A 500 B & 3, 600
[y A 3,600 Ay A 4,200
[y A 2,000 A 300
[y A 500 A 500
HA R 3, 600 Foo 500
HA R 500 A 500
(LA 9,600 A A 2 400
(I 3, 600 p A 3, 600
[y S 3, 600 (L N 3, 600
[y S 2,000 A2 | 13,200
R AP 3,600 R 500
CEPY 3, 300 A 4, 800
(I 500 R E AT 4, 800
(I 1,000 (I A 600
HA R 2,400 B R 500
(I 400 A B 4, 800
[l A 4, 800 AR 2,400
[ S 4,000 (I 14, 300
B 47 1,500 AR 2,000
[l A 1,200 AR 500
(I A . 4, 800 (I A 1,200
(I A . 6, 000 (I A 7, 800
(I A . 4, 800 (I A 3, 300
IR 900 (I A 2,000
[ S 3, 600 (I 400
[ S 3, 600 (I 4, 800
[CI A 12,000 (A 3, 600
[CI A 3, 600 (A 7,000
(Ll A 8,000 B R 1,200
(Ll A 9,000 B R 2,700
(Ll A 2,000 B R 9, 000
R F R 4, 800 [ 11,000
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R £ 3 A £
Ao 500 (P 12, 000
BRI 3, 600 (P 1,800
grap 52 3, 600 (P 500
I WP 16, 500 B 500
(I WP 4, 800 e 18, 200
e 800 B 5, 600
I WP 12, 000 gr4r 4 3, 600
(LR 500 gr4r § 7,200
(LR 500 (P 500
[ 2 5, 600 [ 500
(LR 500 e 1,800
WD 500 Bk 1,800
B 4,000 (P 4, 200
WD 4, 800 g A 12, 000
WD 4, 800 Ao 30, 000
(LR 400 [ 500
LR 7,000 i I 500
[ 12,000 [ 7,200
(LR 500 A AP 500
RPN 4, 800 w3 O/ 2,000
RPN 1,600 @3 o 500
RPN 5, 600 (PN 3,000
Ry 500 B 3,300
(L P 4, 400 B4 AS 3, 600
-2 1,200 R SN 2,000
(L P 500 R SN 3, 600
(L P 3, 600 R SN 500
R 500 i SN 2,800
BRFL E 4, 800 w3 O/ 2,400
[ 3, 600 @ OF 2,000
#r 2HE 2,000 @ OF 3, 600
U 3, 600 -LExy 1,000
D 500 i I = 4, 800
D 500 B 4F 4,000
R 5, 400 A I 2,700
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3 &% g £
FA R 9,600 [ A 500
FA R 1,500 [ A 1,000
[ A 2 500 R & 1,000
Al A 2,700 L A2 4,800
3l A 500 L A2 500
3l A 2,000 L A2 500
U9 5, 000 L A2 9,600
FA R 500 [ A 500
FA R 400 [ A 7,200
R 4,800  [#7 o 500
S 500 |1 o 4, 800
27 2@ 500 @7 o 2,100
B e 7,200 TR 4, 800
[l SN 4,000 [ A 500
[l SN 4,800 [ A 500
H2 B 2,700 HA o® 1,000
H2 B 4,800 R 8,000
BT R 3, 600 HA o® 2,400
[l A2 500 et 2. 3, 300
(3l SN 2 500 TR 3, 600
(3l SN 2 500 U M 2,100
w7 2@ 500/  [# 4e 4, 800
R 3,600 |W7 o 3, 600
R 100 @A o 10, 000
#7328 100 [@7 ap 9, 600
N 7,200 (@7 2@ 500
P 12,0000 [@72 2@ 600
o 4,800  |@A @ 4, 400
U 3, 600 TR 9,000
U 4, 800 TR 4,000
R 1,200 #rNE 3,600
[l A2 3,600 WRIE 5 2,400
[l A2 4,800 [ AN 2 4,800
[l A2 4,000 R E 2,600
UP 4, 800 PN 2, 000
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R £ 37 =R £7%
R 3,000 [l SN 16, 800
#73 2@ 7,2000 |[@7 o 500
R 500 [l SN 2,400
R 72 7,200 B R 9, 600
R 1,600 LY -4 10, 000
387 e 3,000 B R 6, 000
8 2 3,600 A 3,600
R 2,700 IO 500
e 300 Y 5,000
B FE AT 4,000 a7 13,000
RPN 500 C I 4, 800
Nzt 7,200 (LN 3, 000
UL 3, 600 (I 4, 800
TR IPNE" 3,600 #AoE 400
Ry 2, 400 #ndh % 1,200

77 2@ 5000 (@7 o@ 500
Y 4, 800 AT 600
TEY 3,600 [@7 am 600
L . 3,300 (L N 1,800
5 3,600 |W7 o 4, 800
Y 4, 800 [l SN 500
R 500 @7 o 2, 000
Y 3, 300 [l SN 2 500
R 5000 (@7 o 500
PN 500 PN 500
ERY 4,800 [@7 2@ 500
RPN 4,800 RPN 2,000
R 3, 600 [l SN 2 500
RPNt 3, 600 (LN 500
BREE L 7,200 (A 500
Y 12, 600 B2 200
Y 2,100 Ry 500
Ly A 500 g 4,800
AN 4,400 PN 3, 600
I 500 PN 4, 400
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A &% R &%
e 500 Ry 2, 700
a3 o 6, 000 [l SN 2,000
AR 4, 800 [ A 2,400
AN 3, 600 [l A 2,000
ARg 4,800 B R 1, 200
Ry 1,2000 |@7 2m 500
B Tk 600 ez 4, 800
(il - 2,000 "o 500
(WP 3,600 (i PN 9, 600
HA o 500 (i PN 9,000
LR 4,800 Ry 1, 400
RIS 2,000 (P 1,500
RPN 9,000 (P 500
Ry 500 BAEEF AP 3,800
PR 4, 800 [l Ny 2 3, 600
R 500 &= ¥ 2, 400
WD 500 (L 900
RPN 2,100 RS 4,800
PR 3, 600 &Pt 3, 600
O 900 [ PN 1, 200
R 4, 600 [l NS 21 500
SN 1,200 %52 4,400
R I 500 #r o 4, 800
BTG 3000 |@7om 500
wE g 3, 200 Y 2, 000
PN 4,000 (i 2,000
g 7, 200 Ry 12, 000
WP 7,200 (PN 4,400
Ry 500 Ry 3,600
RIS 3, 600 (P 500
RPN 600 (PN 500
g e 4, 400 [y N2 4,800
B S 4, 800 (=l N 2,000
AN 3, 600 (i 2 500
Y 500 @3 B 500
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W R E 2,100 7o B 2,000
HIE T 4, 800 (LA 500
(=l A 1,800 Y A 300
AN 9,000 2y SN 3, 600
RIS 500 2 A 24 3, 600
PN 2,000 7% OB 200
L A 8,400 C A 500
47485 1 AR (7 2, 800 (A 3, 600
(L A2 4, 400 [CIE A 500
Y 1,200 (g 4, 000
[l SN - 15, 600 (LU A 2 2,000
sl e 2,400 (i 9,400
2y SN 9, 400 Al RN 2 10, 600
L2 A 7,200 Al AN 1,200
Y 4,800 |@2 2@ 1, 200
)R HE IR 4, 800 B % 2,000
’ﬁ‘?);‘ R 3,600
[l SN - 4, 200 [l A 2 3, 600
R EF 1,000 (LU A 2 4,000
[l SN - 4, 800 (I 3, 000
FAr O 500 [ A 500
FAr O 500 [ A 12,000
FAr O 3, 600 [ A 2,100
(il SN2 1,800 b &I 3, 600
piER 1,600 (=l N 4,500
[l SN - 12,000 Ll A 2 4, 800
[l SN - 4, 800 Ll A 2 500
% 1,600 R A 2,400
FAr O 500 [ A 11,000
AR 1,800 [ A 400
[l A 6,400 (I 60, 000
R iE? 2,000 (A2 500
(A 500 (CA A 3, 600
EHA R 500 (i A2 4,200
(=l A 4, 800 (i N 3, 600
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£ 2 5 £
500 Ry 1, 600
1,800 |#REER 1, 800
4, 800 Ry 16, 800
500 [z p i 4, 800
400 PRy 1,800
3, 200 PRy 4, 200
12,0000  |ma& 4 g 7,200
1,200 2P
1,600 R 2, 800
3, 600 Y 4, 000
500 Ry 7,200
2, 000 Ry 1,500
3, 300 &g 2,700
5, 800 Y 500
500 %2 600
2, 700 Y 500
500 EEEY 3, 600
3, 600 Y 8, 200
500 Ry 500
500 Y 500
4, 800 TRy 900
3, 600 CEPY 500
3, 600 CEPY 3,600
12, 000 CEPY 300
3, 300 Y 4, 800
3,000 PRy 500
3, 600 Y 2,000
500 Y 3,600
500 e 400
12, 600 H o 6, 600
1,800 HiEi 1,200
6, 400 Y 4, 000
500 Ty 2,000
500 Y 1,200
3, 600 Fho¥ 2,100
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- &3 LA &3
Ry 500 EE 4, 800
Y. 4, 800 iR 4, 800
%3 1,500 LR IPN-" 600
EES 4, 800 AN 3, 600
S 4,000 LRI 500
RPN 1, 700 4R 4R 2, 400
B2 D 3, 600 LRI 4, 800
Ry 500 #IF 3, 600
(A = 300 LR IPN-" 500
(A = 4, 800 (i A = 600
ER 7,200 i WP 4, 300
Y 4, 400 IO 500
(P IPN:: 12, 000 B 1, 200
R 4, 800 HA DR 500
Y 500 i 12 800
Ry 2,000 (i A = 500
Ry 3, 600 (i A = 500
Ry 500 (i A = 4,000
(A = 500 (i A = 500
E 2, 400 HA D 3, 600
Y 800 B 500
Y 3, 600 B 500
Y 500 B 800
A = 12, 000 = 3, 600
Ry 2,400 il 5, 800
YR 4, 800 /3 o 500
&l 13, 000 /3 o 1,500
Y 500 B 500
#HiE Y 7,200 HA D 4, 800
(A 2 3, 600 B 800
Y. 3, 600 # e 3, 300
Ry 500 AP 2, 400
Y 2,000 E 4 4, 400
EES 2,400 RPN 4, 800
iR 3, 600 RPN 500
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-l A . 500 EC A 7,200
@ o m 3,000 EEY: 500
R 4, 800 [l SN 4, 800
HAwp 1,200 TR 2, 000
RPN 500 WD 3, 600
N 3, 300 B o 2,000
Al SN 2 3,600 [ A2 1,200
ol SN 3, 600 EX 4, 800
XY 3, 600 TR 5, 400
W 1,000 H K4 3,600
E e 3,200 Br OB 3,600
E 900 (LI 2,000
£ 3,200 B 12, 000
2l S 2 2,700 TR 3,600
(3l AN 9,600 TR 1,500
DN 2 500 R 12,000
TR WP 7,200 ik 7,200
RPN 300 B 7,200
% 78 4, 800 w2 o 2,400
(3l AN 2,100 £ #l 500
W 500 Y B 4, 800
B O 3, 600 Fr B 2,000
[ A2 7,200 TR 3,600
o 4,800 =iy A 2,000
Ry 3, 300 B 2,700
ol SN - 3,600 (il SN 3,000
Y /- 1,000 (e 4, 400
I SN 3,000 B3R 900
Y 3, 800 EX ST 4, 800
WD 800 (PN 12,000
R 1,200 [ A 1, 800
BN 3,600 W 4, 800
RN 3,600 i > 4, 800
Al W 6, 600 Al W] 600
Azl L 1, 800 A3l N 2. 1,200
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oy £3F o £ 37
[CIF N 4, 800 (i A 2,400
Ao 500 [y A 4, 800
[CIF N 500 i R 1,800
Al AN 500 i IR 4z 6, 600
(il N 2 4, 800 iy A 1,200
VIR 1,200 iy A 500
i SNy 500 iy A 3, 600
[CIF N 5, 600 ik 3, 600
(Ll N 2 3, 600 A F 3, 900
Y N 900 AR 500
A2l SN - 1,200 (LU A 2 3, 300
(il WA= 500 [ A 3, 600
[T AP 1,600 Hr o 2,700
Azl NS 2 500 [ A 4,400
(i WA= 500 [ A 5, 200
B3 o 500 (A 500
2 QNS 2 900 (LU A 2 4, 800
i IO 1,800 i % 4,800
2 QNS 2 3, 600 (LU A 2 3, 600
RN . 3, 600 i >3 4,400
e 1,500 HE R 600
gL~ 2,100 HE R 3, 600
AT 4, 800 HE R 1,600
RS 3, 600 Ll A 2 500
(i NS - 5, 200 i L 600
Al SN - 3, 600 Ll A 2 3, 000
Al SN - 500 Ll A 2 4,000
Azl QNS 2 500 [ A 1,800
A S 2L 11, 200 [l A2 500
[ AN 300 [ A 2,400
AR 3, 600 Hr R 2,000
(i NS - 4, 800 (i A 2 1,001
Tk 4, 800 A 3, 600
A AN 2 7,200 (i A 2 4, 800
(i NS - 5, 600 i A 2 2,400
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LA &4F LA £4F
Ao 1, 200 (I 4,000
Ao 3, 300 iF AR 3,600
Ao 3,600 HFr o 500
i P A 4,400 Fr B 2,700
i P A 12,000 g x 3, 200
[l A 1, 800 i34 6,000
32 1, 200 (i - 500
IR 1, 200 (I 500
(I 3,600 i 73 12, 000
(A 500 i g 4, 800
(A A 3,600 (A 500
R § 2,700 [CI I 3,600
[y S 500 [CI I 4, 800
[y S 4, 800 [CI I 1,600
[y S 4, 200 (I 500
(I 2,000 (A 3,600
(I 1, 500 (A 500
(I 3,600 (A 4, 800
WA N 500 Al SN 2L 4, 800
[ S 9,600 A 3,600
[ S 4, 200 (L N4 3,600
[ S 3, 600 A 4,800
[ S 500 L A2 1,200
DN 500 il N2 | 4, 800
(R A 1,600 L A 2 3,000
(R A 500 L A 2 3,600
(R A 500 L A 2 7,200
1 i 3,000 if i 2 4, 800
[ S 500 A 500
EI 500 A 500
[CI A 1,200 A 4, 800
FAr N 200 L N 1, 200
iy A 3,600 A N 4, 800
[l N2 400 A A 2 2,000
iy A 500 ¥F 4 & 1, 200
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Ry 500 i 5 45 3, 600
ol SN 100 i Eir 4, 800
BA O 500 [ PN 1,500
DNy 500 o 800
3l A 500 i TEfE 600
i DN 2,000 o 2,400
if % it 1, 800 B D 600
R 500 (@3 2@ 2, 400
EERY 500 [#3 2@ 3, 600
DN 300 BB 400
ol SN 2 2,000 iy A 1, 800
i 12, 000 i B 2,400
i N 4,000 [ 500
(I 500 el 4, 800
(- 1,800 iF PHAL 9,600
PN 8,400 ol 3, 600
[ A 3,000 (L A2 500
W 1, 800 BB 7,200
WD 500 el 4, 800
RIS 3, 600 TR 4, 800
R 2, 400 I IPN- 2,000
B O 500 Fr B 4,800
B O 500 Fr B 300
¥ 3% % 1,000 =iy A 1,500
i A 4, 800 /3 o 2, 400
ol SN - 3,000 (il SN 3,000
WD 9, 400 &7 I 4, 800
g2 3,000 A 3, 600
3 B 500 @3 B 4, 800
R 500 (=l Ny 22 3, 600
Ry 500 (=l Ny 22 3, 200
Ry 3,600 i 600
il A= 3,300 (il N 2 500
il A= 1,200 (il N 2 1, 800
i 4.0 400 EE PN 3, 600
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o £ oy 8 &40
EERY 500 [#3 2@ 4,800
ol SN 1,200 [l A 500
EERY 2,800 [#32@ 6, 400
LRI 4, 800 EERY: 3, 600
P S 1, 800 LA 7, 200
@A 3,300 B RELAELFE 3,600
L BE 3, 600 i
PRy 3, 600 DN 12,000
ol S 4,800 LA 7,200
B4 = 1,200 (R A 3, 600
ol W 3,300 (R A 2 6, 200
B o ik 1,500 il N2 2,000
ol SN . 500 A 4, 800
PR 6, 000 LU AN 21 3,000
Y 5000 |97 2R 200
L3 9,000 [ PN 500
% Tk 7,200 il N2 500
Ry 2,000 Ry 4,800
% 4 1, 600 Ry 3, 000
O 500 Al SN 2 12,000
DN 3, 600 A 6, 000
HA O 500 @73 o F 2,000
DN 13,000 PR 4,400
ol W 4,800 Ry A2 3, 600
. 4, 800 A0 SN 2 2,200
R E R 3,600 [#32@ 3, 600
HA O 4, 800 £ aF 1,800
R WP 8, 000 @2 o 500
DN 7,200 A 500
(2l SN 2,400 P EE 3, 600
(Ll A 1,200 L A2 3,000
R 3, 600 IR 2,800
DN 1, 800 A 1,200
WO 3, 600 A 2 2,700
HA O 4, 800 @3 B 900
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P BE A

e h < :?IEL\4; £
113 # Ei#%—zi W RE P

LA &%F i £
folsE 1,200 E RPN 4, 800
ol SN 3,600 @3B 600
iy SN - 8,000 O 2,000
5 e 7,000 B3 500
rr 8, 800 27 2B 4, 800
Ry 4, 000 EY 1,200
Y. 4, 400 2l SN 2,000
R 3,000 [#3 2@ 4,800
(i - 500 " om 800
B3R 500 gmEEy Iy 2,000
L PN 2,700 BB 7,200
Ry 200 K LI I 7,000
(i PN 4, 800 o7

Ry 2,400 o 7, 200
(- 400 E‘aﬁfm@*ﬁ SR 8, 400
s SE 2, 700 WA RFPHT T 2, 000
Y 3, 600 2k

Ry 1, 200 R 2, 100
I WO 500 [ A 2. 2,700
Y 500 e R 3, 600
Ry 3, 600 #3o 1, 800
Ry 500 e W 600
5% 3, 600 [ A= 3,600
Y 4, 800 x5 800
Ry 500 #3 oH 900
885 2, 400 FEE 3, 600
Ry 2,800 R 3, 600
Y 3, 600 aasdil 3, 000
FERY: 3, 200 w3 aw 500
Ry 500 #3 oH 3, 600
£ e 3,600 [#7 2R 200
@ 500 2 WA= 1, 500
Y. 7,200 |F7 AR o00
Y 4,000 |#72 2@ 200
Y 3,600 [#72R 200
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B A e Foik kg
113 & B 42 470

i &% aia £

Et 1,500 iy W= 4, 800
-k 4,800 # 1,000
(ol SN 3 2,000 [l A 3, 600
"R 4, 800 ER 4 2, 400
LIPS 5, 200 Ry 2, 000
iy N2 500 [y NS - 4, 800
Ay SN 4, 800 [l A2 500
(3l SN 3 2,000 [l A 2,000
SO 3,200 [ 500
PN 500 e pakd 2,400
ol SN 2 4,800 iy A 11,000
[ A2 4,800 [ A 500
Frifaza 1, 200 E 3, 600
2 s 1, 500 RPN 2, 400
TRy 3, 600 #14 3, 200
Y. 10, 000 RPN 4,800
EEY: 1, 800 Y 3,600
PN 500 sk 4, 400
PN 4, 800 L Ei 400
I SN 7,800 (LI 2,000
B O 3, 600 Fr B 3,600
R I 4, 800 £ 2,400
B O 500 Fr B 4,800
PN 1,000 Wr o+ 4,800
e 4, 800 WP 500
G IPY:. 4,500 ftila 3, 600
FLEG A 6,000 |@3 2@ 2, 800
Y 3,600 |®7om 2, 000
SR 800| |1 500
SR 3,600 |#7 o 500
EERY: 2,000 [#7 2R 2,000
EERY: 3,600 Y 7,200
BA R 1,500 Wy 3 3, 000
AN 500 E 4, 800
(0 NS - 2,400 i SN 400
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- £7%F - £3F
[ A 400 HE > 2,400
FA R 4,800 BrE > 4,800
B 900 iy 4,000
DNy 500 e 3, 600
Ay SN 2,000 [l A2 500
PN 2,100 o 3,000
PN 500 o 3, 600
ol SN 3, 600 [l A 3, 600
EERY 3,300 [#3 2@ 2,700
HiE 7T 14, 400 (L 300
PN 500 w2 o B 3,200
Fit A 3,600 |®z 2 500
PNz 500 BE g 3, 600
(- 500 EEXA 1,200
PR 500 [l Ny 2 3, 300
3l SN 3 9, 600 (2l A 3, 600
Ry 4, 800 RPN 300
W 5,200 e # 5,600
PN 500 w2 o 3,300
I SN 4, 800 B2 oR 6, 000
R, Tg 600 2 WA= 4, 800
I 7,200 (LI 500
[ A2 16, 800 TR 3, 300
PN 1,200 WP TR 4,800
I 4,000 PN 14,100
ol SN - 2,400 (il SN 2,100
W H 4,400 A 4, 800
eE e 3,000 |®32p 600
SR 1,2000 |#@3 2R 2, 000
SR 2,800 |#7 o 2, 400
SO 3,000 (L 3, 600
o 3, 000 ol W2 9, 000
i 9, 600 ol W2 3, 600
E i 4, 800 B 1,200
WA 4,400 2l SN 2 3,600
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B A e Foik kg
113 & B 42 470

2 47 e £
EERY 2000 [#®3 2@ 5, 000
4 E 1,600 |@# 2w 2,000
S i 3,600 TR 3,600
Iy 400 RPN 500
T 7,200 [BpAc 1,800
Iy 800 RPN 500
S 8, 000 IR 2, 400
R 2,700 [#3 2@ 2, 400
EERY 4,000 |@ AR b00
Y. 3,000 |#7 o 500
HHE 2, 4, 400 EEPY:" 7,200
- 3,600 |®W7 o 2, 000
R 12,000 |@32 2@ 000
#3E 3, 600 (LI 500
e 4,800 [ 4, 000
Y 2, 000 @3 2R 3, 600
PRy 2,000 P 1, 200
HE 4 2, 800 Y 3, 600
Y 1, 800 P 200
PRy 3, 600 LRIR 500
e, 300 AT 3, 300
PRy 500 LRIR 600
PRy 500 LRIR 500
Y 3,600  [#3 R 2,100
o #R 4,500 #Ar oW 7,800
Y 6,000 [#7 @ 3, 600
“HiE B 1, 600 I 1, 800
CERY 500 |#3 2@ 4,800
Y 3,000 [l Ny 2 3, 600
B 1,200 [l SN 2 500
Y 500 [tee 4, 000
St B 4,800 |@7 o 500
BTy 1, 200 @ o 2,000
Y 4,800 |#7 2p 2, 000
Y, 4, 800 @3 2R 2, 000
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113 4 B 4 4788 i 9

2 47 e £
EERY 4,800  |@ 2R 4,100
EERY 500 [#3 2@ b00
. 2,700 TR 200
CRY: 3,300 |®3am 3, 600
IOy 500 IR 500
Iy 500 RPN 4,800
R 4,800 |#72p 200
R 2,400 [#3 2@ 4,400
EERY 3,600 [#32m b00
ST 10,000  |@ 3 = 500
Y. 1,000 [#HEie 600
PRy 2, 400 R 4,700
B 3, 600 R 3, 600
P 3, 600 [ SN 500
PR 4, 800 [l Ny 2 3, 600
R 800 [#32m b00
EERY 6,000 [#3 2@ 4,000
EERY 3,600 [#3 2@ b00
S 4, 400 A WAL 3,000
PRy 500 ol N 2] 3, 600
Y 500 i SN 12,000
PRy 4, 800 ol N 2] 3, 600
Y 3, 600 i SN 4, 800
' EEY.. 12,000  |@% 2@ 200
EERY 4,800  |@ 2@ 1, 000
EERY 2,400 [#3 2@ b00
s 3,600 [W7 p 4, 000
PRy 3,600 Ay S 10, 000
Y 3, 200 i SN 2,000
PRy 4, 800 ol N2 3, 600
PRy 500 ol N2 3, 600
Y 4,800 [w7om 2, 400
Y 3,600 [@7 am 12, 000
Y 2,0000 |w o 4,800
PN 3,600 g 3, 600
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P BE A

Podoe i &€

H3ﬁ&ﬁiﬁm¢

s £3F i £

Ry 500 3N 500
(il - 500 W om 400
DN 500 73 SR 3, 600
RPN 500 2l SN 4,000
Y. 3, 200 2l SN 4,800
Y. 6, 000 2l SN 2,700
Y. 500 2l SN 3, 600
R 9,000 [®3 2@ 4,800
- EDN. 500 [l A 12, 000
Ll SO 500 BB 300
S5 ) 1, 800 Ry 3, 600
e 4 4, 800 (i N 21 500
Y 1,200 7 2P 500
[ SN 2 10, 000 B2 R 500
PN 3,000 & 7 R 1,200
PN 500 7% 2 4,800
HA o 4, 800 ZION: 2,700
R 3, 300 RIS 5,000
DN 500 Al SN 2L 7,000
R 500 [l NS 2 3, 300
DN 1,200 4 F 4 2,400
N . 500 [ A 3,600
B O 500 Fr B 2,400
PN 500 4 1R 2 3, 600
DN 4, 400 4R 2 4, 800
Ry 3,000 4R 2 600
STk 2,000 Y 2,000
B 500 @3 2@ 2,000
[l SN 12,000 Het 4, 800
(2l SN 4, 800 [ A 900
iy SN 1,600 [ A 8,400
4% ﬂfﬁ? TRREERE & ¥ 3, 300 HA o 4, 800
" Ry 11, 000
[l A 6, 000 (R A 9,000
45 & 3, 600 (L AN 2 500
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B A e Foik kg
113 & B 42 470

oy £7%F o £ 37

36, 300 dE 4, 400

2,400 [ A 4,800

O 4,800 M= 5, 600

1,200 87 Ao 4, 800

SR 500 [l N 21 500

O 2,000 ol 4, 800

SR 500 [l N 21 5, 500

3,600 [ A 500

5,000 Bk (7 3,600

500 (LA N 22,000

7,200 (LA N 1,500

OB 3,600 LU AN 21 500

(0 NS - 900 [Er N 7,200

; 900 [Er N 500

OB 9,600 LU AN 21 500

N 3,600 (Ll A 2 500

A 500 [l NS 21 4, 800

N 4,800 i 13 5 4, 800

3,000 Br oM 2,000

e 900 ¥E 3P PE 12,000

O 1,000 I EHE e 3,600

N 500 ¥

o 4,800 2R 4,000

Hwx 8,000 HFEAgIAaP 4, 800

(i NS 2 3,000 mrdiEy s 4, 800
[l A 21 4,800 o

72 2R 3,600 A S B S 6,400

(3l SN 2 900 [ AN 22 4, 800

0 SN - 1, 800 M T E AT 4, 800

iy SN - 500 (LU AN 2 1, 200

iy SN - 4,800 ¥k 4, 800

B 3,600 [l A2 3,600

RPN 4, 800 L3 4,000

il SN 7,200 [l A 500

BRI 1,600 (=l N 4, 800
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B A e Foik kg
113 & B 42 470

i &% aia £

(il N 3,600 @3B 500
(il S 1,600 @3B 3, 600
BA O 600 [ PN 3, 400
(L N 2 2,000 [l S 2,400
i 4,000 LA A 1, 200
(il AN 4,800 (EREE 3,600
(il AN 2 1, 200 [l A 300
ERE 3, 600 e 4, 800
(=l A 4,000 xR 3,300
PN 500 w2 o 2,000
PN 2,000 BB 500
3 o B 1,800 @3 OB 2,100
3 o B 2, 400 @3 OB 600
wam 3, 600 B R 500
& 7,200 i o= 2,100
(il A2 4, 800 (=l A 2,000
DN 500 (P 2,800
(N 300 @A 1,500
LIPS 2,000 g i Er 4,000
LEEA 3, 600 i 4 2,700
Y 2,000 [l NS 2 3, 600
B O 500 Fr B 500
[l SN 2 1, 800 AR 2,400
I 500 RN 4, 800
PN 7,200 gz 7,200
I 2,400 a3 3, 300
i s 4,200 @3 2@ 300
[l AN 2 4, 800 [ A 500
3 B 4, 000 @3 B 500
A WD 3, 600 WEE 1,800
i ke 3, 600 R AP 500
Ry 4, 800 RPN 3, 600
[l A 500 (R A 2,000
[ A 500 (R A 4, 800
WO 2 4, 800 TR 4,800
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P BE A

Podoe i &€

H3ﬁ&ﬁiﬁm¢

LR &% i £3F
[ A 2 4,000 A 3, 600
N 21 3,600 T 1,200
e 1, 200 7% 2B 500
i s 2,000 77 O 500
i WP 500 73 2R 500
iy N2 500 2 A 2 7,200
iy N2 500 2 NS 2 3, 600
(3l SN 3 8,000 [l A 3, 600
[l A2 1,500 AR 1,000
PN 2,400 R 400
ol SN 2 3,200 iy A 1,000
Mg s 4,000 Fiiz 900
SN 21 2,000 AT 3,600
TR RES 7,000 A 1,200
HA O 8,000 (LN 1,000
iR 3, 600 (R A 2 1,500
R 5,200 iz 4, 800
s 3, 600 (L Ny 2,400
HE OB 11, 200 (12 AN 22 7,200
N . 500 (LI 1,200
e 2,100 [ BN 4,400
B O 4, 800 Fr B 1,200
s 1,200 IR 2, 000
I 500 w3 B 500
Ry 4, 800 RPN 2,000
Ry 500 TRZ 12, 000
ol W 500 =iy A 3, 900
WP 4, 800 (LI 2,400
RIS 3, 600 (PN 1,500
[l SN2 1,200 [ A 4, 800
N2 500 (LI 3, 600
(2l SN 21 3, 600 A A 4, 800
RN 500 B4 & 4,800
ol W 500 BT 4,800
WO 2 3, 600 (Ll N 3,600
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oo~ WA E €

H3ﬁ§ﬁ£ﬁ%¢

L 29 L 29

Ao 9,000 LA 3,600
Ao 4,800 (I 7,200
Ao 500 PRIk 4,200
R % 3, 600 PR 7 4, 800
#r R 2,100 Y AN 4, 800
L 16, 400 Y AN 6, 600
Y. 2,000 2y SN 10, 000
(I 500 (I 4,200
(LA A 3,600 AN 4, 800
2= 1, 800 S F 500
[y A 2,700 E‘?Hﬁ‘ 7,200
[y S 8,800 (LI 4, 800
AR 1, 200 FR 300
B 2,400 [CI I 6, 600
R 2,400 [CI I 3,600
(I 2,000 (A 1, 800
(I 4,000 (A 3,600
(I 900 AR 3,600
(I 500 (A 3,600
(EI A 500 [CI 500
[ S 600 R 3,300
BRI 1,500 [CI 900
[ S 1,800 [CI 4,800
(R A 14, 400 (A 500
RPN i 3,600 (A= 2,100
PR AR 3,000 (A 500
A 5,000 (A= 2,000
R 600 [CI 500
[ S 4,000 [CI 3,600
EI 500 (I 2,000
75 4,500 (I 1, 800
iy A 500 (LI A 3,600
iy A 500 (LI A 3,600
[l A 22 500 (LI A 3,600
iy A 500 (A 4, 800
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B A e Foik kg
113 & B 42 470

LA & 37 LA £3F
EERY 1,800 |3 2@ 7, 200
EERY 500 [#3 2@ 2,000
sl 9,000 |@# o 1, 200
CERY:. 7,2000 [#7 am 500
CERY:. 2,400 [@7 2@ 3, 600
CEEY:. 500 [@a o 500
P 3,600 [@7 o 500
w3 2E 500 (@7 o 3, 600
w3 2E 3,600 |@r om 500
2374 3,700 |@2 om 500
"3 2E 900 [@# o 2,000
CERY 5000 [@a o 3, 800
FERY. 825 [@7 o 1, 600
(2l SN 2 1,200 [ A 500
FERY. 5000 [@a o 1, 700
w3 2E 4,800 [®3 om 12, 000
#4 2 12,000 P 2 500
w3 2E 2,000 |@r @ 1, 000
w3 2E 3000 [@a o 900
CERY 2,000 [@7am 500
FEEY. 4,800 [@7 o 4, 800
FEEY. 4,800 @7 o 4, 800
FEEY. 7,2000 [@7 o 400
w3 2E 4,800 |3 om 4,800
A 4,800 [®3 om 500
EEY.. 4,800 @7 o 4,500
w3 2E 500 [@7 o 3, 600
43 pf 600  |&if 3, 300
FEEY 2,700 [#7 2@ 3, 600
FEEY 7,2000 [@% o 600
w3 2E 3,600 [@7 @ 500
Y. 3,600 [@7am 2, 000
Y. 500 [@7 o 4, 800
23 g 1,600 [#7 o 6, 400
IRy 3,600 [@7am 2, 000

-251-




SRS T ACEE S N

113 4 B 4 4788 i 9

L H & s £
Y 2, 700 IR 3, 200
Y 3, 600 IR 4, 800
nYE 3,000 DN 2,600
2B o 3, 600 Al SN2 4, 800
Ry 4,800 |RI 3, 600
Ry 2,700 R 4, 800
Y. 4, 800 B s 800
Y 500 IR 9, 600
Y 2, 000 CRIP:: 6, 000
EEPY: 4,800 B 12, 000
10 [ 4k 4, 800 R 600
Y 3, 600 Rev g 2, 000
PRy 2, 400 IR 5, 000
PR 500 [l Ny 2 3, 600
BAET ATAER 2 3,000 B 7,200
N Ry 4,000
G P 400 RPN 500
A0 A ] 500 0 SN 2] 3,600
Al SNy 3, 600 LEBATES 5, 200
B> ik 4,000 Brvli 5, 000
Aaih § FAL 4,800 EERY 400
Ry £mipg 4, 800 (Ll N 21 3, 600
N2 [l A 500
RN 4, 800 HR o 4,800
LG AL P 3,900 ER I 200
PN 7,000 217 4, 800
B 900 I 2,000
Y, 4, 800 EERY: 4,800
BN 1,200 WA 2,100
RPN 1,200 R I 2,100
ol W 2 4, 800 SN 3, 600
WD 500 WD 1,000
[T 8,200 A 9, 600
TN 4, 800 WO 2,400
x5 3, 200 WP 500
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113 4 B 4 4788 i 9

o &% L &%
Y 500  [w o 500
Y 5000 [w o 500
Y 2,000 [Rakis 4, 800
27 o@ 6,000 |@2am 12, 000
w7 op 500  |mmx 2,000
Y 3,600 |mamz 12, 000
Y 2,000 |@2om 3,000
Y 500 [w o 4, 800
Y 71,2000 |@aom 500
Y 500 |maf 5, 400
Y 3,600 |wrom 10, 000
Y 16,800 |@72 am 500
s 600 |7 om 4, 800
Y 3,6000 |7 am 500
Y 5000 [wr o 4, 800
Y 3,600 |wrom 4, 800
Y 2,100 |mxy 1, 400
B 1,800 |w7om 4, 800
Y 2,000 |wrom 500
Y 5000 [wr o 4, 800
Y 5000 [wa o 500
Y 5000 [w2 o 4, 800
TRt 3,9000 |#7op 2, 400
B & 1,5000 |@7am 300
BT 6,200 |w2 o 500
Y goo| |wram 500
Y 4,800 @A o 4, 800
R s 14,8000 |7 am 12, 000
Bk 4,800  [msys 4, 400
Bir ¥ 71,2000 |@aom 2, 400
Y 6,000 [#7op 3, 600
Ry 5000 |7 om 500
A 3,6000 |wrom 500
Bacp 71,2000 [wrom 10, 000
Y 14,800 |@aom 2, 800
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B A e Foik kg
113 & B 42 470

L 298 L 447

[ 500 [ A 500
[N 800 [ A 500
AR 1,200 R 900
A=l AN 500 LA 2,100
Rax 2,000 LA 3, 300
A=l AN 500 [ 300
Bh & 2,400 B 4 %, 1,000
[N 4,000 [ A 500
[N 6, 000 (LA 500
(LA 500 (A A 500

B

4,800

B pEF A7

900

[ AN 2

5,000

[ A

3, 600

(A 2,100 (N 4, 800
PR 4, 800 R4 3, 600
N 2,000 REEFRG A= 6, 100
(il N 7,200 v

(i N 3,600 RAEMESF A2 12,000
HA O 500 ¥

Ry 500 R 200
EERY: 2, 000 w2 o R 4,800
[l N 4,800 (L N 500
PRy 500 LU AN 1,000
PRy 800 LU AN 2,400
R 7,800 |Bersr 7, 200
PR 600 LU AN 4, 800

EEPY:

1,300

EEPY:

8,200

BA R

3,000

BA R

3,200

BA R

600

iy SN 4, 800
Rk 3, 600
(3l AN 3, 200
(3l AN 500
Hi i 3,000

[y A2

1,600

Bora

3,600

HA R

3,600

HA R

4,000

[l A

500

B R 2,700
B R 4, 800
[ A 600
(il AN 1, 800
(2l A 15, 600
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i &4 kia £

DN 500 DN 3, 600
RPN 3, 600 DN 3, 600
Ry 4, 800 S 2 7, 200
Ry 4,000 R 2, 400
Y. 6, 000 (Ll N 12,000
(i I 9,000 WA 3,000
R 600 IR 500
Ry 4, 800 (e 200
MR A NP 3,300 [l SN 500
§ W 3, 600 (2 600
W N 500 (L N 3,600
R 500 [ A= 2,800
WEREE L E5 T 3, 600 [ A 500
o R AP 4,800
M F A4 4, 800 (L N2 3,100
= (2l A 2 2,000
e f £4 A0 600 Y 2, 000
2 (ol SN 2 500
Y. 900 Y 8,500
(il A2 4,000 Al N 2 1, 800
i A 500 2l N2 1, 500
(i N - 2,000 ol N 2] 1,000
FE 3, 600 @ O 4, 800
=l SN2 500 Al N o 3, 600
iy SN2 6, 000 Al N o 3,000
AR 3,000 He IR A 3, 300
ol WA o) 4, 800 A0 SN 21 3,000
ol W2 7,200 A W2 300
el SN - 3,200 Rl 3, 600
L SN 3,600 Rl 1, 200
iy SN - 2,000 gt e 4, 800
ol SN 2,000 Al SN2 6, 600
ol SN 2,100 Al SN2 3,000
ol SN 500 Al SN2 3, 600
A 800 w4 4,400
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B A e Foik kg
113 & B 42 470

- £%F A £%F
[ 500 [ A 4, 800
[N 3, 600 LA 4, 800
BRI 800 [ A 6, 000
R &% 6, 400 FRAR B 4,600
BRI e 3, 600 LA 3, 600
P 3, 600 LA 2,400
A=l AN 4,000 LA 3,000
By 1,200 [ A 3, 600
[N 3, 600 LA 4, 800
(LA 3, 600 (R A 2 1,200
(LA 2,100 (R A 500
BRPE 4 7,200 [ A 3, 600
RE W 1,200 [ A 10, 800
BRip v 3, 600 R AR 2,000
i E 600 [ A 3, 200
wyE 4, 400 (Gl WP 1, 200
(LA 8,400 (R A 2 2,400
(LA 500 (R A 2 500
(il A2 900 (=l A 500
AR 4, 400 AR 4,000
AR 500 [ A 3, 600
AR 7,200 [ A 500
AR 500 [ A 1,200
(A 4, 800 (L2 AN 2. 2,400
(il A2 500 RE > 2,700
REE 800 (i ] 2,100
AR 500 (R A 2 4, 800
AR 12,000 RIS 9, 200
AR 2,000 [ A 7,000
(ol A2 4, 800 e TR 2,700
R 1,500 #rNE 3,600
FRAR T 4, 800 (Ll N 500
FRART 3,000 (R A 3, 600
(3l AN 1, 200 (R A 500
(3l AN 3, 600 (R A 3, 400
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B A e Foik kg
113 & B 42 470

£ L £

500 REZ 8,000

4, 800 g i 1, 600
12, 000 [ A= 500
500 2 S 2 4, 800
10, 000 HA OB 500
8, 600 prgre] 4, 800
3, 600 HA OB 3, 600
3,600 [ A= 5, 200
4, 800 wEZ 4, 800
4, 800 [CIr A= 4, 800
2,200 [CIr A= 9,600
500 AR 3, 600
500 AR 3, 200
7,200 AR 5, 600
3,300 AR 4, 800
500 [CIr A= 1, 200
2,800 [CIr A= 4, 300
500 [CIr A= 2,000
500 [CIr A= 3,600
2,000 R 4, 800
3, 600 [ A2 2,000
500 [ A2 2,000
7,000 [ A2 3,400
6, 000 [l A2 2,000
500 RE T 500
600 RE T 2,400
400 [l A2 600
4, 800 HREZ 3, 600
3, 600 [ A2 500
500 (LA 3,300
3,600 FRif B 3,000
500 L AN 500

4, 800 L AN 7,200
3, 600 A 5 6, 000
4, 800 FRAR 6, 000
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B A e Foik kg
113 & B 42 470

- £% R &%

WA N 3,600 [l A 2 500
R 3, 600 [ A 2,400
I 500 (LN 11, 000
23 R 7,200 (I 2 500
(il SN 22 500 SN 11,200
T 4,800 LA 3, 600
AN ! 4, 800 w2 oH 4,000
A 4, 400 T 2,400
I 4, 800 (LN 5, 600
A WO 4, 400 wr O 4, 800
DN 500 Ao 7,200
AN 500 (LI 4,400
FEH 4, 800 LU AN 21 800
FRE 3, 600 B 3, 600
Ry 3,600 FhtEi 3, 600
Ry 500 Wi grg e P 3,000
DN 500 (2 1,500
Ry 6, 400 g EF P 4,800
DN 1, 200 Wz b EETET 800
I 500 S

RPN 3,600 fE) = 3, 600
HA O 2,000 [ 2,000
Y 500 [l SN2 3, 600
i A 4, 800 Fr B 11,000
AN 4,000 (L N 300
£ 7,200 (L N 1, 800
(il PN 6, 000 (N 8,400
w3 o 3,600 |®A 2 500
WO 2,700 JE R 4, 800
RIS 3,000 I 400
[l NS 21 500 [ AN 4,800
BTF T 1, 200 [l SN 7,200
W 5,000 (L 500
PN 4, 800 (P 500
Y 500 HERLEFET 3, 000
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- £ 37 - H £%F

N o 1,500
PN 1,200 o 4, 800
Py 2, 400 gALG RSP 6, 000
[l A 2,000 [ 2,100
RIS 1,800 ARG AT 3, 600
Bov g 3, 600 ABPFTF AP 4, 800
TRy 3,000 AL 1,600
AR 1, 600 AN

(W 1,500 =R 24, 600
R 500 wr R 16, 000
Al W2 500 # I 12,000
N 500 T 6, 000
Al S 4, 800 (LI 2,700
Al S 3,600 (LI 12,000
W o 500 (LA 6, 300
73 2@ 4, 800 REY 4, 200
LIgEg 2,100 w2 o 7,200
Ll SN2 1,500 i E 9,000
97 2R 500 [ AR 200
w3 N 2, 400 RPN 4, 400
Al S 4, 800 (LI 6, 200
Ry 4, 800 Bfzq 431 3,200
R 500 v

TEY 300 |[#7 AR 1, 600
"N 1,800 (LI 12,000
H 3 N 9,000 Hr N 2,400
Al W2 4, 800 AR 10, 000
I 900 WP 500
o g 4,000 F72 =R 3, 600
Al S 600 (LI 2,800
Al S 1,800 R 600
il S 500 PR 6, 400
R 500 (L 13, 200
#2 2F 3,600 w2 R 500
B 3 4,500 iy SN 500
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i £%F
LR RIRS 4, 800
LA S 2L 500
&3t o7, 801,675

B A e Foik kg
113 & B 42 470 i
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